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THE VIDEOGRAPHER: Will the court reporter

please swear in the witness.

PALO ALTO, CALIFORNIA;

MONDAY. NOVEMBER 16, 2015; 9:16 A.M.asL»1*.»>44 .4».toI\)M
TAL LAVIAN, Ph.D..

having been first duly sworn by the reporter.
testified as follows:

Ln
THE VIDEOGRAPHER: Good morning.
This is the start of Disc 1 ofthe

deposition of Dr. Tal Lavian in the matter of

Ser\=iceNow, Incorporated. versus Hewlett-Packard

Company, before the Patent Trial and Appeal Board.
Case Number IPR2015-00717.

This deposition is being held at 3175

Hanover Street. in Palo Alto. California, on Monday,

November 16th. 2015, at approximately 9:16 a.m.

My name is Dwyane Groth, from TSG

Reporting. Incorporated, and I am the legal video

specialist.

The court reporter is Cynthia Manning, in

association with TSG Reporting.

Will all counsel please introduce

yourselves for the record.
MS. GREWAL: Monica Grewal, from

WilmerHale, representing the patent owner,
Hewlett—Pacl<ard.

MR. MACE: Andrew Mace. with Cooley, for

the petitioner, ServiceNow.

<\]m<11
THE VIDEOGRAPHER: You may proceed.

(I)K)(D C)toLA’)\10w
EXAMINATION

BY MS. GREWAL:

Q. Good morning. Please state your name --

A. Good morning.

Q. —- and address for the record.
A. Dr. Tal Lavian, 1640 Mariani Drive,

Sunnyvale. California 94087.

Q. You understand you are under oath to

testify truthfully?
A. Yes.

Q. I will be asking you some questions. If

you do not understand my question, will you let me
know?

A. Yes.

Q. Is there anything that would keep you from

testifying accurately today?
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A. No.

Q. Are you taking any medication that would

interfere with your ability to testify accurately?
A. No.

Q. What do you understand to be your role in
this IPR matter?

A. To be an expert witness in this case.

Q. And you can answer my questions

objectively; correct?
A. Yes.

Q. Can you please, Dr. Lavian, describe your

educational background?

A. Yes. I did my Ph.D. at U.C. Berkeley. I

did -- in computer science focusing on network
communications.

I did my master's at Tel Aviv University in

electrical engineering, and I did my bachelor in

Tel Aviv University in computer science.

Q. And what year did you get your Ph.D.?
A. 2006.

Q. Can you describe your area of expertise,
Dr. Lavian?

A. Network communications.
Q. And when you say "network communications."

what do you mean?
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before?

A. No.

Q. Have you worked for Cooley before this

particular matter?
A. I don't remember. I don't think so, but I

have to take a look at my —- I don't believe so.
I'm not -- I'm not sure.

Q. If it's possible, you can look that up at a

break, and we can return to that question.

A. I —- I -- I need to check. Ifyou have

my —- I think that you have my old 26. I don't

believe that I worked for Cooley --

Q. Okay.
A. -- but I need to check.

Q. Okay.

A. Ijust want to make sure.

Q. Perhaps at a break or at the end, if it's

possible --
A. Yes.

Q. —— we can check and we can close the

question.
A. I believe it not, but I'm not sure.

Q. How many times have you been deposed?

A. I believe over 20, over 25, approximately
that amount.
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A. Network communications include

telecommunications, wireless device -— devices,

protocols, the way that computers are communicating

between them, among them.

Q. Okay. You have been handed what has been
marked as Exhibit 1002. This is also ServiceNow's

Exhibit I002 in the IPR proceeding.

Do you recognize this document?

A. Yes, that's my declaration.

Q. Starting at page 58, does your declaration

contain an accurate copy of your CV as of today?
A. Yes.

Q. I would like to direct your attention to

the section titled "Litigation Support Services."
A. Yes.

Q. Is this section accurate in stating that

you have been an expert witness in over 30 Federal
Court and ITC cases?

A. Or Federal Court -- basically, expert
witness in Federal Court, USPTO. and ITC cases.

overall. over 30 cases. yes.

Q. Okay. How were you retained in this

particular matter?

A. I believe that the lawyer called me.

Q. Okay. Have you worked for ServiceNow

. Have you ever testified at trial?

. No.

. What percentage of your time --

. Sorry. Yes, I testified in trial. Sorry.

. And how many times?

. I testified in an ITC case once. I

testified in local court -- state court twice in the

same case. And I testified. instead of an

arbitrator. but I'm not sure that's -- it's ajudge,

but not in front ofajury.
Q. So in one arbitration?
A. Yes.

Q. What percent ofyour time as principal

scientist of Telecom Net Consulting is spent as an

expert witness?

A. I would say about halfof my time.

Q. And what percentage of time have you spent

with Telecom Net Consulting as compared with your

other professional endeavors? Let's begin with this

year, 20l5.

A. I'm working quite a bit on my startups, so

I don't know how many -- how can I compare it.

Sometimes I'm working up to 2:00 a.m.. 3:00 a.m.

So I -— I don't know. I am working quite a

bit on my startup.

877-702-9580
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It depends on the week.

Q. Okay. How much money have you earned as an

Q. Can you give a rough approximation if --

just an order ofmagnitude? Would it be over

20 percent? 3 expert witness over the past I0 years? This is anas
approximation.

A. I -- I don't know. I don't know. I need

to take a look at my —— at my taxes. I don't have
them in front of me.

Q. Ifwe limit that question to just this past

year and the last cycle of taxes, would you have an

A. I -- I cannot estimate. There are times

that I am working on my startup 60. 70 hours a week,

and there are times that I am working on this case
30. 20 hours a week.

It depends on the week. It depends on the

project that I have.

Q. So it's hard for you to give a percentage
over --

U1

4.1mLn Aon

0L0(:3 idea?

A. I would say that this year I earned about
~‘0\Oor.» )..V

I\)
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A. About half and half.

Q. Half and half?

A. Half and halfis working. but --

Q. Was this percentage split the same for the

past five years as well?
A. Sometimes more, sometime less. but

approximately it's this way, yes.

Q. The same approximate 50/50 percent time

spent on working as an expert witness and the rest

of your professional endeavors harkening back to
2006?

A. Sometimes more and sometimes less.

Sometimes I will do 70 percent on one side, and

sometimes I will do 60/70 percent the other side.
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don't have money for myself. So I'm spending the

time; I'm not -- I'm paying myselfthe minimum that

is needed by law as an employee ofmyself, but I am

basically investing my time in the last ‘live years
on my startup.

Q. And so if you have to give a percentage of

how much of your income is drawn from your expert
services, what would that be?

A. Most ofit. Most ofit.

Q. The majority ofit?

A. Most ofmy time I spent is time not paid.

I am paying myself. I think, $80,000 or $60.000. I

don't know. It depends on the tax advisor, how much

he said I should pay to myself.

Q. So in preparing for your declaration,

Dr. Lavian. what materials did you consider?

A. I have it in my declaration. but, in

general, I considered the patent and the prior art

in the -— that I submitted in this patent.

Q. So if I could direct your attention to

paragraph I4.

Is that where you had --

,,,
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250 or 200. I don't know. I have to take a look at

my —— at my taxes. I don't have them in front of me

right now.

Q. So we can say roughly 250.

And is that typical of the years before?
A. Year before. I believe I had more. I don't

have in front of me.

Q. And what percentage would you say -- if we

limit ourselves to this last cycle of taxes for the

year 2014. what percentage of your income would that

approximately 250K be?

A. My -- main of my work is working on my

startup, and my startup does not -- does not pay me.

So I am paying myself a limited amount. because I
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So it is the -- the '41] patent and the two

prior art references?
A. Yes.

Q. Jones and Tonelli?
A. Yes.

Q. Did you look at the file history for the

'4II patent?
A. Yes.

Q. Does your declaration address anything that

happened during the prosecution or the file history

ofthe '41 I patent?
A. No, I don't believe so.

Q. Do you consider the file history ofthe

'41 I patent relevant to your analysis‘?
A. Yes, it's relevant.

Q. But in your declaration, you felt no need
to refer to it?

A. I didn't refer to it. I referred to the

patent itself.

Q. Before preparing your declaration, you

developed an understanding of the '41 I patent;
correct?

A. Yes.

Q. And you still have an understanding of the

'41 I patent; correct?

A. Yes.

Q. —- articulated that which you had
considered?

I\)I)I\)1u U!..'x(Al\3Kw‘ l\)Ix)I\)Is.)I\)In>42\ L5:.L\(.0toI-\
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A. Yes.

Q. You have been handed what has been marked
as Exhibit 1001, which is also ServiceNow's

Exhibit 1001 in this IPR proceeding.

Do you recognize the document?

A. Yes, I recognize the patent '41 1.

Q. So it is okay ifl refer to Exhibit 1001 as

the '41] patent?
A. It is here called '41 1.

Q. Is it your understanding that the Patent

Trial and Appeal Board has instituted an

inter partes review to determine if certain claims,

in particular Claim 1 and 3, ofthe '411 patent are

patentable?
A. Yes.

Q. Your opinions were based in part on the

meaning of the claims ofthe '41 1 patent; correct?
A. Yes.

Q. You also studied the patent specification;
correct?

A. Yes.

Q. Do you understand that the ‘411 patent
includes claims?

A. Yes.

Q. Do you understand that the '41 1 patent

Page 16

patent works?

A. I'm not sure I _understand the question.

What do you mean by this? Do you want me to explain

the patent‘?
Q. Yes.

A. In general, in a very high level, the '4ll

provide a method to design a network and to audit
the network.

Q. Can you explain how the patent describes

designing a network and then auditing the network?

A. Yes. In a high level, the patent describe

a mechanism when the user or the -- the designer of
the network -- the network, it means -— let's call

 

C)at0:)4.1axtr:,r..\(A:(\)in

includes a specification?
A. Yes.

Q. Do you understand that the '41 1 patent

includes a specification that contains an abstract?
A. Yes.

Q. Do you understand that the '41 1 patent

includes a specification that contains a background
section?

A. Yes.

Q. Do you understand that the '41 I patent

includes a specification that has a summary of the
invention?

A. Yes.

Q. Do you understand that the '41 1 patent

includes a specification that has a summary of

drawings section?
A. Yes.

Q. Do you understand that the '41] patent has

Figures 1 through 20D?
A. Yes.

Q. Do you understand that the '41 1 patent

includes a section that has a detailed description
section?

A. Yes.

Q. Can you explain how the embodiment in the

Page 17

A. You're asking high level. It's —- for high
level, it's fine.

Q. Okay. How does the '4l1 patent describe

the topology database?

A. The patent describe the topology database

in element 350. And basically, it's a database of

the topology. In Figure 7, the right, at the top is

the topology database.

Q. And what are the roles of the topology

database —— roles or functions that the topology

database provides?

A. In general, to have a repository of the

topology itself.itstn1\)#4
them the network administrator. It's an easier way Q. Is there anything additionally that it

to call the person —- design the network, design the does?

layout, put all the devices that he think that A. In general, that's the high level
should be in the network, and work out the -- and functionality of a database.

show differences in the network over time. Q. The '41 l patent discloses a tuple manager;

Q. The '41] patent discloses a topology correct?
database; correct? A. Yes.

A. Yes. Q. How does the '41 1 patent describe the tuple

Q. And I didn't mean to cut you offi if you manager?

were still giving a higher level, general -- A. In general, the '41 1 describe the tuple
A. No -- manager as -- in general, the '41 1, in general, you

Q_ —— understanding. can see in Figure 7 describes the system of getting

,,l

I+4 \imU1. ,..,..l... ___;O,

,,1,. \.0no t..1,_. com
(_> K) (3
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the information and comparing the information to

previous information.

One of them -— in high level, very high

level, it's done by three main elements: The tuple

manager, the connector calculator, and the topology
converter.

In high level, tuple manager receive the
information from the network. We can see, in high

level, in Figure 8 that the two left elements, 902

«-Jm(N.l\(Aix)
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but I need to check exactly.

And it's end with the topology converter

that you can see in detail in element -- in

Figure 8, element 908. And elaboration ofthis, you

can see in the last six ~- basically, fi‘om

Figure 17, 18A, l8B, 19, 20A, 20B, 20C, and 20D.

The information on the collabor -- topology

converter is going back to the topology database

element 350 in Figure 7.

Q. So ifyou parse that a little bit, going

back to the tuple —— or tuple manager, what are the

functions or roles of the tuple manager?

A. In general, the tuple manager receive the

and 904, belongs to the tuple manager in Figure 7,
element 300.

In more details, all of -- two ofthese,

902 and 904, are elaborated in Figure 9, basically

1....

.5.ti)ix)2-4 ,.t..., .i\(Ato+4<..)NDtr,»

..~_.(In)toinat)toasLImU‘/

Ln

as.init;in

asinix;>~<‘0KC00\xoxU1
(1)tono...,1mU1

element 910, 9l2, 914, 9l6. 918, and 920, and

basically receiving the information and gathering
additional data.

Followed by this, you can see, in

convert —— in Figure 7, the connection calculator,

380. 380, it describe as —— Figure 8 also, as

element now -- 906. And ifyou would like to see

more elaboration of 906, it's in Figure 10. You can
see them at 922, 924, 926, 928, 930, and 932.

Elaboration ofthis -- additional

elaboration, l believe, you can see on figures -- I

need to check, but I believe Figure 16 and above.
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neighbor data database?

A. The neighbor database is element 3lO. You

can take a look in Figure 7, and you can see

elaboration ofit in Figure 9, element 920, and

basically gather additional data as requested from

the neighbor database.

All the database —— it's a temporary
database for the information that connected to the

specific device.

Q. You called it a temporary database.

What does the neighbor data database store?

A. The neighbor database store information

about the neighbors.

Q. Are the neighbors tuples?

A. It can be tuples, but it can be other

things as well.

Q. Any other roles that the neighbor data

database provides?

A. Not that I have on the top of my head.

Q. You had mentioned the connection
calculator. I believe the reference number is 320,

as you had discussed earlier.

m 

an(A)xx.)ll

4*(1)LO0“,2.1onby

0Lo

tuples and calculate the —— basically, do the data

gathering and the tuple building phases.

in more specifically, element -- elements

902 and 904 in Figure 8. And more specifically, it

receive the start signal, looked at the existing

devices, topology database, query the nodes, create

the tuples, store the tuples in the neighbor

database, and gather additional data as requested.

Q. The '41 l patent discloses the neighbor data
database; correct?

A. Yes.

Q. How does the '4] l patent describe the

Page 21

Figure 10 -- excuse -- it's in Figure 7, element

320. You can see more elaboration on Figure 8,

element 906. It's a tuple reduction phase.

More elaboration you can see in Figure l0,

that it has the first weeding phase, infrastructure

building phase, second weeding phase, noise

reduction phase, look-for phase, construction (sic)

phase.
And ifwe can take a look in more details,

we can see that basically the main idea is to get
less information to allow calculation ofthe

information. The topology, it's complicated and the

idea is to reduce the amount of data to get only the

right, relevant information.
Q. You mentioned that the idea is to reduce

the amount of data to get only the relevant
information.

What is the input to the connection
calculator?

A. As we can see, the input for connection

calculator can be from different places. First of

all, the main idea to take the tuple manager that(A)l\)lav‘ can create a lot ofinformation. Some ofthem are

relevant to the specific calculation and some of
them are not.

How does -— what are the roles ofthis

connection calculator?

A. You can see the connection calculator in

l\)I\)r\>[\)Ix)rmw2‘ Ln.L\LA)I\>1-‘ l\)(X).’\)I\)l\)IX)LA‘
U!.13
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And. in general, the point is to weed the

information that are not directly related to the

calculations that is related to the specific one.
And in order to do so, it's receive information,

look —- doing lookup on the neighbor data for

lookup -- you put in some information on the reduced

topology information that will go later to the

topology converter. that at the end of the day this

information will go to the database.

The main point is that you generate --

while you have a network, it generates a lot of

information, but you need only relevant information.

A lot of it is repetition.

Q. Dr. Lavian. you just mentioned the reduced

topology relationships database.

How does the '4ll patent describe the

reduced topology relationships database?

A. Let me go specifically to the section.

Basically element -- Figure 7, element 330. is the

reduced topology database.

In general. it saves the information -- or
it's database that take the information from the

connection calculator and save the information that

later go to the topology manager.

Specifically to your question, let me find

Page 23

the specific elements that describe Figure 7.
I can see the element. It's -- the

description ofFigure 7. It's in '41 l, column 6,
from about line 14 until line about 30.

More specifically. the description as it

appear in the patent, it's about line 24.
"The connection calculator 320 reduces 906

the tuple data and send it to the reduced

topology relationship database 330."

Q. Thank you.

You've also mentioned the topology

converter which the '41 l patent discloses.

How does the '41 1 patent describe the

topology converter‘?
A. I will continue to the same -- in the same

passage that I just read to you. '41 1, column 6, a

description ofFigure 7. lfyou can take a look at

line 26, it say that:

"The topology converter 340 then update 908

the topology database 350 based on the new

tuples sent to the reduced topology

relationships database 330 by the
connection calculator 320."

More elaboration -- end quotation. More
elaboration we can see in element 908. And element

Page 24

908 is in Figure 8, the last element. Basically,

that's the topology updating phase.

Q. So the roles that the topology converter

provides is in the paragraph you just stated,

column 6, 26 through 29.

Any other roles or functions that it

provides?

A. In a high—level, that's the key idea.
Q. Dr. Lavian, you have Exhibit l00l in front

ofyou.
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Q. So is it a list -- is the list ofexisting

tuples a list oftuples that already exists from a

prior time?

A. The first one is creating. First time is

creating the list of new ones.
Q. Once created, then a list ofexisting

tuples in the first limitation is a list oftuples
that exist from a prior time?

A. It's created —- always creating the list of

new tuples. And when you create a new, the old one
I~=I-4

54GKOCO\lO\U7>5(A)l'\)I4
that were new are the old one. So you continuous --

continuously building a new list. But the old
one -- what used to be new. now are the old one.

. Yes, the '4l l -- Q. Okay. But ifwe draw a line in sand

. The patent '41 l claims? and start at T is equal to 0 here --

. —— please. ‘ 7 ' A. Uh-huh.

. Yes. ‘ ' Q. -~ ifyou look at the timing, the list of

. What is a list of existing tuples in the existing tuples in the first limitation, is the list
first limitation? of tuples that represent nodal connections of the

A. Creating the list -- the first limitation

read, quotation:

"Creating a list of existing tuple --

tuples from the existing topology

representing model connection -- nodal
connection of the network at a prior time."

Could youkindly turn to the claims,

Claim 1 of the patent?

. You're talking about the patent, yes?

t——= l\)

+4 (A)

t—' 21>

9-4 U‘

I—= O‘\

t—‘ \l

f—' 00 t...

l\)I-4 OKO Ix)r» C)\_o(X)
network at a prior time?

A. lt depends what you mean, putting a line in

the sand right now. Creating a list of existing

tuple is the create -— look at the existing tuple

and create a list of what was before now, yes.

Q. Okay. So the list of existing tuples is a

I\) |—* ,4

l\)K) (A)l\) !\7toto t)i\)
|\)R) U795 toI1 Lnl\
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list oftuples of what was before now, the current
time‘?

A. That's a reasonable way to look at this,
ves.

Q. Okay. That was your understanding when you

prepared your declaration, which is Exhibit 1002;
correct?

A. In general, we can see the differences
between the first element and the second element.

The first element create a list of existing tuples

from existing topology, and the second one create a

new list of plurality oftuples. So basically
before and after.

Q. And that understanding is reflected in your

analysis in your declaration, Exhibit 1002?
A. Yes.

Q. You started describing this. but what is "a

new list ofa plurality oftuples" in the second
limitation?

A. Basically, it's very clear. Creating the

second element quotation:

"Creating a new list ofplurality oftuples

for the topology of the network at the
current time."

Q. So the current time is later in time than

Page 28

Q. This understanding is reflected in your

analysis in your declaration, which is Exhibit I002;
correct?

A. Yes.

MR. MACE: Object to form.
BY MS. GREWAL:

Q. So that understanding about the lists in
terms ofthe information about the devices and

connections that you just mentioned, albeit at
different times, the first list reflects information

about the devices and connections at a prior time;

the second list in limitation two also provides
information about devices and connections but at a

current time; correct?

MR. MACE: Object to form.
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the prior time recited in the first limitation;
correct?

A. Yes.

Q. Other than the list of the first limitation

being created at a time earlier than the list in the

second limitation. are they the same?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand

what you mean by this, "are they the same."

You're doing a list at one time and you are

doing another list at the same time, it might be you

will get different information.
BY MS. GREWAL:

Q. How is that information different?

A. For example, ifyou add device or you
delete device, add connection, the network didn't

responds -— the network didn't respond before --

until all kind ofthing. It's not identical.
Q. Do the lists from the first and second

limitations have the same types of information?

A. In general, you -— both ofthem get

information from the device. And in general, both

of them are getting information about the devices
and the connections. but each one of them -- it's a
different time.

Page 29

is created at a current time —- that information in

both those lists are generally the same information

with regards to devices and connections; it‘sjust

that those devices and connections are present at
different times; is that correct?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand the

exact -- what you mean by your question.

But in general, the first limitation talks

about information in high level, the first at some
time; and the second limitation, the -- it is
related to information at a different time after.

BY MS. GREWAL:

Q. You had mentioned in general that the
information itself relates to devices and

connections.

Do you recall that?

A. In general, yes.

Q. And so both the lists have information
about devices and connections; is that correct?

THE WITNESS: I'm not sure I understand the

question. It's --

Can you please clarify the question?
BY MS. GREWAL:

Q. The information in the list of existing

tuples in the first limitation that is generated at MR. MACE: Object to form.

a prior time -- THE WITNESS: In a high level, I -- I would

A. Okay. I say that, yes, both of them are related to
Q. -— and the information ofthe new list of _ information, yes.

plurality of tuples in the second limitation, which " //

IA>~. ~—I0*»()1 ,,_.,\ \ImI)1
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BY MS. GREWAL:

Q. We're just setting aside the difference.
which is time; is that correct?

A. That's one way to look at this, yes.

Q. What is the "new tuples list that represent
new nodal connections" in the third limitation,
Dr. Lavian?

Still in Claim 1.

A. Can you please repeat the question?
Q. Sure.

What is the "new tuples list that represent
new nodal connections" in the third limitation?

A. "Receiving new tuple list that represent
the new nodal connections."

That's the new tuple list that represent
the new nodal connections at the newer time.

Q. And what are the new nodal connections in
the third limitation? ‘

A. I'm -- I'm really not sure I understand

what you're asking.

But basically, you have the information

before and you have the information after, and it

will continue in many times. So every time that the
new -- new one -- so the new will be old for them.

And the following one —— the time is going only one

Page 32

So the purpose of the second one is to
create the new list. The third is to receive --

it's much easier to see that basically receiving new

tuple list is for preparation for the compulsion of
the last element.

In order to do the compulsion, you have to
receive the new list. So the focus on the second

you -- on the previous step is receiving; and the

focus of the previous, in this case, the second

Page 31

direction. And every time that you will have new

information, the previous information is the old
information.

I'm not sure I understand your questions.

Q. Is the new tuples list ofthe third
limitation different from the new list ofa

plurality oftuples from the second limitation?

A. Basically in the third limitation is the

receiving state step. And the receiving step is

receiving to prepare it for the last element ofthe

comparing.
But the information of the second element,

creating new list and receiving the new list --

basically the receiving the new list -- receiving

the information that it generated in the previous

step. The time is going only one dimension, only
forward.

Q. So the new tuples list ofthe third
limitation is not different from the new list of the

plurality oftuples from the second limitation?
A. I'm -- I'm not sure I understand the

question.

Basically, the third -- the third -- the

second element is creating a new list, and the third

element is receiving a new tuple list.

Page 33

So basically. one of them is creating, the

second is receiving in high level --

I'm not sure I understand your question.

Q. My question simply is: The creating and

receiving steps of the second and third limitation,

are they referring to the same list of tuples‘?

A. In general. you always create a new set --

a new set of tuples, new information. And over

time. you will have always new and new and new. And0KO<‘::>
every time you have new ones. And in one ofthem.

it's creating the new set. and the second -- the

third one -- the third one is receiving the new set.

The fourth one is create -- the compulsion on the --

element, is creating the new list.

Q. So setting aside that the second limitation

creates a new list of plurality of tuples and the

third limitation receives the new tuples list, if we
focus on the lists of the second limitation and the of the -- creating and -- the creating —- basically

third limitation, are they different or same? creating the current one and creating the previous

A. I'm not sure I understand the question. ' ones.
The second limitation states -- states: '

"Creating a new list of plurality of tuples

for the topology of a network at the
current time."

And later on, it's explain wherein and some second limitation?
information about them. _ A. Yes.

And the third element is receiving the new ' Q. So the list in the third limitation and the

tuple list that represent new nodal connection -- second limitation are the same?

connections. A. In high level, in general, yes.

,,»

,...xy. .5LA)l\ll~'
,..iW...= \2<F\LN

But in all ofthem, you are talking about a

set -- a list oftuples.

Q. So in the third limitation, the list of new

tuples that is received, was that created in the
C)toin

l\_:Ix)Nl\)M(x)l—‘ U1,t\L»I\)l‘
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Q. Is the new tuples list ofthe fourth
limitation the same as the new list ofthe second

limitation?

A. The fourth limitation is comparing the list

of existing tuple with the new tuples list

identified -- to identify changes to the topology.

So the fourth limitation is doing

comparison between the existing tuple and the new

tuples.

Q. So is the new tuples list ofthe fourth
limitation the same as the new list ofthe second

limitation?

A. Basically, in order to get the comparing --

comparing and getting the new tuple list, you have

to receive the new tuple list in the second -- in

the third limitation, receiving a new tuple list

that represent a new nodal connections.

And in the previous element is the creating

a new list of plurality oftuples for topology of

the network at the current time with the description
of wherein information about them.

Q. So it is your understanding that the new

tuples list ofthe fourth limitation is the same as
the new list in the second limitation -- the second

creating limitation; correct?

Page 36

of existing tuple with the new tuple list."
And we can see that the new tuple list is

mentioned, a third limitation, receiving —- the

receiving stage, "creating new tuple list that

represent the new nodal connection."

And you can see that the previous one is,

"creating a new list ofplurality oftuple of full

topology ofthe network at the current time."
BY MS. GREWAL:

4

in.MI2.)(1)Ix)M
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MR. MACE: Object to form.

THE WITNESS: I am reading --l am reading

specifically the -- to your question ofthe

fourth -- you mentioned the fourth limitation.

And the fourth limitation is comparing the

list ofexisting tuple with the new tuple list to

identify changes ofthe topology.

Let's for one second ignore to identify the

changes to topology.

lt -- it state clearly -— it states,

"comparing the list of existing tuple with the new

tuple list."

And the previous stage, it says, "receiving

the new tuple list that represent the new nodal
connections."

BY MS. GREWAL:

Q. Focusing only on the new tuples list in the
last and fourth limitation, Dr. Lavian, is the new

tuples list that's recited in the fourth limitation

the same tuples list as was created in the second
limitation?

A. The language --

MR. MACE: Object to form.

Tl---IE WITNESS: -— is very clear in the

fourth limitation. as you asked, "comparing the list

Page 37

The language states as follow:

"Creating the list of existing tuple with

the new tuple list."

And the previous one we can see creating
stage -- step:

Receiving a new tuple list that represent
new nodal connections."

And we can see the state -- step -- second

<:'.wLO '0\Oto
"Creating a new list of plurality oftuples

for topology of the network at the current
time."

I'm not sure I understand your question.
BY MS. GREWAL:

Q. So your understanding is the new tuples
list ofthe fourth limitation is the same list that

Q. l was merely looking for you to --

basically a yes or no answer.
I understand the second limitation to

create a new list ofthe plurality oftuples, the

third limitation recites receiving the new tuples

list, and the fourth limitation recites comparing

the list -- comparing with -- not focusingvon the

aswl\),.., ,,,. ,,,_i,,,i axorl\>»2
W W

x...,_ -.lo\

‘OKO<13-‘l<7\or list of existing tuples, but comparing with the new

tuples list.

So my question simply is: The new tuples

list that is used in the comparison step, the fourth

,,,. in

C)K0

is recited in the second limitation?

A. ln a high level, yes.

The time is always moving forward.

Q. You mentioned that the time is always
moving forward.

Are you suggesting the time has moved
forward between the second limitation and the third

limitation?

A. No.

limitation, is the same or not as that which is

generated or created in the second limitation?

MR. MACE: Object to form.

THE WITNESS: I'm really not sure I

understand your question.

I\)(x)NMi\)ix)rd1-» U:axL)N> Ix:l\}toto(x)M)V‘ or.z\D}l\)l«‘
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TSG Reporting — Worldwide 877-702-9580



no

asortoH:3co

N.)I\)t\)F-‘
«‘<3xoco\Icm(n

Page 38

Q. Time has not moved forward between the
third limitation and the ‘fourth limitation?

MR. MACE: Object to form.

THE WITNESS: I am -— I'm really not sure I

understand the type ofquestions that you are

asking. They are confusing, and I'm not sure what

exactly you mean.

But definitely comparing it's after

getting -- and receiving. So you have a time in the

second limitation, and you compare always after you

have the previous one. And. again, you will do the

next one, you will compare again, but you will

compare after you will receive.

The time always going one dimension, one
direction.

BY MS. GREWAL:

Q. Is the new tuples list ofthe fourth

limitation the same as the new tuples list ofthe
third limitation?

A. The third limitation state:

"Receiving a new tuple list that represent
new nodal connections."

And the fourth limitation says:

"Comparing the list ofexisting tuple with

the new tuple Iist."

Page 40

tuple list, it's the new tuple list from the

previous sections that you receive. The previous

section you receive, and the previous to the

previous section is to create.

Q. Dr. Lavian, is it your testimony that, in

the Jones patent, what you have identified as the

new tuples list ofthis fourth limitation is the
same as the new list ofthe second limitation?

A. I'm confused. I'm not sure that I

understand your question.

Can you please explain what you mean?
Q. Sure.

Your declaration, I002, exhibit in front of
you.

A. Yes.

Q. Ifyou could kindly refer to paragraphs 50.

A. Yes, I'm on paragraph 50.

Q. And you understand that paragraph 50 -— in

paragraph 50, you're providing a mapping ofthe

claims of the '411 patent to the -— to what Jones
teaches; is that correct?

A. In paragraph 50, I am —- starting in

paragraph 50 until paragraph -- until paragraph 6I,

I am referring to the mapping ofthis element.

Q. So is it your testimony that, in the Jones

TSG Reporting — Worldwide
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Q. Ifyou focusjust on the list itself of new

tuples of the fourth limitation, is that the same as

the new tuples list ofthe third limitation?
A. You said about the list.

In the fourth limitation, we have two list:

One ofthem list of existing tuple and another list

with the new tuple list.

So you have two ofthem, and you are doing,

in the fourth one, comparison between the old and
the new.

Q. So ifl focusjust on the new list -— the

new tuples list, setting aside the existing tuples

list ofthe comparison step, which is the fourth

limitation, is the new tuples list of the fourth

limitation the same as the new tuples list ofthe
third limitation?

A. It's very hard to set aside any element of

the claim, but in a very high level -- it's -- it's

hard to say comparing the list of existing tuple

with the new tuples list.

Ijust read the section. And what you

suggest is to remove the list of existing tuples, so

it's very hard for me to know what you mean by

"removing."

But ifyou are looking only on the new

Page 41

patent, what you identify as the new tuples list of
the fourth limitation is the same as the new list of

the second limitation?

MR. MACE: Object to form.

THE WITNESS: In paragraph -- in my

declaration, in paragraph 50, I refer to the new

list of plurality oftuple at the current time.
That's the element from the claim at the second

dataset of Jones.

And, more specifically, I refer to Jones in
column 2, line 12 until 15, and column 2, lines 22
until 28.

More specifically, because you ask it so

many times, the same question in different forms, I

will read what Jones says from the patent in line --

column 2, line 22 to 29, and I start the quotation:
"The present invention provides a method

for providing a data set relating to the

network by merging the first -- a first

data set relating to the network at the

first time and a second data set relating
to the network at the second, later time,

said first data set comparing (sic) data

acquired by interrogation of the network
and other data, and said second data set

11
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comprising data acquired by interrogation
of the networks."

More specifically to your question, the

element is first dataset comprising data acquired by

interrogation, and the second data phase is the

Page 43

as the second dataset ofthe -- of what you identify
in the second limitation as well; correct?

A. Basically, I referred to Jones element --

column 2, paragraph 22 until 35. And, more

specifically, I said that Jones disclose the fourth
c)\U1 Ow

second data related to the network at the second limitation of existing tuple -— comparing with —~«.1 ‘.1

C1to00

o

ax

~«.3nixt>'>

later time. So basically you have receiving first

dataset at one time and receiving second data --
dataset at a second later time.
BY MS. GREWAL:

Q. So the second dataset at the second later

time, that is the same list as that which you have
identified in the fourth limitation in terms ofthe

Jones mapping’?

So if you refer to paragraph 66,

Dr. Lavian. Paragraph 66 ofyour declaration

addresses the mapping for the Jones reference with

respect to the fourth limitation of Claim l, which

is the comparing limitation; is that con:ect?

(JLoC0

.1rmUlasU)Ix)9-4

the existing tuple with the new tuple and basically

explained the following, start quotation:

"The present invention provides a method

for -- for providing a data set relating to
the network -- to a network by merging a

list of data set relating to the network at
the first time and a second data set

relating to the network at a second, later
time."

Q. So in the Jones patent, you identify the

second dataset to be the recited new tuples list of
the fourth limitation; is that correct?

A. Yes. The second dataset relating to the0Looo 0\.Oto network at the second later time. That's from

Jones, paragraphs -- column 2, line 22 until 35.

A. In my declaration, in paragraphs 65

until —- 65, 66, and 67, I am referring to the
,,,

In)
comparing stage ofelement one -- ofClaim l, fourth

element, the comparing stage.

Q. Okay. So what you identify as the second

Q. And this is the same second dataset that

you identify as the recited new list ofthe second
limitation; is that correct?

dataset in this fourth limitation, that is the same 4 “ A. Yes.

Page 44 : Page 45
....

information from the previous dataset, and the new
dataset will create the new data.

More specifically, ifl can see Tonelli,
column 22, from line 5 until 10, I can see a
discussion about the audit of the network at the
current time.

And the net —- specifically, it says:
"As mentioned above, the network audit

software allow a user to compare the

network configuration discovered by the

audit software with previously generated

network configuration."

Q. If you move to the comparing limitation,

which appears starting in paragraph 97 of your

declaration, do you see that?
A. Yes.

Q. Is it your testimony that, in Tonelli, what

you identify as the new tuples list ofthe fourth
limitation is the same as the new list ofthe second

limitation we just discussed?
A. The last --

MR. MACE: Object to form.

THE WITNESS: The last element in my —— the

last element of Claim I basically recite:

"Comparing the list of existing tuple with

,,
Q. Similarly, if we turn to your mapping, in

your declaration, with respect to the Tonelli

patent —— and I would refer you to paragraphs 86

onwards -- paragraph 86 and —- through 89 are

directed to your mapping ofthe second limitation of 1
Claim 1; is that correct?

A. Basically, starting in paragraph 86 until
in 93.

Q. That’s correct.

So the -- what you identify as the new

tuples list of the second limitation is the same --
strike that.

Can you tell me first what you identify to

be the new tuples list that's required by the —— by

the second limitation in the Tonelli patent?

MR. MACE: Object to form.

THE WITNESS: Can you please clarify your

question?
BY MS. GREWAL:

Q. Wha -— what do you identify in the Tonelli

patent to be the new list of a plurality of tuples
at the current time?

A. In Tonelli, again, you have a mapping over

time, and always you have new time, and all —— the

previous one -- the previous dataset will be

»I\tnto »b(A)to
in

,9
(1)L0to\)owU‘

,...i rig)to(‘O\_)ow
,.

,..,... in4,.)t:.)rIwI to(‘JlA
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,,. gr ,,. 44
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the new tuple list identify changes to the

topology."

Basically Claim Number I, element D.

And in paragraph 97 and 98 of my

declaration, I'm referring to Tonelli, column 22,

line 5 to 10, the previous section that I described
and I read, and to Tonelli, column 22, line 17 and
25.

And in -- generally, I can see that the

network audit software allows a user to compare the

network configuration discovered by audit software

with a previously generated -- and again, I

repeat -- a previously generated -- continue

quotation -- "network configuration. The previously

generated configuration may be generated by a prior
audit."

BY MS. GREWAL:

Q. Dr. Lavian, I was asking about the new list
ofthis fourth limitation.

Ifyou could refer to paragraph 97 on page

49 of your declaration.
A. Yes.

Q. The second sentence in paragraph 97 states:
"As noted above, Tonelli describes a

process in which the previous audit data

Page 48

So I'm not -- I'm really not sure that I

understand your question.
BY MS. GREWAL:

Page 47

(the list of existing tuples) is compared

with a new audit data (the new tuples list)

to identify changes."

Is it your testimony that in Tonelli what

you identify as the new tuples list, which is the
new audit data ofthis fourth limitation, is the
same as the new list ofthe second limitation?

MR. MACE: Object to form.
BY MS. GREWAL:

Q. That's my question.

A. It's not a complete question.

Is that the question?

Q. Is it your testimony that in Tonelli what

you identify as the new tuples list ofthe fourth
limitation -— is that the same as the new list of
the second limitation?

MR. MACE: Object to form.

THE WITNESS: As I explained several times
before, the second -- the first -- the first element

on Claim I is doing the creating ofthe existing

tuple, the second is creating a new list oftuple --

tuples oftopology ofthe network at the current

time, the third limitation is receiving the new

tuple, and the fourth one is comparing the list of

the existing tuple ofthe -~ with the new tuples.

Page 49

A. In paragraph 97, I describe information

from prior time and the new time, in comparison
from -- basically, the network audit software allow»-N4.»)1”x)
the user to compare the network configuration

discovered by the audit software with a previously

generated network configuration. The previously

generated configuration may be generated by a prior
audit.

Q. The new tuples list ofthe fourth
limitation, what have -- strike that.

What have you mapped the new tuples list

that is required by the fourth limitation in

Tonelli? What is that particular dataset or data?

A. Basically, if] am going back to

Q. Focusing on the second limitation, which is

the creating limitation, as we discussed, you‘ve

mapped a list that is described or identified in

Tonelli to be the new list ofthe plurality of

tuples at a current time; is that correct?

A. Basically --

MR. MACE: Object to form.

THE WITNESS: -- in paragraph 97 ofmy --

97 and 98 of my declaration, I describe the creating

a new list and comparing it to -- at the current

time and comparing it to the old list that was done

Ln

xiowO‘: -.JOW

,.l (7)KO(1) to CD1.0to
j...t.,i ix)}._I
,,1 (A)

t_l ax

,.t

,.l,... \Jo\tn
,,..

in the prior time. And that's the same list that

was creating -- the second element -- creating a new

list of plurality oftuple in the second element,

and followed by receiving the new tuple that will go

to the comparing element ofthe third -- ofthe

fourth stage -- fourth element of the claim.

paragraph -- I explain it in paragraph 97 and 98.

And more specifically, I discuss ~- I got the

quotation from Tonelli, paragraph -- it's not

paragraph, sorry -- column 22, line 5 to I0, that
discuss the audit at the current time and the audit

at the previously generated audit and comparing
between them.

And the comparison between the current

explained in the comparing limitation is mapped to audit or the result of the current audit with the

the new audit data that Tonelli describes; is that results of the current audit will give information

correct? ‘ about new devices, new ports, new configurations,

BY MS. GREWAL:

Q. And the new tuples list that you justts.)toNIx)to9-‘ v‘~\U)l\)l4‘C)\0(1)
l\) ()1
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new links. Basically will see the differences in " And what Tonelli does is comparing between

topology, and these differences in topology is the "' the previous data and the new data and see

outcome ofthe comparison. differences in information. Differences in

Q. And do you call the results ofthe audit at E information can show new devices. old devices _

a current time "new audit data" in paragraph 97‘? removed. new connections or connections removed. new
A. The results of-— yes, you're right. The information, information -- basically show the

results ofthe new audit at the current time is the differences in topology.
new audit data. BY MS. GREWAL:

Q. And so my question simply is: This new -- Q. Again. my question is centered around -- I
strike that. understand, and thank you for explaining the overall

The results ofthe new audit data ofthis Context 0fT0nelli.

fourth limitation, is that the same as the new audit l'm focused on the limitation Number 2.
data of the second limitation? which is creating a new list. and the fourth

MR. MACE: Object to form. limitation, which is the comparing the existing to
THE WITNESS: l'm not sure I understand the the new list. but focusing really just on the

line of questions. identity of the new lists in the second limitation

But let's explain it in very simple term. and the identity of the new list of the fourth

What Tonelli suggested -- suggests is to do audit at limitation.
the current time and to do continuation of audit is what you identify as the new tuples list

over time many, many times. ofthe fourth limitation the same as the new list of

Let's assume that they have a five the second limitation?

minute -- just for simplicity, every hour, every A. In high level. this is the same type of

minute, or every second. You have the current audit information. You get information at one time and

with the current data, and you have the following you get information at a later time. And you get a

audit, the following data. lot ofinformation throughout this process, and

rmtol‘J

«Jo\(,l| _.i0'»,

Q‘,0(X: cuKOm

-4asanaxtotor-r ‘\){3\UVAr
2:0 (1.)

Ninan.)Mix)l\'>1‘
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MS. GREWAL: Have we gone over an hour?
Sounds like it —- or seems like it.

MR. MACE: Take a break.

MS. GREWAL: Sorry, my apologies.

THE WITNESS: l'm available as long as you
want.

MS. GREWAL: Would you care to take a
break --

THE WITNESS: Fine, no problem.
MS. GREWAL: —- for five, ten, minutes?

And then we --

THE WITNESS: I'm fine with it.

MS. GREWAL: I don't mean to be a hard

taskmaster.

THE WITNESS: That's fine. l'm okay.
THE VIDEOGRAPHER: The time is l0:37.

We're off the record.

(Recess taken)
THE VIDEOGRAPHER: The time is 10:55.

We're on the record.

BY MS. GREWAL:

Q. Dr. Lavian -- sorry. Dr. Lavian, how many

hours have you spent analyzing the '4ll patent‘?
Let me start over.

Dr. Lavian, how many hours have you spent

basically you compare the previous one to the new
one.

Q. And ifyou look at paragraph 97 and direct

your attention to the second line that I previously

read, l'm merely confirming that that which you

identify to be the new tuples list of Tonelli --

A. Where exactly you are reading? Can you

please --

Q. So it's the last line on paragraph 97 on

page 49. It begins:
"As noted above, Tonelli describes a

process in which the previous audit data

(the list of existing tuples) is compared

with new audit data (the new tuples list)

to identify changes."

My question is: You have mapped, in this

last limitation of comparing, the new tuples list

that's required by the claim to be the new audit
data in Tonelli; is that correct?

A. Yes.

Q. And is that new audit data of Tonelli the

same new list in the creating limitation, which is
the second limitation?

A. Yes.

Q. Thank you.

ribl_A)l\)t-‘
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Q. Could you please turn to column 6, lines 19

through 20, of the '41] patent?
This section --

A. Which lines?

Q. Lines 19 through 20.
This section states ~-

A. Let me read this section.

Q. Sure.

A. (Witness reviewing document.)
Yes.

Q. So still referring to column 6, lines I9

through 20, of the '41 I patent, this section states

that "The topology database 'topodb' 350 stores the

current topology for use by the system"; correct?

A. That's what this states, yes.

Q. Figure 7 ofthe '41} patent also shows a

topology converter, component 340; correct?
A. Yes.

Q. Ifyou could turn to the summary ofthe

invention, which is column 3, lines 9 through 12,
which state:

"A topology database stores an existing

topology of the network. A topology

converter accesses the topology database

and converts the existing topology into a

analyzing the '41 1 patent to write your declaration?

A. I don't know. Many.

Q. Approximately over 25 hours?

A. Yes, easily.
Q. Over 50?

A. Approximately. 1 don't have in front of me

my time sheets, but approximately.

Q. About 50 hours or thereabouts?

A. I don't know exactly. I work on several

cases. I believe approximately, yes.

Q. Okay. Dr. Lavian, I want to discuss the

components that are shown in figure —- in the

figures starting back at Figure 7.

A. Of which patent?

Q. So please turn to Figure 7 ofthe '41 I
patent.

A. Yes.

Q. Do you understand Figure 7 to be the block

diagram of the system?
A. Yes.

MR. MACE: Object to form.
BY MS. GREWAL:

Q. Figure 7 ofthe '41 I patent shows a

topology database TOPODB 350; correct?
A. Yes.

.i\.(.2Ix)ll
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can see the stages of902, 904. 906, and 909, and

908. Basically it's data gathering phase, tuple

building phase, tuple reduction phase, and topology

update phase.
And as we discussed before, the first two

left belongs to Figure 9, the second 906 --

elaborate on the Figure 10, and the -- basically

it -- just one second —— it states, "The topology
converter 340 convert 934."

934 is from, I believe. Diagram I7. Let me

go to Diagram I7, I believe.

Yes. In Diagram I7, we can see that the

topology convert -- convert topology into tuple of

list followed by 936, compare current list with the

new list of -— and describe the identical tuples and

938 take action in -- on changes topology.
So ifl continue what youjust said, that

the topology convent -— "topology converter 340

converts 934 the topology into tuple list, also

referred as the ’morpho topo' phase 934." That's

what Ijust explain in Diagram l7.

Q. And Dr. Lavian, youjust stated that "the

topology converter 340 converts" -- sorry, "convert

934 the topology into tuple list, also refers as a

morphed tuple phase 934."

list of current tuples."
Is that correct?

A. That's what it states.

Q. Ifyou could kindly turn to column 1 1,

lines 16 through 18, ofthe '4l1 patent, this
section states:

"The topology converter 340 converts" --

. Just -— which line are you on?

. So column ll --

. Yes.

. —- lines I6 through 18.

. Okay.

. This section states:

"The topology converter of’ —— sorry.

"The topology converter 340 converts 934

the topology into tuple lists, also

referred to as the ‘morph topo' phase 934."
Is that correct?

A. That's what it states, yes.

Q. So is it your understanding that the

topology converter 340 converts the existing

topology stored in the topology database 350 to

provide a list of existing tuples?

A. It states the phases that you just read.

Take a look at Figure 8. In Figure 8, you
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provide a list of existing tuples?

MR. MACE: Object to form.
The topology that is converted is the

topology that is the existing topology in the

topology database 350; is that correct? THE WITNESS: I think the language is very

MR. MACE: Object to form. clear:
THE WITNESS: I'm not sure I understand ‘O "The topology converter 350 refers -- 340

”‘ converts 934 the topology into tuple list.

also referred the 'morph topo' phase 934."

And as I mentioned, you can see the element

934 in Figure I7. And Figure 17 gets from a

converter topology into tuple list -- that's element

934 -- going down to a compare current list with the

new list and discard identical tuples -- that's
936 -- and continues with the block take action on

changes topology elements 938.
And that's the continuation ofthe

discussion continuous to what you read in columns
ll, lines I8 to 25.
BY MS. GREWAL:

Q. Dr. Lavian, I'm just concentrating on the

topology converter and step 934 that you are

what you are saying.

Basically. topology converter take the

information from the reduced topology element 320
that receive the information from the converter ~-

connection calculator and takes this information,

reduce the data, and put it back -- not back —— put

it in the topology database 350.
BY MS. GREWAL:

Q. Dr. Lavian, my question related to the

topology converter and its roles with respect to the
lines that I mentioned in column ll, which was line

16 through 18. And I'll read that again:

"The topology converter 340 converts 934

the topology into tuples lists, also

referred to as the 'morph topo' phase 934."
Is that correct?

A. You read correctly. yes.

Q. So is it your understanding that the

topology converter, element 340, converts the

existing topology in the topology database 350 to

.r\

mentioning in Figure 17.

I was merely staying with column I l, line

l6 through l8, which stated:

"The topology converter in 340 converts 934

the topology into tuple lists, also

ix)5.)I.)tn.)(2)I‘)r«~'-

rmtr
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x

as the 'morph topo' phase 934."

Is it your understanding that the topology

converter 340 converts the existing topology in the

topology database to provide a list of existing

tuples that are referred to as "at the prior time"
of the first limitation?

A. It states what it states.

MR. MACE: Object to form.

THE WITNESS: It states clearly, "The

topology" —— it's one embodiment and exist one

embodiment in the explanation of how the system

works in Figure l7. It says:

Can you please elaborate or clarify what "The topology converter 340 converts 934

you mean by this? the topology into tuple list, also referred

BY MS. GREWAL: " ’ as the 'morph topo' phase -- phase 934."
Q. Sure. ‘ And you can see a different depiction on

Do you have the line l6 through 18 of I ‘ Figure 7. Basically. the topology converter is
column I l in front of you? : " 9 connected to the topology database on the top. 350,

A. Yes. and they connect to the 330, the reduced topology

Q. I'm just trying to understand that relationship -- basically, look up at the reduced

particular portion —- relationship.
A. Okay. BY MS. GREWAL:

Q. -- line l6 through 18, which states: Q. Looking at Figure 7 and the bi-directional

"The topology converter converts 934 the arrow between the topology database 350 and topology

topology into tuple lists, also referred to converter, do you understand the topology converter

referred to as the 'morph topo' phase 934."
Correct?

A. You read it correctly, yes.

Q. Concentrating only on that portion of 17

and the lines that Ijust read, is it your

understanding that the topology converter 340

converts the existing topology that is stored in the

topology database 350 to provide a list oftuples at

a prior time ofthe first limitation?

MR. MACE: Object to form.

THE WITNESS: I'm really not sure I

understand your question.
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MR. MACE: Object to form.
THE WITNESS: I'm -- I am not sure what

specifically you refer.

In high level, describe the invention.

including many figures that related to the

inventions. And in each one ofthem, you might have

several other -- you may have a lot ofinformation

in all ofthem. That's basically 7 -- Diagram 7

describe the system of-- ofthis patent.
BY MS. GREWAL:

Q. Right. There is no other system block

diagram in this patent; is that correct?

A. I'm not sure. You have 7 -- you have about

26, 27 diagrams on this diagram. Each one ofthem

is referring to different things. But, in general,

it's related to the concept that this patent
describe to disclose.

Q. So ifyou look at Figures 8 through 20D.

they all relate back to the components that are

shown in Figure 7. which is the only block diagram

of the system; is that correct?

MR. MACE: Object to form.
'l"l"-IE WITNESS: Yes. We discussed before

that the other elements -- or the other figures. 8

to 20D, are related back to Figure 7.

accessing the stored existing topology in 350 to

convert that existing topology into a tuples list‘?
A. This is one embodiment in the

declaration -- in the description ofFigure I7.
It's referred to the element that related to

Figure 7.

And, yes. I can see the tuple list. the
double arrows between 350 and 340, and that’s one

embodiment, yes.

Q. How many embodiments are described in the

'41 l patent, Dr. Lavian?

A. l-- I didn't check. I didn't opine on
this.

Q. If you turn your attention to column 3,

line 42, it states that Figure 7 is a block diagram

of the system; is that correct?
A. Which --

Q. Sorry. column 3 --

A. Okay.

Q. -- lines -- line 42. which reads:

"Figure 7 is a block diagram of the

system."

A. Okay.

Q. Is there any other system that's described,

other than the system of Figure 7, in this patent?

.i\into5-’ ,.._.,..
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BY MS. GREWAL:

Q. So you would agree with me that the block

diagram of the system shown in Figure 7 is the only

embodiment that is described with respect to the

invention ofthe '41 I patent; is that correct?
A. I'm not sure that I understand.

MR. MACE: Object to form.

THE WITNESS: I didn't opine ofthis. I
didn't look on elaboration, but I can see other

diagrams in the picture -- other diagrams in other

text in the specification.

In general, that's a key -- Diagram l7 --

Diagram 7 describe, as the patent say, the block

diagram of the system.
BY MS. GREWAL:

Q. And by the other figures that you were

mentioning of diagrams or pictures, are you -— what

figures are you looking at in particular?

A. Take a look in all the diagrams in the

system. They describe the patent itself.

Q. Right. But all ofthe figures -- I --

starting from Figure 8 to 20D, all refer back for

further details to components that are described in

the one and only block diagram ofthe system of the

'41 I patent; is that correct?

MR. MACE: Object to form.

TI-IE WITNESS: Figures 8 to 20D elaborate in

more details of Figure 7.
BY MS. GREWAL:

Q. Thank you.

So if I am concentrating again (in your
understanding with respect to the teachings of the

line I6 through 18 of column I l. and concentrating

only on those -- on that portion ofcolumn l I, is it

your understanding that the topology converter 340

converts the existing topology that is stored in the

topology database 350 to provide a list of existing

tuples?

A. The language that you said is:

"The topology converter 340 converts 934

the topology into tuple list, also referred

as the ‘morph topo' phrase -- phase 934."

And we've seen the element 340 in Figure

4 -- in Figure 7 and element 934 in Figure I7.

Q. What is the topology that is mentioned in
that sentence?

So, in particular, it states:

"The topology converter 340 converts 934

the topology into tuple lists."

What topology is it referring to?
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A. The topology you have the -- topology --

two topologies; one ofthem is the topology ofthe
database in element 350, and the second is the

reduced topology in element 330.

Q. Okay. Figure 7 ofthe '41 1 patent shows a

tuple manager 300; correct?
A. Yes.

Q. Please turn to column 6, line 16 through

19, of the '41 1 patent.

Page 67

THE WITNESS: I'm not sure I understand.

You read correctly.

What do you mean "this data gathered at the
current time"?

When -- every time that you are doing

whatever you are doing, always the current time.

Everything you are doing present, it's done the

current time of the same present. Two minutes later

is the past.(3)Q)(Ii BY MS. GREWAL:

Q. Is the -- by "current time," 1 mean at a
second time that is later in time than the existing

time, which -- let's strike that.

A. Column -- line --

Q. Column 6, lines 16 through 19.

Do you know that --

A. Just let me read the paragraph.,.._i,._iP.t,\,...i ,5L»Mi...
Q. Sure. ‘ i‘ 9 Dr. Lavian, can you turn to your

A. (Witness reviewing document.) declaration, Exhibit 1002, in paragraph 24?

Yes, what's your question? E A. Which paragraph?
Q. Looking at column 6, line 16 to 19, which , :..« Q. 24.

states: : ’ '~= Do you see in the middle -- let's see. I'm

"A tuple manager 300, also referred to as a 4 ‘ going to —— the frst sentence begins -- are you

data miner 300, gathers 902 data from at -- soriy, are you at paragraph 24?
network nodes and builds 904 tuples to ' 7 A. Yes.

update the current topology." * Q. It begins:

This data is gathered at a current time; ; "The topology information returned from the
correct? 2 =‘ first query may be stored in a database and

MR. MACE: Object to form. used to create a list oftuples."

l--2*>- --Jo\<1:
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Can you explain what you mean by the

first -— "returned from the first query"?

A. I'm referring to paragraph -- to the '41 1,

paragraph -- not paragraph —- column 6, line 36 to
39.

In line 36 to 39, I can see this

information -- this information is tell the tuple

manager 300 which devices or not are believed to

exist in the system based on the node that were

selected during the previously query.

So you have the previous query and you have

the new query.

Q. ls that further -- is -- the two queries

that you just mentioned, is that described in

paragraph 23 immediately above what wejust read?

Q. So the two different times that you

describe here in paragraph 23 and 24 include a time

A and time B, right, time 1 and time 2?

A. Okay.

Q. Time 2 occurs later than time 1; is that
correct?

A. Okay.

Q. I'm trying to just establish a temporal --

some temporal language.
So time 1 -- can we call time 1 the

existing time and time 2 a current time‘?

A. I'm not sure what you mean by "existing"
and "current."

You have the time in the past and the time

in the future, the prior time or the new time.

In paragraph 23, the last line, you I That’s the easiest to call it.
provide: 1 ' Q. So ifyou look at Claim 1 ofthe patent,

'’In particular, the specification states '41 1 patent, which is Exhibit 1001.

that nodes on a computer network (i.e., Do you have that in front of you, sir?

'electronic components’) are queried at two A. Yes.
different times so information about the Q. See, the first limitation reads:

layout ofthe network - i.e., the network "Creating a list of existing tuples from an

topology - can be determined." existing topology representing nodal
Did I read that correctly, sir? connections of the network at a prior

A. Yes. time."
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A. Yes.

Q. Can we agree that that is a first time or a

prior time?

A. Yes, you call it current time. But here,

it’s write "prior time." If you would like to call

it prior time, that's fine. That's okay.

MR. MACE: Object to form.
BY MS. GREWAL:

Q. Prior time is the time at which, according

to the first limitation, a list of existing tuples

from an existing topology is created; is that
correct?

A. I'm not sure I understand.

The claim language —~ the element says:

"Creating a list of existing tuples from an

existing topology representing nodal
connections of a network of the prior
time."

Q. Right. Is it your understanding,

Dr. Lavian, that the existing topology recited in

limitation one represents nodal connections of a

network at a prior time?

A. That's what it says.

"Creating a list of existing tuples from an

existing topology representing nodal

Page 72

"A tuple manager 300. also referred to as a

data miner 300. gathers 902 data from

network nodes and builds 905 (sic) tuples

to update the current topology."

This data is gathered at the —- at a

current time which is later than the existing time
of the first limitation; is that correct?

A. Let's start that we misread the language --
the sentence.

lt's "nodes and builds 904." not 905.

And the language here is general. not

related to past or current or future.

"A tuple manager 300, also refers as a data

miner 300, gathers 902 data from the

network nodes and builds 904 tuple to

update the current topology."

Q. My apologies. I didn't mean to misread the
reference Number 904.

MS. GREWAL: We need to take a break to

change the tape. So why don't we come back and pick

it up.
THE VIDEOGRAPHER: This marks the end of

Disc 1, Volume 1, ofthe deposition of Dr. Tal
Lavian.

The time is 11:32, and we're offthe

TSG Reporting — Worldwide
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connections ofa network at the prior
time."

Yes, that what it says.

Q. Okay. The second limitation reads:

"Creating a new list ofa plurality of

tuples for a topology ofthe network at a
current time."

A. Yes, you read it correctly.
Q. Is this current time later in time than the

prior time?
A. Yes.

Q. 1 would like our discussion -- when I say

"prior time" and "current time," I'm referring to
the times that are articulated in Claim 1.

A. Okay.

Q. So ifyou go back to column 6, lines 16

through 19, which reads:

"A tuple manager 300, also referred to as a

data miner 300, gathers 902 data" --
Just --

Sorry.

Which line are you?

Column 6, line 16 through 19 --
Yes.

-- which begins:

.0?>.O.>O?>
Page 73

record.

(Recess taken)

THE VIDEOGRAPI-IER: This marks the beginning
of Disc 2. Volume I. in the deposition ofDr. Tal
Lavian.

The time is 11:47. We're on the record.

BY MS. GREWAL:

Q. Dr. Lavian, shortly before the break, you

had mentioned that you were not sure what I meant by

"existing" and "current."

And you said. "You have the time in the

past and the time in the future. the prior time or
the new time."

Do you recall that. sir‘?

A. I remember, yes.

Q. With that in mind, the topology that is

stored in topology database "topodb" shown as

component 350 in Figure 7, does that topology that

is stored in "topodb" 350 topology ofa prior time?

A. I think the best way to look at this is to

take a look at the exact claim language and to

distinguish between the claim language and the

description.

And what l mean by this, the claim language

is very clear:

19
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"Creating a list of existing tuples from

the existing topology representing nodal

connection ofa network at the prior time."
So I have to take a look at the exact

language of the claim language compared to the

Figure 7 that talks in general in present tense

about what is done in general.
So I have to take a look on what I did,

what I opined on Claim Number I -- in the specific

claim language related to Claim Number 1.
j...

clear. It says:

"Creating a new list of plurality of tuples

of topology of the network at the current
time."

The claim language does not say anything

about Figure 7. It does not say anything about --

when I did my analysis and when I opined, I opined
on Claim I and its element.

Q. Dr. Lavian, I read the first limitation.

And, for some reason, you have read the second

limitation. I apologize ifl was not clear.

Looking at limitation one of Claim I. which
reads:

”Creating a list of existing tuples from an

existing topology representing nodal

connections of the network at a prior
time."

Do you see that, sir?
A. Yes.

Q. What component shown in Figure 7 creates a

list of existing tuples from an existing topology

representing nodal connections ofa network at a

prior time‘?
A. The claim element does not mention

Figure 7. The claim element does not specifically

Q. So what component, Dr. Lavian, creates a

list of existing tuples from the existing topology

representing nodal connection of the network at a

prior time‘?

MR. MACE: Object to form.

THE WITNESS: You're referring to the

specific claim element?
BY MS. GREWAL:

Q. Correct. Ijustrercad limitation one.

And with respect to the components shown in

Figure 7, what component creates a list ofexisting

tuples from an existing topology representing nodal

connections ofa network at a prior time?

A. I'm not sure they can -- they can change

the claim language. The claim language is very

,..i
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"The topology converter 340 converts 934

the topology into tuple lists. also

referred to as the ‘morph topo’ phase 934."
Correct?

A. You read correctly. yes.

Q. So is it your understanding that the

topology converter converts the topology that exists

at a prior time to provide a list oftuples?

A. I opined on the claim language and --

MR. MACE: Object to form.

THE WITNESS: -- not on anything else.

And the claim language is very clear. And

the language that you read is one line out ofthe

specification that it's not the claim language.

And I didn't opine on this specific line.

I didn't opine on any specific lines.

The language that you said, that "the

topology converter 340 converts," "converts" is in

the present tense. So basically‘. in general, it
converts.

It does not say "converts in the past,"

"converts the new -- converts the new tuple." It

does not say any of the language of Claim Number I.

And I didn't opine on this. I opined

specifically on Claim Number I.

talk about any claim -- or any figure.

And when I did my analysis, I opined on

Claim Number I as is with the specific language of
the claim.

Q. So as you sit here just now, sir. you do

not have an understanding of what component would

create the list ofexisting tuples from an existing

topology representing nodal connections of a network

at a prior time‘?
A. I have an excellent --

MR. MACE: Object to form.
THE WITNESS: -- ofwhat is it, and it's

very simple. The language that I opined on. the
exact language of the claim. And the exact language
ofthe claim is:

"Current" --

"Creating a list of existing tuple from an

existing topology representing a nodal

connection of the network at a prior time."

And I opined on this language and not on

any other language.
BY MS. GREWAL:

Q. So ifyou set Claim l aside and go back to

column ll. line 16 through I8, ofthe '4ll patent --

and I'll read this again -- it states:

I
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BY MS. GREWAL:

Q. I understand you have --

We are not talking about Claim 1. I need

you to set that aside.
I turned our attention back to column I 1,

line 16 through 18. We're discussing the

Page 79

to as the 'morph topo' phase 934.”

It does not say about past, future, or

current. And this is not the claim language.

Q. I understand it's not the claim language.

We are discussing the Figure 7, which is

the block diagram, and the only block diagram, of4.)ch<7:.
specification of the '41 I patent now. the system of the '41 I patent.

A. Okay. ‘ Is that correct?
Q. And in looking at this, when it reads, "the 1 MR. MACE: Object to form.

L1‘:

(JL0 :37t_

(«.2la)toxx)(2).~~~~ . .5.toI1)r.)ya4.)Mwr.)\_(7no«IowUv,:.\toix:+4
..t..,.. CO~Jnatn.1»intortCf.)no(1)\lmin
I\>(UI\)l\)l\)l\)Aw‘ U1as(2-1I\)H(1)kc’:

topology converter converts the topology," what THE WITNESS: Basically you're trying to
correct -- to impose language of past and future,

and you discussed about prior time or newer time or

current data or previous data.

The two -- the one line that you read to me

does not say "past," it does not say "future," it

does not say "current,” it does not say "prior
time."

topology is this sentence referring to?
A. Not related to Claim Number 1, this is the

description of Figure 17.
Q. I understand, but what is the topology? Is

it a -- where is this topology stored?

A. The topology is stored in the topology
database.

Q. And that topology that is stored in the

topology database, does that represent topology at a

prior time or at a new time?

A. The language ofthe passage -- the

paragraph that you read to me, "the topology

converter 340 converts, in general -- now, in

general, not specifically to past, present, future.

"The topology into tuple lists, also refers

Page 80

BY MS. GREWAL:

Q. What is your understanding ofline l6

through 18 ofcolumn ll‘?

A. It's in general, the topology converter 340

converts 934 topology into tuple list.

Q. And what is your understanding ofwhat

topology is being converted?

A. Basically we can see in Figure 7 that the

database topology —— it's convert the topology
database.

Q. Okay. And looking at the tuple manager

component 300 and referring to column 6, line l6

through 19, which states --
A. Yes.

Q. -— "A tuple manager 300, also referred to

as a data miner 300, gathers 902 data from network

nodes and builds 904 tuples to update the current

topology."

What is your understanding of the sentence

in column 6, line 16 through 19, that Ijust read?

MR. MACE: Object to form.

THE WITNESS: As it says, it said tuple

manager 300 refer -— gather the data from the
network nodes to build the tuples.
//
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It say:

"The topology converter 340 converts" with

S and N -- 904 the topology into tuple

list. also referred to 'morpho' -- 'morph

topo' phase 934."

It is in general. It does not say —- it

does not say —- says in the past or the future,

current or previous or -- it does not say.

Page 81

BY MS. GREWAL:

Q. What is your understanding of the latter

part, where it says "gathers 902 data from network

nodes and builds 904 tuples to update the current

topology"?

A. Gather the information. update the current

topology.

You have old topology and you have new

topology, and you always element -- 300 tuple

manager always receive information and always create

the new topology and updates always the -- the

topology, see what's new, see what‘s changed, see

what's removed, and updates the database.

Q. So the tuple manager is creating a new

topology and updating —- and the system updates the

old topology; is that right‘?
A. That's not what I said.

MR. MACE: Object to form.
THE WITNESS: That's not what I said.

The tuple manager -- in general, Figure 7

shows a system that gather information, update the

infonnation. see what's change -- what —— look at

the changes in the topology and update the topology.

Element 3 -- 300 gather the information;

and element 350 update —— receive the information of

21
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updated -- the new topology; and new, it's always
new over time.

Q. Ifyou turn to Figure 8 ofthe '41 1 patent,

Dr. Lavian, what does Figure 8 disclose?
ax{A}
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A. Figure 9 disclose the element in 910, 912,

914, 916, 918, and 920. And basically it disclose

the beginning of Figure 7.

So in Figure 7, you can see on the top a

topology manager, that's element 300, and that's --

starting with element 902 for Figure 2, that the

gathering phase. Basically, you have receive start

signal with basically element 910 looking up

existing device in the topology database, query

nodes, gather tuples, store tuples in neighbor

database, and gather additional data as requested.

Q. Referring to box 916 of Figure 9, which is

labeled "Create Tuples,” in this operation, the

U!
A. Figure 8 disclose four element; 902, 904,

906, and 908. And basically it disclose the data

gathering phase, tuple building phase, tuple

reduction phase, and topology updating phase.

Q. The tuple manager is responsible for the

data gathering phase; correct?
A. Yes.

MR. MACE: Object to form.
BY MS. GREWAL:

--1m ‘.1m(Ix
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Q. Do you see box 905 -- sorry, 905 labeled as

"tuple building phase"?
A. Yes.

,1 tuple manager creates a new list ofa plurality of
tuples for the topology of the network; correct‘?

A. I don't understand what you're saying.,..,,i
That's not what it says.

Q. What does "create tuples" refer to, then?

A. Create tuples.

MR. MACE: Object to form.
BY MS. GREWAL:

Q. Is it the tuple manager that's creating the

tuples?

A. In element 916, yes.

Q. And I'm referring specifically to box 916.

Q. The tuple manager is responsible for tuple

building phase; correct?
A. Yes.

Q. Please turn to Figure 9 ofthe ’4l 1 patent.
A. Yes.

Q. Do you recognize Figure 9 ofthe '41 1

patent?
A. Yes.

Q. What does Figure 9 disclose?

mg»
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the database.

If you want to understand the network —- in

networking, every network has -— every link has a

neighbor.

And in order to understand the topology,

So in the box 916, the tuple manager

creates a new list oftuples for the topology ofthe
network; is that correct?

A. No. You're trying to take language from

the claim language to the description, and I'm not

re.CA:

-.JChLn sure that's the right way to go.

The description in Figure 7, 8, 9, 10, and

the rest of the diagram describes. in general. the

patent. It's not the claim language. It's, in 2;»4)

you have to understand the neighbors and the

relationships between them.
Q. What is the difference between the data

stored in neighbor data database shown in Figure 7

and the information stored in the topology database

350 also ofFigure 7?

MR. MACE: Object to form.

THE WITNESS: Topology database -- in

general, topology database related to the topology
itself.

Neighbor database related to -- in the

process ofgetting the topology, for every device

you can get information from many different ways,

from routing table, switching table, SNMP, and many

other agents. It can send you the information --

send the device the information to gather the

topology.

And you have to build. In the processing

of building the topology, you have to take a look at

all the information around to build a topology.

general. said about create tuple. It does not talk

here -- for example, does not say here the specific

language that you are using from the claim language.

General description.

Q. If you refer to paragraph -- sorry, to

column 6, lines 51 to 53, do you understand the
patent states:

"Based on this information. the tuple

manager 300 builds 916 tuples and stores

918 them in the 'neighbor data’ database
3 I 0"?

A. Ifthat's what the language says, yes.

Q. Why does the tuple manager store tuples in

the neighbor data database?

A. Because that's what it explains how it

does. It explore -— save information database -- in
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For example, in the neighbor database. you ' database to store tuples?
can have a lot ofinformation many times by 3 A. It can store also tuples, yes.

different agents or by different ports or different " Q. Okay. You had previously described the
formats or different ways to present it. tuple manager performing the operations described in

In the topology database, it's the cleaned, Figure 9. in particular boxes 910 and 916.
final, current topology that include the topology, 5 — Do you recall that, sir?

while the neighbor database does not include all the E ' A. Yes.

topology. 9 Q. Referring to column 6, lines 33 through 39,
BY MS. GREWAL: i which states:

Q. What does the neighbor data database store? 3 ‘ "The tuple manager receives" --
A. The information about the data. i 7 '1» A. 36? Just one --

Q. What data, in particular, Dr. Lavian? ’ " Q. Sorry. Column 6. lines 33 to 39 --
A. It does not disclose the specific, but I Q ‘ I A. Okay.

can give you example. i 7 '3 Q. -- which states:

Ifyou have a switch and the switch i '7 "The tuple manager receives a 910 signal to

connected to some neighbors, the information that E ‘ gather tuple data" --
you gather from the networks -- from the other A ' A. Wait a minute. You are on line 36?
neighbors. Q. No.33.

Q. Ifyou refer to column 6, lines 51 to 53, T i A. 33. Okay, yes.
it reads: Q. Beginning there. column 6, lines 33 --

"Based on this information, the tuple A. Yes.

manager 300 builds 916 tuples and stores . Q. -- to 39. that reads:

918 them in the ‘neighbor data’ database 5 9 "The tuple manager receives a 910 signal to

310." - gather tuple data. The tuple manager then
Do you understand the neighbor data retrieves 912 node information of the
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do you understand that portion of the specification

to provide details regarding how the tuple manager
gathers data?

A. Yes.

Q. And referring back to Figure 9, box 916,

which is labeled as "Create Tuples," do you see
that?

A. Yes.

Q. In this operation, the tuple manager

creates a list of a plurality of tuples for a

topology at that current time; is that correct?

A. That's not what it says. It says "create

tuples."

Q. The operation of create tuples occurs after

the operation query nodes of Figure 9; is that
correct?

A. Yes.

Q. And you just taught us that the gathering

ofinformation pertaining to the network occurs at a
current time; is that correct?

A. In general, when you're gathering

information, all the time you are gathering at the

time that you gather -- that you gather. One second

later, it's the past. And if you will gather two
seconds from now, it will be the new.

current topology stored in the topology
database 350. This information tells the

tuple manager 300 which devices or nodes

are believed to exist in the system based

on the nodes that were detected during a

previous query."
Is that correct, sir?

A. You read correctly.

Q. Box 914 of Figure 9 is labeled as "Query
Nodes"; correct?

A. Yes.

Q. In this operation, the tuple manager

gathers information pertaining to the network at a
current time; is that correct?

A. When you query nodes, always you query at
current time.

Q. Okay. Do you understand column 6, lines 39
to 40, that states:

"The tuple manager 300 then queries 914 the

known nodes to gather the desired
information"?

Do you understand that, sir?

A. Yes, you read it correctly.

Q. Okay. Referring to the lines below in

column 6,just further down, in lines 40 through 51,

M
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THE WITNESS: There can be many different

reasons. You are asking all the communication --

network communications in one question.
BY MS. GREWAL:

Q. Could you give me a few ofthose reasons as

to why the tuple manager would store partial

information that it assembles into a tuple?
A. Yes.

,.
Q. And ifyou -- once gathered. ifyou convert

that gathered information into a tuple, it

represents. from a timing perspective. the data of

that time which pertains to the time the data was

gathered; is that correct?

MR. MACE: Object to form.
THE WITNESS: lfthat's what you did. If

you create a tuple ofthe data. it will create a

tuple ofthe same data. MR. MACE: Object to form.

BY MS. GREWAL: A THE WITNESS: For example, I disconnect the

Q. Turning now to column 6, line 53 to 56. a 3 " 1 cable and connect it to a different place. Simple

little further down, do you understand the patent _ 1 ‘ as it is. The device shutdown.

notes that: l A‘ BY MS. GREWAL:

"Some nodes may have incomplete i 1 4 Q. So what is the benefit. Dr. Lavian. for
information. In this case, the partial . storing this partial information?

information is assembled into a tuple and " A. For example, ifyou --

may be used as a 'hint' to determine its 7‘ " MR. MACE: Object to form.

connectivity later. based on other 3 - THE WITNESS: -- have device and you have

connections." ' " ' its name -- for example. you know device

Did I read that correctly? f specifically MAC address. it's in building one.

A. Yes. fourth floor. sixth room. 902. and the name ofit --
Q. Given _vour experience in network it is whatever name -- you have this information.

communication, can you explain why would the tuple You can save this information. And. for example. if
manager store partial information? , - someone disconnect the cable orjust a power reboot.

MR. MACE: Object to form. ‘ it will save whatever it has. partial information.

-Jm(J?.1»tor._),1 to(X)\lo\L11.:\(n1:‘:
‘L1)\_0no 0
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MR. MACE: Object to form.
BY MS. GREWAL:

Q. Please turn again to Figure 9 of the '41 1

patent. Box 918 is labeled as "Store tuples in

'neighbor data’ database"; correct?

A. In "neighbor database." yes.

Q. The tuples that are stored in the neighbor

data database, are those created in the operation of
box 916? Correct?

A. Just --just to clarifii. 918 says "store

tuples in neighbor database." not in "neighbor data
database."

Q. My apologies.

3 - The tuples that are stored in the neighbor

database, are those created in the operation of box
916? Correct?

1 A. When I'm looking at Figure 9 --

MR. MACE: Object to form.

THE WITNESS: -- in general, Figure 9 show

the process of a gathering -- the data gathering

phase and include, in high level, the process of

get -- getting the data.

This is a constant step. S0 always you

gather information, and always you store

information. Always you get information about them.

BY MS. GREWAL:

Q. Is there -- what is -- what is the benefit

of storing this partial information?

A. I can give you one example, but there are

many different examples.

Q. Sure.

A. For example, ifl know that the device

called something, switch 1 1, you want to save it as

switch 1 1. Why to get the information again?

That's one example. There's many different

i

i
E

i
i

1

i
3

other reasons to do it. {
Q. Referring back to Figure 7 ofthe '41 1 ] 1l

1E
Ii
i

i

2

i

«JonL)!.r\kg){\1w anK)awin.:\Lu[J1»
Oto-‘0tr)(X)
I\toM>-1patent, it also shows what we have mentioned, a

neighbor data database 310; correct‘?
A. Yes.

Q. Do you understand that column 6, lines 20

through 22, states the following:

"The ‘neighbor data‘ database 310 stores

new tuple data built (sic) by the tuple

manager."

MR. MACE: Object to form.
BY MS. GREWAL:

Q. Is that correct?

MR. MACE: Object to form.

THE WITNESS: You read it correctly.

,.
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It's not something that start and ends. So all of
the life of the device, it's constant. All ofthem

are constant steps.
BY MS. GREWAL:

Q. Looking at the flowchart shown in Figure 9,

the tuples that are stored in the neighbor database,

are those that —- in particular step 918, are those

that were created in the operation of box 916 that

precedes box 918; is that correct?

A. That's the flow that shows in the diagram,

Figure 9.

Q. Okay. The neighbor data database 310

stores the list of tuples that represent the

topology ofthe neighbor -— sorry -— ofthe network
at a current time; correct?

A. I'm not sure I understand what you mean by

"the current time," because generally it's not

current and not future and not past.

It generates —- you —— the element 300

receives constant stream of data from many, many
different devices, and it create the information and

save temporarily the data in the 310 database.

Q. The neighbor data database 310 stores a

list of tuples that represent the topology of the
network at a new time; correct?

Page 96

Q. Sure.

A. (Witness_reviewing document.)

Yes, what's your question?
Q. Do you understand that column 6, lines 22

through 24, states:

"The connection calculator 320 processes

4.1

to

l.,i,V .t.\toto19-0to

’C")‘(D(.1)JO‘\U!
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A. It always get the information, and always

you will have new, and always you will have past.

In general, each one the data, you have

timestamp, and you say where this information is

stored. So you can see past, current. It's

always —— you have timestamp to each one of them.

In general, that's what you are doing in the

network -- in networking.

Q. Is it correct to say that the neighbor data

database receives tuple data from the tuple manager
300?

A. Sure.

Q. This means that the neighbor data database

310, Figure 7, receives new tuple data from the

tuple manager 300?

A. Always you will receive streams of them.

Q. Okay.

A. And each one ofthem will have timestamp.

Q. Figure 7 of'4l l -- ofthe '41 I patent also
shows a connection calculator 320; correct‘?

A. Yes. .

Q. Please turn to column 6, lines 22 to 24, of

the '4l1 patent.

Do you understand that --
A. Let me read. Let me read.

Page 97

you have a lot of information, not in -- not

organized generally in -— topologies can be in many
different forms of information. And a connection

calculator look at all the information and generate

a topology.

So, in general, see ifthere is a new‘\J03UV
connection, mark it; ifthere is a new port, mark
it; ifit’s a new device, mark it; if it's the same

device arrive five times, reduce it to five times

the data in the neighbor data database 310

to determine the new network topology"?
A. Yes.

(xix LI.‘

to «.0

C) O

|A_\ asnoIx)l’
Q. What does this mean?

A. It means they always -— you will get new

information, and always you need to calculate the
information and to see if there is differences in

the network.
asLuP)i~=

and show only once.

That's the type ofthe information that's

done in general in the network. That's a

description of Figure 7.

Q. Again, turning to column 6, lines 22 to 24,
that states:

"The connection calculator processes the

data in the neighbor data database to

determine the new network topology."
What does that involve?

MR. MACE: Object to form.

MS. GREWAL: I'll restatement the question.
BY MS. GREWAL:

Q. What does the connection calculator do to

process the data in the neighbor data database?

A. It says -- as it says:

Q. So the connection calculator is receiving
new information and calculates the information to

see if there is a difference in the network?

A. It is very simple. I'm not sure I

understand why you are asking so much -- all of

these questions.

You receive the -- the 300 —- tuple manager
receive stream of information, flux of information,
all times. This information is saved in the

neighbor database.

But here you have —- in the element 310,

l\)l\)l\)i\)l\)l\)I~‘~-~‘--' U1u\tot\)M0L000\.1ON(II I)tn.)toMH‘14I.~ t.1_>+4(I)to00-AonU:
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"The connection calculator 320 processes

the data in the neighbor data database 310

to determine the new network topology."

Simply look at the information. see network

topology.

I can give you one example. It's only one.

Ifthe previous topology you had a

connection and the new topology you don't have a

connection. so you will update the topology to say

this connection is not existed anymore.

Just -— Ijust give one example. Exactly
the same.

If you have a connection that was not --
not existed before and someone added cable from one

switch to another switch. the device will recognize,

you will get in the -- gathering information. you

will get this information. get it -- get this
information to the network data database, and the

connection manager will realize, oh. I have a new

connection and basically add the new connection.

So any change in topology the connection

calculator will recognize and will add the topology.

Q. Which topology is the connection calculator

adding to‘?

A. Topology of the network.

Page 100

for the tuple reduction phase; correct?
A. Yes.

Q. What is left after this tuple reduction

phase?
A. I'm not sure I understand what is left.

You have constant stream of information.

All the time you are getting a lot ofinformation.

Q. So once the connection calculator operates

and provides a tuple reduction, what is the state of
the data that is left?

A. Always receive information in tuple -- in

300, always receive information. It always will

save the new information. It always will clean the

information, always look and see ifthe information

is correct or not, and always reduce the information

to get as clean as possible topology map, and save
at the end of the day what believe the cleanest

topology map in 350.

Q. So sticking with the -- what the connection

calculator is doing —- sorry, the -- yeah, the
connection calculator, you mentioned that it reduces

the information -- you said, "It always will clean

the information, always look and see if the

information is correct or not, and always reduce the

information to get as clean as possible topology

TSG Reporting — Worldwide
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Q. And where does it store that information?

A. The topology ofthe network is stored in

many different places. It start with the neighbor
database. You have some information related to the

topology.

In general, the claim topology is in the

topology database. That's in the end ofthe day.

But in this process, you have a lot of
information -- stream of information that you need

to clean, calculate, and get the correct information

and update if there are any changes.

Q. We were talking particularly, Dr. Lavian,

about the connection calculator processing the data

in the neighborhood -- neighbor data database to

determine the new network topology.

My question is: Where does the connection

calculator store the new network topology that it
determines?

A. It stores the new network topology in the

reduced topology in 320 -- in 330, sorry.

Q. Please turn to Figure 8 ofthe '41 l patent.

Do you see box 906 labeled as the "Tuple
Reduction Phase"?

A. Yes.

Q. The connection calculator is responsible

Page 101

map. save at the end of the day -- save the cleanest

topology map in 350."
Does the connection calculator store a

reduced topology to 350?

A. Let's simplify it. It's very simple.

Let's assume that you have two devices and

they are connected. When they are -- let's assume

that I have only two devices in the network and they

have only one connection between them.
The device —- while the device is

connected. you have keep-alive messages. And

keep-alive messages say. "I'm exist. I exist. I

exist," sent periodically.

And while you get all this information,

this can be, for example, information that get to

the topology manager —- for example, one port of

agent that can get information —— and this

information say, "Oh. I know that switch number 5

connect on port number 3 to switch number I l on port

number 5." Ijust gave one example.

And it's always sending information, "Here

I am; that's my information. Here I am; that's my

information. Here I am; that's my information."

And basically, this information is stored

as keep-alive messages; constantly you know the

26
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connection is connected.

Ifsomeone will connect —- disconnect the

cable and move it to another port. from port 3 to

port I l. the messages from port 3 will not be

anymore connected, and the device -- one ofthe

device says, "Oh, l’m not connected anymore to this

connection," and the other device will say, "Oh, I'm

not connected anymore to this connection." Both

information -- you have two set of information that

will get in the neighbor database.
In the same time, you will get a new port,

who will say, "Oh, I am recognized on different

port. I think they said port I l." And the other

device will say, "Oh. l’m connected, and I think

they said port 5."

So now, from these two pieces of

information ofa new connection, you can know what

is the new connection. From previous two

connections, that port 3 and port 5 are not anymore

connected, you know it's not connected.

And basically, the connection calculator

will take all this information and say, "Simple

point. It was connected to port number 3. and the

connection moved to port number 1 1."

That's the process. You will get a lot of

Page 104

you have some device —- you need to do this simple

understanding: I switch from this port number 3 to

port ll.

And for this, you need some process to do
this calculation.

Q. So the tuple reduction phase results in a

list oftuples being reduced in size; is that
correct?

A. I'm not sure ifthe tuple reduced in size.
You have a lot ofinformation. It's not

important.
Q. The box 906 is labeled "Tuple Reduction

Phase"; is that correct, Dr. Lavian?

I'm sorry, I'm referring to Figure 8.
A. Yes.

Q. Is it fair to say that the tuple reduction

phase results in a list oftuples being reduced in
size?

A. I'm not sure ifit's list oftuples reduced
in size.

You can remove information that's not

relevant. For example, if a switch is not anymore

there, so all the information regarding this switch

can be out of the system; or if the switch to move

to another place, you will get all ofthis

TSG Reporting — Worldwide
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information, maybe thousands ofpieces of 1
information, just for this information. And most of

the time, no changes. Because if no changes, it

just converts -- it show, "Oh, it's the same
information, same information, same information.

Nothing change."

When you will have changes, you will get a

lot of noise. What I mean by "noise," ifwe have

only two ports -- and I intentionally said only two

devices —— that you did only tiny change of moving

Ethernet connection from one port to another port.

immediately I_iust describe at least four separate

messages. And each one of them will appear many
times. And the connection calculator will do the

simple connection -- simple understanding: Switch

was changed from port 3 to port 1 I.

That's all. Simple as is.

Q. Okay.

A. Intentionally I give simple -- the

simplest, I would say, option that you have only two

devices. And all you have done is take one port and

you switch to another port.

If you have network with thousands of

devices and millions ofdatasets and some ~— maybe

billions of pieces ofinformation constantly moving,
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information in a different location.

So basically, it reduce the noise. What I

mean by "noise" -— and what's known -- noise is

something -- it's not so important to the

calculation of the specific port.

Q. So any removal of information will result

in the list oftuples being reduced in size:
correct?

MR. MACE: Object to form.
THE WITNESS: I'm not sure that it's list

of reduced of size. You will have change of
information.

For example, if you know that the port was

connected to port number 3 and it's connected to

port number 5, l’m not sure that you change the size

ofthe list. It might be not. It might be
increased of the size.

For example, if you went from switch with

only two ports and you switch to switch with 20

ports, it might be you will have increased the size.

So I don't know. It depends on the

architecture, depend on the situation, depend on the

specifics of the devices.

Q. This is the last question before we should

probably break for lunch. You may have more stamina
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than the rest in the room.

But what is the reason for the tuple

reduction phase?

A. Ifyou have a lot of information. not all
the information are related.

1 gave the example. 1f we switch --just

for clarification. it's one simple example.

lfl have only two switches, and 1 was

connected on port number 3 and move to port number

5. 1 may get thousands of connections of keep-alive,

keep-alive. keep-alive, keep-alive -— that can be

every -- constantly, every second or every 5
seconds.

And all ofthis information is not

relevant. The only information you want to say.

"Oh. you switched to port number 5," and that's the
new information.

Q. 1s it fair to say at least one example --

or one reason for tuple reduction phase then would

be to remove unnecessary information‘?

A. Yes. absolutely.

MS. GREWAL: Thank you. We should probably
break for lunch.

THE VIDEOGRAPI-IER: The time is 12:38.

We're off the record. '

(Lunch recess taken)
//

//>I>LA)[\)i—‘
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AFTERNOON SESSION 'look for’ phase 930 to ask the tuple manager 300 to

gather additional data."r.)i

THE VIDEOGRAPHER: The time is 1:28. We're §
on the record.

BY MS. GREWAL:

Q. Dr. Lavian. could you please turn back to

Figure 7 ofthe '41] patent.
A. Yes.

Q. As shown in Figure 7. the connection

calculator 320 also communicates with a tuple

manager 300; correct?
A. Yes.

Q. Please turn to column 7, lines 12 through

15, ofthe '4l1 patent.

A. (Witness reviewing document.)
Yes.

Q. Do you understand that column 7. lines 12

<1(SNUV,:\.(A)
1 ~‘C‘)\.o0::

Do you understand the benefits provided by

the look-for phase‘?
A. Yes.

Q. What are they?
A. It's not ~- well. it's not mentioned here.

But if you need more data. you need more data.

Q. Why would you need more data?

A. For example. if you want connectivity to

other devices. one example.

Q. Are there any others?

A. If you need to know more information, you

need to get more data.

Continue —- continue -— continuously in

this paragraph, until paragraph 20 -— line 22. it

talks for -- about shared media. And if you need to

get information about other devices and shared

media, you ask for another example. Sure. Another
device added to the shared media and another device

removed from the shared media. that's one example --

or two examples.

Q. Please turn to column 10, lines 4 through
6.

to 15. state:

"lfclarification of device

connectivity" --
A. Which line?

Q. 12 onwards.

A. Okay.

Q. "If clarification of device connectivity is

required. the connection calculator 320 performs a

Nix)>—\+~.« 1’O:000~_
t\) N

to

M1\31\)ix) 0.:\‘M ,to1\)1\7
()1its Column 10, lines 4 through 6. discusses
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Figure 15.

Do you see that?
A. Let me read.

(Witness reviewing document.)
Yes.

Q. Column 10 states:

"Figure 15 shows a flow chart for the 'look

for‘ phase 930. The purpose of this phase

is to complete missing data for mhhl

tuples."

Can you explain why missing data needs to

be completed for mhhl tuples‘?

.1»4.»to;.

<:_>K0m«.1man
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A. You give me one example ofline 15, and in

this specific you gave two examples.

One, it's not enough memory -- and

basically it's the forwarding table. Ifyou don't

have enough memory in the forwarding table, the

device will be forgotten after a time, but it's

still connected; or the device is quiet, it's still
connected.

That's the -- that's the explanation in

this section. I believe you can think about many

different reasons why to do this type of infor- --
query.tors.)I‘

Q. Looking at lines 12 through 14 of column
10, it states:

"In the look for phase 930, the connection
ca1cu1ator" --

A. Just.

Q. Sorry.
A. 12?

Q. 12 through 14. Still on column 10.

"In the look for phase 930, the connection

calculator 320 instructs the tuple manager

300 to query specific nodes to retrieve the

missing data."

What are the reasons to query specific

A. Ifyou would take a look at the rest of the

explanation. from line 6 to line 15. it gives

several example that -- I will summarize them.

The device is quiet. And ifthe device is I
quiet, it went out ofthe FIFO. the first-in «

lirst—out. or that you don't have enough information i
in the memory and device is phased out. It's still 1
connected. but it's no connection —- but no -- it's i

not active. So you need to have information it's i1
i
l
1I

....,1I ..lmL):
y,J «o

C)KL)

still alive or not.

Q. Do you know any additional reasons why a

connection calculator may need to obtain information

from the tuple manager?

m1:)Mis)1.)I’ .l\-to1~.>w
1*2

......t_W.m_m.......WWWm
Page 12

topology relationships database 330"?

A. That's what it says.

Q. Please turn to line 62 through 65, still of
column 6.

A. (Witness reviewing document.)

Q. Do you understand that column 6, line 62

through 65, states:

"After the data is gathered and the tuples
are stored in the neighbor database 310,

the connection calculator 320 processes the

tuples to reduce them to relationships in

the topology"?
A. That's what it says.

Q. So the connection calculator processes the

data in the neighbor data database 310; correct?

A. Can you please repeat?

Q. The connection calculator processes the

data in the neighbor data database 310; correct?
A. Yes.

Q. The neighbor data database stores a new

list of tuples for the topology of the network;
correct?

A. I'm not sure what you mean by "a new list
of tuples."

Where you got it?

2
I

nodes to retrieve missing data? i

A. Ijust gave you example that it states. two f
lines above in same section. i

For example. if device is -- does not have i

an -— not have traffic but still connected, you want i

to ask, "Are you still alive or not?" One example. E
Or ifit went out of the FIFO, you don't :

have enough -- ifyou don't have enough memory, this i

passage say that it will be out ofthe 113:. And if i
out of the list, you want to say. "You are still 2
there or not?"

Q. Dr. Lavian, would you kindly turn back to i

Figure 7 ofthe '41 1 patent. Figure 7 shows a 3
reduced topology relationship -— relationships r

database 330; correct?

1E
i

i

I

l

lI

\.OCXJ\30‘\Lf|»l>U)l\)l—‘
r- O

E-' 5-‘

|—' l\)

)-—‘ LAJ

I-4 .5.

F-‘ U1

|—-* (53A. Yes.

Q. Please turn to column 6, lines 24 through

26, of the '41 1 patent.
A. What lines?

Q. 24 through 26 of column 6.
A. Mm-hmm.

Q. Do you understand that column 6, lines 20

(sic) through 26, states:
"The connection calculator 320 reduces 906

the tuple data and sends it to the reduced

.4r,)\Ln.4 i—* \I

so }..4 (X)

t\3toIA C)RD N|\J1-1 HOto
N l\) 1\)

K\) (A)

l\J »J>Misl\) U:.n>.toIR}rm‘
I\) U7
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Q. Or a list oftuples which are new as

compared to that which is stored in the existing

database topodb 350?

MR. MACE: Object to form.

THE WITNESS: Always will -— it will

process a new one. Always it will be new. Every
new one will be new.

BY MS. GREWAL:

Q. So you agree that the neighbor data

database stores these new lists oftuples in the --

of the topology?

A. I'm not sure that I understand what you
said.

MR. MACE: Object to form.

THE WITNESS: They basically said, after

the data got there and the tuple are stored in the

neighbor database 310, the connection calculator 310

processes the tuple to reduce them to the

relationship in the topology.

It's clear. It process them and put them

in the database. And always you will have new one.
BY MS. GREWAL:

Q. The connection calculator processes the

data fi‘om the neighbor data database to create a new

tuples list; correct?

Page 116

A. Yes.

Q. Do you also agree that there are tuples

stored in the reduced topology relationships
database?

A. Yes.

Q. So the tuples list provided by the
connection calculator as stored in the reduced

topology relationships database is reduced in size

as compared to the tuples stored in the neighbor
data database 310; correct?

A. No, that's not what it says here.

MR. MACE: Object to form.

THE WITNESS: It says, "Afier the data

gather" --

Basically, you read me the passage in

paragraph 6 -- column 6, paragraph -- starting on
line 11.

I don't know where you got the topology

list. It says about the tuples, not tuple list.

toI0-.Imw

,,..H3_lA,.11 ..imtn,mtoxx.)-4lg)-.<_
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A. Every time that you create, you have a new

tuple. Every time that you get, you have a new.

Always you create new.

Q. The new tuples list provided by the
connection calculator 320 is reduced in size as

compared to the tuples list stored in the neighbor
data database 310; correct?

A. That's not what it says.

MR. MACE: Object to form.

THE WITNESS: It does not talk about tuple

list. It talk after the data got there and tuples.

not tuple list.

Tuples are stored in the neighbor data base

3lO. The connection calculator 320 processes the

tuples. not the tuple list, to reduce them to a

relationship in topology -- in the topology.
BY MS. GREWAL:

Q. So the new tuples provided by the

connection calculator is reduced in size as compared

to the tuples stored in the neighbor data database
310; correct?

A. I'm not sure I understand what you're

asking.

Q. Do you agree that there are tuples stored

in the neighbor data database‘?
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I -- my question -- I'll read it out --

says -- easier to just rephrase that so I can find

my place again.

The new tuples stored in the reduced

topology relationships database by the connection

calculator 320 is reduced in size as compared to the

tuples stored in the neighbor data database 3I0;
correct?

A. No, I disagree.

Q. Why do you disagree?

A. Because you're making up, and you're

putting things that's not correct.

Basically, it says reduce the information.

It does not say about the reduced topology. I'm not

sure where you got the information for the reduced

topology.

You have a lot ofinformation, and you
reduce the information.

I'm not sure where you got it from thisix)w :3K0C0 sentence.

Q. Dr. Lavian, can we re-look at column 6,

line 62 through 65 --
A. Yes.

Q. -- which states:

"After the data is gathered and the tuples

Gather the -- "data is gathered and the

tuples are stored in the neighbor database 310."

It does not say "gather list."
BY MS. GREWAL:

Q. I -- my question does not use "list" in
there.

In) I

I\) IX)

l\) to

t\)E_) anl\

30
TSG Reporting — Worldwide 877—702—958O



Page 118

are stored in the neighbor database 3 IO,

the connection calculator 320 processes the

tuples to reduce them to relationships in

the topology."

Do you see that, sir?
A. Yes.

Q. So the new tuples provided by the

Page 119

here in this passage, it says:

"After the data is gathered and the tuples

are stored in the neighbor -- the neighbor
database 3 I O, the connection calculator 320

processes the tuples to reduce them to

relationship in the topology."

So you have all the information, and from
17.)A .

this information you create relationships.

Q. Are these relationships that you have

processing performed by the connection calculator

320 is reduced in size as compared with the tuples
-‘,0

is
stored in the neighbor data database 310; is that
correct?

A. That's not what it says here.

created reduced in size as compared to the

information in the neighbor database?

A. I'm not sure exactly I understand what you

mean by this.
You have a lot ofinformation received,

constant stream of information. A lot of them are

repetition. And you create the topology. The

topology is basically different format ofthe

information that shows the relationship within the
devices.

So you reduce the amount ofinformation to

get a different format that —— of information that

will be in the topology. It's clear. The tuple --

basically it says —— it's very simple.

After the data is gathered and the tuples

Basically what it does, it takes the amount

of information that you have, and you have

redundancy in the information, redundancy of

information in many different ways, and to getjust
the information that's needed, reduce the -— the
information.

Q. Your answer states basically what it does.

It takes the amount of information that you have,

and you have redundancy in the information.

IfI pause there, could you tell me what

the "it" in your sentence is?

A. I'm not sure what is the "it" in my

,.i,.,
2!ch(J1.r\(Ix)M>4‘

,,, on

M.'.>inmL.)1.;I\ [\7I\)I\)Mtoix)v~ 1;:.r\<A(x)>iC)x3)

>4L":toto~.i(
la;

in

us.

~_!0*:U1

sentence is, but the entire process that you can see

connection calculator 320 processes the tuples to

reduce them to relationship in the topology. So we

change them to represent relationship in the

topology.

To simplify, you have constant stream of
information that are not relevant. If you know that

this constant stream of information that I gave in

the previous example is related to one connection,

if you know that one connection is connected to

another device, over this connection, you will get

constant stream of information. But you are going

to reduce it to the topology.

And that's exactly what this state -— the

sentence you said:

"The connection calculator 320 processes

the tuples to reduce them to relationship
in topology."

Q. Prior to that, in column 6, lines 24

through 26, the '41 l patent states:
"The connection calculator 320 reduces 906

the tuple data and sends it to the reduced

topology relationships database 330."
Is that correct?

A. Again, which line you are reading? I am

trying to following.

TSG Reporting — Worldwide
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are stored in the neighbor database 3 I 0, the

. Column 6 --

. Yes.

. -- still there, but lines 24 through 26.

. Okay.

. It states:

"The connection calculator 320 reduces 906

the tuple data and sends it to the reduced

topology relationships database."

Did I read that correctly?
A. Yes.

Q. So what is being reduced is the tuple data;
is that correct, Dr. Lavian?

A. It says:
"The connection calculator 320 reduced 906

the tuple data and send it to the reduced

topology relationship database."
Q. Correct.

So is it your understanding that what's

being reduced by the connection calculator 320 is

tuple data?
A. Yes.

Q. And this tuple data was stored in the

neighbor data database 310 before the connection
calculator sourced it; is that correct?

A. Yes.
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Q. And after the connection calculator

processes the tuple data to reduce the tuple data.

it stores its output to the relation -- reduced

relationships database: is that correct?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand the

question.
BY MS. GREWAL:

Q. You had agreed with me that the tuple

data -- that -- let me start again. I'm going
to start over.

You had agreed with me that the tuple data

was stored in the neighbor database before the
connection calculator sourced it.

Do you recall that?

A. Yes. That's one way to get information

sourced, yes.

Q. And you also have an understanding that the

connection calculator processes tuple data to reduce

the tuple data; correct?

A. To reduce the tuple data to a topology --

yes, to topology relationship.

Q. It reduces the tuple data -- let me start

again.

The connection calculator reduces the tuple

one information; another one is a different
collection.

I'm not sure what you mean by "improvedH
on.

BY MS. GREWAL:

Q. What is the benefit ofthe topology -- or

list oftuples stored in the reduced topology --

sorry -- the reduced topology relationships
database?

A. I'm not sure ifyou need any benefits. Why

do you need benefits? What type ofbenefits you're

talking about?

I'm not sure I understand your question.

Q. Why would the connection calculator process

the data in the neighbor data database?
A. Because --

MR. MACE: Object to form.
THE WITNESS: Because it has a lot of

information that need to calculate the information

and get the information of the topology. It's

different type of databases.
BY MS. GREWAL:

Q. How are the databases different?
A. Because the -- the one database is the

topology database. The 310 is the topology

TSG Reporting ~ Worldwide

data.

Do you agree with that?
A. Yes.

Q. Once it reduces the tuple data, the

connection calculator sends the reduced tuple data

to the database labeled "Reduced Topology

Relationships 330"; is that correct?
A. Yes.

Q. How does the reduced topology relationships

stored in the reduced topology relationships

database 330 improve on the list oftuples stored in

the neighbor data database 310?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand

your question.

Can you please clarify?
BY MS. GREWAL:

Q. How does the reduced topology relationships

that are stored in the reduced topology

relationships database 330 improve on the list of

tuples stored in the neighbor data database 310?

MR. MACE: Object to form.

THE WITNESS: I'm not sure that they

mean -- what you mean by "improved on"?

It's different. One ofthem is collecting
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database. And the 310 -- and the 310 is the

natural -- the neighbor data database. It's two
different databases.

Q. I'm sorry, I don't think I understand that.

Could you just repeat why the database --
in particular. the neighbor data database 310 and

the reduced topology relationships database 330 are
different?

A. Because the data -- myriad ways that they

are different. But for the 310 is the neighbor data

database, and the 330 is the topology relationship.
It's not the same information.

Q. What is -- what do you mean by -- what is

the neighbor database 310 storing?
A. All kind of information about the -- the

neighbors.

Q. Can you provide a little bit more

information about the neighbors?

What do you mean "neighbors"?

A. Ifyou have device and you want to know the
information about the device, all kind of

information about devices -- how many ports it has,

what time it was gathered, what port -- you can find
a lot ofinformation, thousands of sets of

information that you can get about the neighbors.
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Q. Does it store more than device information?

A. Absolutely.

Q. It stores tuple information as well;
correct?

A. One example, yes.

Q. I was just trying to understand what you

meant, because you said "all kind ofinformation

about the neighbors."

A. For example, the name -- I can give some

examples to clarify. Just the name of the device,
the MAC address of the device, the IP address ofthe

device, the configuration, the type, the size, the

location, space, all kind of information.

Example -— it can be, for example, the

physical location. That's not related to the

topology. Or the bandwidth, it's not related to the

topology.

Q. And the reduced topology relationship
database, that stores different information than the

example you just provided?

MR. MACE: Object to form.
THE WITNESS: It's a different database.

This is the reduced —- 310 is topology information.

310 -— three —- 330 is topology information. 310 is

the neighbor data information.
I
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database exist earlier in time than the information

stored in the reduced topology relationships
database?

MR. MACE: Object to form.
TI-IE WITNESS: I'm not sure I understand

your question.

You always have information gathered, and

always you will get more information to the neighbor

database, and always the same time you will have

information gathered to the tuple manager, and

always you will have information connect —— in the

connection calculator. and always you will have

information in the reduced topology, and always you

will have information in topology converter, and

always you will have information in the topology
database.

What do you mean by "earlier time"?

i,.
C3L0"30‘xiO‘\L1'7

Ix)I‘)

\,jN
,.x 4‘(3KI)ct:

BY MS. GREWAL:

Q. The lists of -- or I'm sorry. The list of

tuples stored in the neighbor data database 310 is

created earlier in time than the tuples stored in

the reduced topology relationship database 330; is
that correct?

A. I'm not sure I understand the question.

What do you mean by "earliest"? What is the list?

I really don't understand your question.
Q. The connection calculator sources the tuple

information fi'om the neighbor data database; is that
correct?

A. Yes.

Q. And that exists in time -- by that I mean.
the information that the connection calculator

sources from the neighbor data database exists

earlier in time than the output of the connection
calculator which would be stored in the reduced

topology relationships database; is that correct?
A. It's not the same information. One ofthem

is topology; one is the information database. It's
not the same information.

Q. Setting aside it's not the same

information, from a temporal standpoint, will the

information that is stored in the neighbor data
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identifier MAC address port specification of device

A in the neighbor data database.

Do you have that, sir?
A. Yes.

Q. That exists in time earlier than a

processed version or reduced version ofdevice A

information as would be reduced by the connection

calculator and stored then in the reduced topology

relationships database?

A. It's depend on the time. It's timestamped.

This will have timestamp. The 310, each element

will have timestamp, and the topology will have

timestamp. You might have information that's done
before, other information done at the same time;
other information can be after and vice versa.

I'm not sure I understand the question.
You will have a lot of sets ofinformation.

Earlier time to what?

BY MS. GREWAL:

Q. I'm comparing time with respect to the
information that exists in the neighbor data
database.

A. Give me example. What specific
information?

Q. A —— device A -- the tuples -— the host

Q. But if you are —- if we are concentrating

on a particular information about a device that

currently is sitting only in the neighbor data

database -- are you with me -- for device A?

A. Ifyou have device A that you set in the

specific time in the neighbor database, okay.

Q. Right.

And the specific information about device A

j...,., LO(D
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includes the host identifier. the interface

information and port specification for device A.

A. This can be one information —- type of

information, yes.

Q. The connection calculator sources that
information about device A --

A. Okay.

Q. -- and reduces that information and stores

it to 330, which is the reduced topology

relationships database. The timestamp of device A.

as it existed in neighbor data database, is earlier

in time than the timestamp ofthe -- of device A as

it exists later in reduced topology relationships
database; is that correct?

A. it's your question. If you -— in your

question, you said that it's done before, it's done

before. It's your question. I'm not sure I

understand you.

If. in your question, do you have data --

some information prior time to some other
information in the other data, it's done before.

So what is the question?

Q. The question is: If there is no other

input into connection calculator about device A --

Are you with me on that?
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calculator 320 -- processes the information about

device A and provides that output with respect to

device A and stores it in the reduced topology

relationships database.
Does that make sense?

A. No.

Q. And why doesn't that make sense?

A. Because in order to create the topology,

you have to get information from more than one

device. Ifyou have only one device and only

information about device port and MAC address. for

example, that identify something from this device,

you don't have any information about the topology.

in order to have any connection, you need

at least two devices and get information of at least
two devices.

Q. Does a tuple have information for one
device or two devices?

A. It depends what you want to do. It depends

what you have in your mind and how exactly it's

compared.
But ifthe -— a connection calculator. it

has information only on one device, it has

information on only one device. its need to create

the connection. You cannot get information for --
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A. No.

Q. So device A information -- connection

calculator only knows the host identifier. interface

information, and port specification as it received

it from the neighborhood data database.

A. l disagree.

Q. l'm giving you an example.

A. No. You said only information -- okay. If

it has only this information?

Q. l'm -- l'm get -- l'm making it discrete.

A. Okay.

Q. l'm saying: Think of device A. We have

stored in neighbor data database the host

identifier. interface information. and port

specification. for example. for device A stored in

3 l0 neighbor data database.

A. Okay.

Q. The connection calculator receives that
information about device A. it receives no other

information from the tuple manager. The only
information connection calculator has about device A

is that which it sourced from neighbor data
database.

A. Okay.

Q. It processes —- "it" being the connection
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only from one device.
It needs to have connection. In order to

create topology, you need at least to have

counterpart to create the link.

Q. So is it your understanding, Dr. Lavian,

that the top- -- the reduced topology relationships

database 330 only stores topological information?
A. No.

Q. Okay. I'm going to add back to my example.

Remember the example that l was using that
had device A information?

A. Yes.

Q. Let's make —— just further that example to
add the fact that device A is connected to device B,

and the neighborhood database also stores the host

identifier, interface information, and the port

specification of device B as well.

A. Okay.

Q. So we have two devices and a purported
connection between. The connection calculator

sources that information from the neighbor data
database 310.

Are you with me so far?
A. Yes.

Q. It processes that information of the two

34
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devices. A and B. and stores the resultant processed

information in the reduced topology relationships
database 330.

A. To simplify your question, ifyou go to

310. two devices. and you have information about
them. the connection calculator will make a

connection. will understand the topology, and will

put the topology in the topology database 320 --
330.

Q. Okay. So your understanding is that the
reduction that the connection calculator is

providing generates a topology. and that's what's
stored in the reduced relationships database 330?

MR. MACE: Object to form.

THE WITNESS: That was your question. This

exactly what is your question.
BY MS. GREWAL:

Q. My question was: Data of devices A and B

that's stored in the neighborhood data database is

sourced by the connection calculator so it can

process that data. The resultant output of the

processing ofthe connection calculator -- that

data -- the output data is then stored in the

reduced topology relationships database.
A. Yes.  
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So you have the calculate -- the time of

collecting the information; you have the time of

processing the information. In general, you will
have timestamp of both.

Q. Okay. And what is -- what timestamp is

stored in the reduced topology relationships
database?

A. In general, in the industry, you will have
the time that the information was collected for each

one ofthem, and you will have the timestamp ofthe

time that was calculated. In general, it would be

close enough, but sometimes it can be after.

Q. Okay. You have Figure 7 in front ofyou,
sir.

The topology converter 340 receives the

reduced tuples list from the reduced topology

relationships database 330; is that correct?

A. That's not what is specifically in the

list. It's not talking the list.

Just to clarify, Figure 7 has a list -- an

arrow between the reduced topology relationship to

the topology converter.

It does not say anything about list in this
table.

Q. So a dataset or data is different than a

Ix)l\)l\)tol\)t-~’ -B(A)IR?I»Ji’,.7KOCU
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Q. The timestamp of what is stored in the

reduced topology relationship -— relationships

database with respect to device A and B data is

going to be at a later date -- date stamp than -— or

timestamp than the timestamp ofdevice A and B as

stored in the neighbor data database; is that
correct?

A. Idisagree.

Q. Why?

A. Simple. When you have a network, you

always say what the timestamp ofthe time of
measurement.

Q. Okay.

A. If it's -— you've done it three minutes

later. but you will process the time ofthe
measurement time.

Q. Okay. So the —- so the timestamp of

devices A and B in the neighbor data database 310 is

going to be the same timestamp for devices A and B

in the reduced topology relationships database 330?

A. I think that you are mixing information
here.

In the topology database. what -- I can

tell you what makes sense in the industry. what is

common in the industry.
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list; is that correct?

MR. MACE: Object to form.

THE WITNESS: It depends. I'm not sure

that I understand what is your question.
BY MS. GREWAL:

Q. My question is -— you take umbrage with the

use of my word "list" -- what does list mean to you

with respect to just a dataset?
A. I'm not sure I understand your question.

Ifl am looking at Figure 7, I don't see
the word "list" at all.

So what do you mean by "list"?

Q. The topology converter 340 receives reduced

tuples from the reduced --
A. Where do you read? Where do you read?

Q. I'm not reading from anywhere.

I'm looking at Figure 7 and asking if it's

your understanding whether the topology converter

340 receives the reduced tuples from the reduced

topology relationships database 330. Is that
correct?

A. It is gathering information from reduced

topology relationship, yes.
Q. And the topology converter 340 does not

receive the tuples that are stored in the neighbor
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data database 310: is that correct?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand

your question. What do you mean by this?
BY MS. GREWAL:

Q. You have Figure 7 in front ofyou,
Dr. Lavian?

A. Yes.

Q. I'm merely asking whether or not the

topology converter 340 receives -- let me start that

question over.

The topology converter 340 does not receive

the tuples that are stored in the neighbor data
database 310; correct?

MR. MACE: Object to form.

THE WITNESS: Diagram 7 shows -- Figure 7
shows connection between element 330 to -— 340 does

not show direct information -- direct connection

between element 3 l0 to 340.

BY MS. GREWAL:

Q. Thank you.

Please turn again to Figure 8 of’4l 1.

Do you see the box 908 labeled as "Topology

Updating Phase"?
A. Yes.

(T3)torm~11owU1-|\t
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Q. And what are the benefits of the topology

updating phase?

MR. MACE: Object to form.
THE WITNESS: I'm not sure l understand

what you mean by this.

You want to update the information.
BY MS. GREWAL:

Q. And what is the benefit ofthe update --

what is the benefit of working with updated
information‘?

MR. MACE; Object to "form.
THE WITNESS: The benefits of updating --

..~.»tor'\>I»if)toI,’
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Q. The topology converter is responsible for

the topology updating phase; correct?
A. Yes.

Q. What happens during the topology updating

phase. Dr. Lavian?

A. You have updates to topology in several
levels.

One of them. it’s in the temporary reduced

topology that basically connector —- calculator a

convention -- a connection calculator do update to

the topology —- to the use topology relationship
database in 330.

And you can have other updates on 340 when

it send information to 350. So always you have

updates -- constant updates to the network, constant
stream of information, and constant —- the constant

updates of all the elements. The neighbor database

have constant update, connection calculator constant

update. reduced topology constant update. connect --

topology converter constant update, and topology

database constant update.

Always you get more information. and always

you update. More likely. most times. it is same

information. But ifyou have any changes, you will

see the updates.
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Q. Column 11, lines 18 to 23. state:

''It then compares 936 the list from the

topology currently stored in the topology

database 350 with the new list generated by
the connection calculator 320 and discards

936 identical tuples in what is also

referred to as the 'discard duplicates’

phase 936."

"It" corresponds to the topology converter
340; correct?

A. Can you please repeat -- what do you

mean -- what is the question? What is the question?toix)1»
Q. "It" corresponds to the topology converter

340; correct?

I started reading from lines 18, that

begins:

''It then compares 936 the list from the

topology currently stored in the topology

database with the new list generated by the
connection calculator 320 and discards 936

identical tuples in what is also referred

to as the 'discard duplicates’ phase 936."

'’It'’ corresponds to the topology converter
340; correct?

A. Yes.

l

l
i
l

i
i

i
working with updated information, to know what is g

the state ofthe topology ofthe network. lfthe
network changed, you need to get the updated

E

l

l
l

>l’\.

‘4<
information to know if it changed.
BY MS. GREWAL:

Q. Dr. Lavian, could you please turn to column

11, lines 18 through 23.
A. What line? 11 to --

Q. Column 11, 18 through 23.
A. Let me read it.

Q. Sure.

I....._ 4owL):
+4r kt)on\.ro\(sr.

to\>rA —‘OU)Go
ri><OJI‘)t4‘C)

A. (Witness reviewing document.)
Yes.

r\)l\)I\)l\) ()1istot\) I\)Ix)Ix)(x)P.)0.)>=
()1
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Q. And the connection calculator 320 generates

the tuples stored in the reduced topology

relationship database 330; correct?

A. Can you please repeat?

Q. The connection calculator 320 generates the

tuples stored in the reduced topology relationships
database 330; correct?

A. Yes.

Q. Let's understand the details of how the

reduction of the topology stored in the reduced

topology relationship database happens.

Could you please turn to column 6, line 65

through 67, ofthe '41 l patent.

A. Again, line and column?

Q. Sure. Column 6, lines 65 through 67.

A. (Witness reviewing document.)
Yes.

Q. Do you understand that column 6, line 65

through 67, states:

"Figure l0 shows a flow chart ofthe

process of the connection calculator 320,

as shown generally in the reduction step
906."

Correct?

A. You read it correctly, yes.

29 to 35, ofthe '41 l patent.
A. 29 to?

Q. 35.
It states --

A. Let me read it.

Q. Sure.

A. (Witness reviewing document.)

Yes, what's the question?

Q. Do you understand that column 7, lines 29
to 35, states:

"The connection calculator 320 looks

through the tuple list in the neighbor

database 3 l O, and for each tuple 402, the
connection calculator 320 determines 404

‘KOCD
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Q. Please turn to column 6. line 67. through

column 7. lines 3. of the '41 l patent.

A. (Witness reviewing document.)

What's the question?

Q. Do you understand that column 6. line 67.

through column 7. lines 3, states:

"The connection calculator 320 performs a

first weeding phase 922 to identify

singly-heard hosts to distinguish them from
multi-heard hosts."

Correct?

A. Yes.

Q. Can you articulate a benefit provided by

the first weeding process?

A. I'm not sure I understand what type of

benefits you want to achieve from here, but you have

shared media or not shared media. and you need to

get the information direction connection or shared
media.

Q. So with respect to shared media or direct

connection. what is the benefit provided by the

first weeding phase?

A. You don't want to have redundancy ofthe
same information.

Q. Dr. Lavian. please turn to column 7. lines

A. Are you reading somewhere? I'm not sure.

Q. It's a question.

A. So what exactly is the question?
Q. The connection calculator, therefore, makes

a determination with respect to the data in the

neighbor data database 310; correct?
A. Yes.

Q. Their neighbor database 310 stores a list

of current tuples; correct?
MR. MACE: Object to form.
THE WITNESS: It stores a lot of

information about the neighbor data.
BY MS. GREWAL:

Q. The neighbor database 310 stores a list of4

~JON()1.. current tuples; correct?

MR. MACE: Object to form.

whether the tuple is a connector-to-host

(conn-to-host) link tuple. lfit is not a
conn-to-host link, the connection THE WITNESS: It collect -— it stores

calculator 320 concludes 418 that it is a information about -- in the neighbor datas include

conn—to—conn link and processes 402 the r " ‘ tuples, yes.

next tuple." % ‘ BY MS. GREWAL:

Is that correct? Q. More particularly, the neighbor data

M,._r,.4 C.)\O1.0

N)l\)[Ul\)l\) Ur.I\(A)l\)V4
A. You read it correctly.

Q. The connection calculator, therefore, makes

a termination with respect to data in the neighbor
database 3 l 0; correct?

TSG Reporting — Worldwide

database 310 stores a list of tuples; correct?

A. It may, yes.

Q. The connection calculator 320, therefore,

processes tuples in a list; correct?
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A. I am confused with your question.

Can you please clarify your question?

Q. Sure.
The connection calculator 320, therefore --

A. Are you referring to specifically al

paragraph you are reading or something different?

Q. I had read the portions of column 7

starting at lines 29 to 35, and these are based on
that.

A. Okay.

Q. So ifyou want to review that again -- orI

can read that again -- you can see -- I'll read at
least the first sentence.

"The connection calculator 320 looks

through the tuple list in the neighbor

database 310, and for each tuple 402, the
connection calculator 320 determines

whether the tuple is a connector-to-host

(conn-to—host) link tuple."

Do you see that?
A. Yes.

Q. And you had just agreed with me that the

neighbor database 3 I 0 stores a list of tuples.

My next question is: The connection

calculator 320, therefore, processes tuples in the
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address in port number 7. you don't hear the MAC on

port number 7; you hear them in port number 8 now.

That's an example ofa conflict.

Many other examples existed. Ijust gave
one.

Q. Thank you.

So identifying conflicts among devices in a

network is important; correct?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand

what you mean by "identifying a conflict." I'm not

sure what you ask.

What's your question‘?
BY MS. GREWAL:

Q. My question is: Taking also the example

that you just shared of, as you paraphrased. shared
media example. where the port had been changed and.
therefore, a conflict existed --

A. Okay.

Q. -- it's important to identify conflicts

among devices in a network such as the one example

you gave us: correct?

A. What do you mean by --

MR. MACE: Object to form.

THE WITNESS: -- "important"? Important to

TSG Reporting — Worldwide

I\.)I!)I\)(‘Q Ln.n4,.)to

list; correct?
A. No.

Q. The list stored in —- I'll start again.
The connection calculator 320. therefore.

processes tuples in the tuples lists stored in the

neighbor data database 320?

A. That's one example from the section that

you read. yes.

Q. Okay. Dr. Lavian. please turn to column 7,

60 -- line 60 to 61. ofthe '41 l patent.
A. 60 to when?

Q. Just 60 to 61 --

A. Okay.

Q. -- which states:

"The first weeding process also attempts to

identify conflicts."
Correct?

A. Yes.

Q. Can you describe what type of conflict the

first weeding process attempts to identify?

A. The first weeding process is related to a

shared media. And conflict might be that you remove

a computer from one port and you put it in different
pOI’t.

For example. you have a specific MAC
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what? To whom it's important?
BY MS. GREWAL:

Q. To the network topology, perhaps.

A. Some -- some are important and some not.

You can -- for example, if I switch my

computer from one point to another point. it might

not be important.

Important to whom? Might be --
BY MS. GREWAL:

Q. For the '41 I patent. is that -- is

identifying conflicts among devices in a network
important or not?

MR. MACE: Object to form.

THE WITNESS: Define what you mean by

"important." Important to what?

If I switch connection from one port to

another port, I'm not sure if it is important --

important or not.
BY MS. GREWAL:

Q. D1‘. Lavian, why would the first weeding

process attempt to identify conflicts?

A. Ifyou are taking -- ifyou are taking, for

example -- ifyou know on the shared media that you

have four computers, and now you don't see one of
them. it's a conflict. You have on the list four,

38
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and now you can see only three. That's one example
to conflict.

Alternative conflict. that you know that

you have four. and now you can see the fifth. and

Page 151

MS. GREWAL: Okay. I think we need to take

a break to change the tape.
THE VIDEOGRAPHER: This marks the end of

Disc 2. Volume I. in the deposition of Dr. Tal

you want to check what the meaning of the conflict. 7 Lavian.

It might be moved from a different place. ' The time is 2:37. We're off the record.
For example -- Ijust gave one example. but (Recess taken)

there are many different. In computer science and

network communications or network device. you can

have many events. I ‘ ” Lavian.

Q. And the '41 I patent uses a first weeding 4' The time is 2:58. We're on the record.

process to at least attempt to identify these; is BY MS. GREWAL:
that correct‘? Q. Dr. Lavian, just before the break we were

MR. MACE: Object to form. discussing line 61 through 66 of column 7.

THE WITNESS: You're getting -— the '41] Do you understand that column --

patent -- the specific section that you discussed A. Let me go through.

related specifically to -— let's put it this way. Q. 61 through 66.

In the section that you read. you A. (Witness reviewing document.)

specifically referred to a shared media. and the Yes.

specific shared media -— the specific packet -- V " Q. It states:
section that you mentioned talked about some changes 3 "If other connectors hear the hosts as a
can be in the network. singly-heard host" --

Adding -- simple way to look at this is A. Where exactly are you reading‘?

adding or moving devise. That's one example. Many Q. Column 7. line 61. It begins:

different ways you can take a look at this. "If other connectors hear the host as a

muon-i
ofDisc 3, Volume I. in the deposition ofDr. Tal
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resolved. It's related to this port or this port.
BY MS. GREWAL:

Q. Could you please turn to lines 4 through 7

of the same column 7 ofthe '41 I patent.
A. Yes.

Q. Do you understand that column 7, lines 4

through 7, state:
"The connection calculator 320 then

performs an infrastructure-building phase
924 to remove redundant

connector-to—connector links and to

complete the details for partial tuples

that are missing information."
Correct?

A. Yes.

Q. Can you articulate a benefit provided by

the infrastructure-building phase?

MR. MACE: Object to form.

THE WITNESS: I'm not sure what type of

benefits you want to make —— to get.
BY MS. GREWAL:

Q. Can you think of any benefit?

A. Yes. You want to get the correct data.

Q. Any other benefits?

A. Ifyou have old devices that's not

singly-heard host, then a conflict arises

and the tuple is classified 4l0 as a

singly-heard conflict -- conflict link

(shcl) tuple to be resolved later."

What does it mean for the tuple to be
classified?

A. Basically, what I can see here, ifother
connection hear the host in a single -— single-heard

host. then a conflict arised (sic) in the tuple

classified 4l 0, a single-heard conflict.

So ifit's single host. it's mean that it

is a direct connection. You cannot -— nobody else
should hear it, and this is a conflict.

Q. But what does it mean for a tuple to be
classified?

A. They class -- in this --

MR. MACE: Object to form.

THE WITNESS: -- patent, they classify the

type of the links.

And the main point is. ifyou have a switch

and you have a computer connected to the switch -- a

computer connected and you know it's only one

computer, it should be heard only one place. You

cannot hear it in two places. It means that you

have a problem. You have conflict need to be

<1‘)
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connected. remove it.

Q. As discussed earlier, the connection
calculator 320 receives information from the

neighbor data database 310 shown in Figure 7;
correct?

A. Is this a new question?

Q. It is.

A. So I'm looking at Figure 7.

What's the specific question?

Q. As discussed earlier, the connection
calculator 320 receives information from the

neighbor data database 3 I0 shown in Figure 7;

»f>-(A3I.1

C’)KOII‘)‘VJrimUs
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MR. MACE: Object to form.

THE WITNESS: I don't see this stage in

this pictures, but in general. connection calculator
reduce the information. You have a lot of

information in 310, and the connection calculator in

general needs to get only the relevant information.
BY MS. GREWAL:

Q. Dr. Lavian, could you kindly turn to column

8. lines 4 through 7. ofthe '41 1 patent?
A. Let me read it.

Q. Sure.

A. (Witness reviewing document.)(A)D)IA‘
Yes. Your question?

Q. Do you understand that column 8, lines 4

through 7, states:

"Figures 12a through d show a How chart of

the infrastructure building phase 924 of

the connection calculator 320. The purpose

correct?

A. Yes.

Q. Because the connection calculator 320 needs
to remove redundant connector-to-connector links,

the tuple information received from the neighbor

)\ .I\. in(A)ix)t‘
(N

450Jr,\\,in
6‘:

sasintoI»<5K0
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data database 3 I O has redundant information;
correct‘?

A. Yes.

Q. Is -- is the -- sorry. Let me start again.

Is it, therefore, accurate to say that the

infiastructure-building phase performed by the
connection calculator 320 reduces information

received from the neighbor data database 310?

ofthe infrastructure building phase 924 is

to determine how the connectors are set up
in the network."

Correct?

A. You read it correctly. yes.

Q. Is it your understanding that determining

how connectors are set up in a network is important?

Page 156

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand

your question. ‘

What do you mean by "is it important"?

Important to what?
BY MS. GREWAL:

Q. Why would a system determine how the

connectors are set up?

A. Because you want to create the topology

Q. Are there any particular benefits of

determining how the connectors are set up?

MR. MACE: Object to form.

THE WITNESS: Can you please explain to me

what you mean by "benefits"?
You several times said "benefits."

It will not benefit me to reduce my weight.
It's not related.

Benefit to what?

BY MS. GREWAL:

Q. The benefit of the invention ofthe '41 I
patent.

A. Well, what do you mean by "benefit"?

0LoC0.1ow(,2!»ht:-E
u!cwU:asinIx)1»
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some guidance to see if there is a particular

benefit of each and every one of the steps.

A. I'm not sure I understand what you mean by

"benefit," but basically, as far as I can see here,

is explanation how it's done. And the purpose of

reducing the information in order to get the

topology, that's all.

I'm not sure still I understand what type

of benefits you're looking for.

Q. Could you please turn to line 7 through 13,

still in column 8, ofthe '41] patent.

A. (Witness reviewing document.)

Is there any question on the table?

Q. Are you done reading? Sorry.

Do you understand that column 8, lines 7

through I3, states:

"The first part of the infrastructure

building phase 924 manufactures tuples

based on the list of singly-heard host link

tuples identified in the first weeding

phase 922. The purpose is to identify the

relationship between the connectors in theInIx):4’
extra host link -- links tuples and the

connectors directly connected to the

singly—heard host."

Q. There's a particular reason the patent

flowcharts take us through the difference phases.

Given your expertise, I'm looking to get

Ix)i\>ix){x1!\>toI‘
U7.L\
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Correct?

A. You read it correctly.

Q. Based on your experience, why is it -- or

what is the benefit to identify the relationships
between the connectors described in column 8, lines
7 to 13?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand

what —- the question.

What is the question?
BY MS. GREWAL:

Q. Based on your experience, why would the

infrastructure building phase 924 identify the

relationships between the connectors in the extra

host links tuples and the connectors directly

connected to the singly-heard hosts?

A. Because you need to find the topology.

Q. Is the topology more accurate with this
level ofidentification?

A. I'm not sure I understand what you mean by
"accurate."

But ifyou have a host that's connected

directly, you want to find the connection. That's

the way to find it.

Q. Please turn to column 8, line 60 to 62, of

x..
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Q. Wejust read column 8, line 60 to 62. I'm l

referring to the same lines.

So is it accurate to say that the tuples
mentioned at column 8, line 60 to 62, may not have I

complete data? i
A. What do you mean by "complete data"?
Q. Column 8, line 60 to 62, states:

"After processing all of the connl tuples, I

the connection calculator processes 444
each connl-to-conn2 links tuple to ensure E
that they have complete port data." I

A. Yes. J
Q. My question, Dr. Lavian, is: Is it

i
I

I
I

lI
l

lI

l
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U)
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accurate to say that the tuples mentioned in column

8, line 60 to 62, may not have complete data?

A. It may and may not. In some cases, it may

have all the tuples for all the ports. That's

one -- may be one list. In another list, you can

have not all the ports available or not all the
information.

I'm not sure I understand what is the

question.

Q. So -- that's merely my question.

So it is accurate to say that the tuples

mentioned at 8 -— column 8, line 60 to 62, may not

TSG Reporting — Worldwide

Page 159

the '4ll patent.

A. (Witness reviewing document.)

What is the question?

Q. Do you understand that column 8, line 60 to
62, states:

"After processing all ofthe connl tuples,

the connection calculator 320 processes 444

each connl-to-conn2 links tuple to ensure

that they have complete port data."
Correct?

A. Yes.

Q. Is it accurate to say that the connection

calculator processes tuples?
A. Yes.

Q. And those tuples are received from the

neighbor data database 310 shown in Figure 7;
correct?

A. Including from it, yes.

(Reporter clarification)
THE WITNESS: Including from the 3I0.

BY MS. GREWAL:

Q. Is it accurate to say that the tuples

mentioned at column 8, line 60 to 62, may not have

complete data?

A. You're confusing me. In what line?

Page 161

have complete data; correct‘?

MR. MACE: Object to form.

THE WITNESS: They may have the complete

data that they have, but not all the port data that

they needed.
BY MS. GREWAL:

Q. The tuples are, therefore, deficient at

least to some degree; correct?

A. What do you mean by "deficient at least at

some degree"?

Q. Column 8, line 60 to 62, mentions to ensure

that they have complete port data. The implication

is that, as you stated, there may be some tuples

that may not have complete port data.

A. It might be that you have information of

four ports and you have information only on three.

So it's not complete.

Q. That's correct. So the tuples are,

therefore, deficient, at least to some point;
correct? ’

MR. MACE: Object to form.

THE WITNESS: No, I'm not sure what you

mean by "the tuples are, therefore, deficient."

Deficient of what? What is the question?
//
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BY MS. GREWAL: what is the question.

Q. They're missing information for that fourth 7‘ BY MS. GREWAL:
port. 5 Q. I'll repeat my question.

MR. MACE: Object to form. - The connection calculator 320. therefore.

THE WITNESS: It's possible. 7 updates the tuple data; correct‘?
BY MS. GREWAL: 7 MR. MACE: Object to form.

Q. Okay. THE WITNESS: Can you please ask a proper

A. It's possible they have information, and question? I am little bit confused with the types

it's possible not. ofthe questions you are asking me. You are reading

Q. That's fine. a section, and I'm not sure what -- what is the
Please turn now to column 8, line 67, question?

through column 9, lines 2, ofthe '41 I patent. BY MS. GREWAL:

A. (Witness reviewing document.) Q. Ijust read the lines 67 on column 8

Yes, what's your question? through column 9, lines 2, where it states:

Q. Do you understand column 8, line 67, "lfconn2 does hear the host, then the

through column 9, lines 2, to state: connection calculator 320 completes the
"If conn2 does hear the host, then the missing port data for connector conn2."

connection calculator 320 completes the Correct?

missing port data for conn2." A. You misread it. For conn2, yes.
Correct? Q. My question is: Based on what ljust read,

A. You read it correctly, yes. the connection calculator 320, therefore. completes

Q. The connection calculator 320, therefore, the tuple data with respect to port data for conn2;

updates the tuple data; correct? is that correct?

MR. MACE: Object to form. A. If it's missing information and it's hear
THE WITNESS: I'm not sure I understand the information, it's completes the data. yes.

.l[..\
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A. I disagree.

Q. But you do agree that the connection

calculator provides the missing information, based

on what I read with respect to column 8, line 67

through --

A. No, I disagree.

Q. And why do you disagree?

A. Because ifit's not exist -- basically it

says very simple. You are making it up. If--

sorry about -- sorry.

It says:
"If connect -- If conn2 does not hear the

host, then the connector calculate -- the

connection calculator 320 completes the

missing port data for connection2."
It does not hear -- does not hear one --

hear on it different place, it's adding information.

It's very simple.

You have -- I will give simple example.

It does not hear something on port number 4

and you can hear it on port number 7, so it's not

deficiency. Itjust missing from port number 4 and

exist on port number 7, and just switch the
information. It's not any deficiency.

I'm not sure what deficiency you're talking

Q. Prior to the connection calculator 320

completing or providing the missing port data for

conn2, the conn2 data was deficient with respect to

the missing port data; correct?

A. I'm not sure I understand what you mean by

"deficient port data."

Basically, it's very simple, and you're

just adding complexity. And I don't understand the

question. That's basically not form a simple

question.

If you have data, that it does not existed

on one port and existed on different port -— it does

not exist on one port and another -- exist on a

different port. Why you are calling deficient?
Q. Wha --

A. Itjust move. It --

Q. What does the word "missing" to you,
Dr. Lavian?

A. Ifinformation is missing on one and it

exist on the other, you have to complete the

information. Say it's not on port number 5, it's on

port number 6.

Q. That's what I mean by "deficient." If it's

missing something, it completes it, and that's a

state of deficiency, when you miss something.

(3tooo-J03(J!.I\tota)1-1
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about.

Q. What does the word "missing" mean there?

A. Ifthe information is not on one port and

it existed on different port. it means that it's --

basically, as it states. it does not hear the host

on one port and it hear it on different port.

Q. The only port that is described in what I

havejust read is related to conn2. There is no

swapping or -— the lines I read, which states:
"Ifconn2 does hear the host. then the

connection calculator 320 completes the

missing port data for conn2."

A. It is very simple. You have a connector
2 -_

Q. Uh-huh.

A. -- that it has two ports. And two ports --

you don't hear the information on one port. You

hear it on different port. So you know that the

information move from one point to the other point.

lfyou will look at the continuation on the

same passage related to picture —— Figure 6, you can

see Figure 6 -- basically, it talks about, for

example, element 171 that has connection to element

172. It does not hear it on 162 until it get on
161.

phase is performed by the connection calculator?

A. Because that's the explanation in the
patent.

Q. As someone with your experience, what would

be the benefit to resolve the conflicting reports of

singly-heard hosts?

A. In this specifically point -- specifically

it says that singly-heard host refer to

host-to-device connection directly to the connector.

Basically, in simple term, is your computer

is connected directly to the port on this table;

it's connected to a port 17 on switch-something on

this wiring closet on this floor. So basically it's

one connection, one—to—one. That's a single host.

And basically, it's -- it will hear -- the switch

will hear the switch in one point.
I'm not sure I understand what the

complexity here, what's the issue here.

Q. Could you please turn to column 9, lines 19

through 22, of the '41 1 patent.
A. Column 9?

Q. Column 9, lines 19 through 22.

A. (Witness reviewing document.)

Yes. What's the question?

Q. So column 9, line 19 through 22, states:
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Simple as is. lt does not hear it on one,

hear it on the second. and complete the information.

Practical level, you have a guide in the

wiring room, take the port, and switch the port --
the different connections. That's all. You connect

the connector -- take your laptop, you connect to

this port. or you connect to different port.

Very simple. I'm not sure why the

questions are not simple.

Q. So ifyou turn now to column 7, line 7

through 10, ofthe '41 1 patent --
A. Column 7, lines?

Q. 7 through 10. And we are referring to

Figure 10.

A. (Witness reviewing document.)
Yes, 1 read it.

Q. So you understand column 7, line 7 through
10, states:

"Then,, the connection calculator 320

performs a second weeding phase 926 to

resolve conflicting reports of singly-heard
hosts."

Correct‘?

A. You read it correctly.

Q. Can you articulate why a second weeding

"Figure 13 then shows a flow chart of the

second weeding phase 926. The purpose of

the second weeding phase 926 is to attempt

to resolve conflicts involving singly-heard

hosts identified in the first weeding phase
922."

Correct?

A. You read it correctly.

Q. Can you describe what types of conflicts

are experienced by singly-heard hosts?

A. I explained it several times. You're

asking the same question.

Q. Could you kindly answer my question --
A. Yes.

Q. -- Dr. Lavian?

A. If -— if you have connection that connected

to one port and it's switched to another port, it

will be heard on different port, and you have to

resolve the conflict. The same port cannot be on

two different -- if it's single, it cannot be on
two.

If, for example it's appear on two, it's a

problem. You need to find which of them is correct.

That's one example.

Q. Further, in column 9, lines 24 to 27 --
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A. What is the question?
Q. -- column 9. lines 24 to 27._ states:

"The second weeding phase 926 reviews the

tuples created during the infrastructure

building—phase 924 involving the connector

and host in question and attempts to

disprove the reported conflict."

Based on your network experience. can you

explain why the connection calculator would disprove

the reported conflict?

A. Sure. It says the line above. that you

have two switches. for example. get that they hear

port -— one device. It cannot be. It can be here

or here. If both ofthem are single—hearded (sic).

it's mean that there can be one. If you have two
conflicted information, one of them is old. One of

them is old. and one ofthem is not correct. You

need to check what is the actual topology, not was

the topology two minutes ago.

Q. Ifyou could kindly turn to column 7. lines

10 to 12. and referring to Figure 10.

A. (Witness reviewing document.)

What is question -- what the question?

Q. So referring to lines 10 through l2 of
column 7. which states:
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connector-to-host links. the tuple information

received from the neighbor data database 310 must
have redundant information; correct?

A. It is a lot of redundant information.

MR. MACE: Object to form.
BY MS. GREWAL:

Q. Is it, therefore. accurate to say that the

noise reduction phase performed by the connection
calculator 320 reduces information received from the

neighbor data database 3 I 0?

A. I'm not sure I understand the questions.
I'm not sure I understand the entire line of

questions that you're asking. It does not make
sense. the questions themselves.

Q. Do you have an answer for my question.
Dr. Lavian?

A. Yes, ask a reasonable question, I will be

happy to answer.

Q. My question, again. is: It is, therefore,

accurate to say that the noise reduction phase

performed by the connection calculator 320 reduces
information received from the neighbor data database
310?

MR. MACE: Object to form.
THE WITNESS: I am not sure I understand
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"The connection calculator 320 then

performs a noise reduction phase 928 to

remove redundant neighbor information for
connector-to-host links."

Can you articulate a benefit provided by

this noise reduction phase?

A. I'm not sure what you mean by "benefits."

Q. Why would the connection calculator perform

a noise reduction phase?

A. Ifyou have a million information about one
device and you need only one information about the

device. why do you want the other million? You need

only one connection. that it's still connected.

Q. Can you explain what the neighbor --

redundant neighbor information would be‘?

A. Ifyou have the same information appear,

for example. by the neighbors. it's appears -- the

switch will say which information appear on which

port. and you will see the other switches. if they

have the same information or not. Ifthey have the

same information. they will remove it. Ifthey

don't have. they will tell, "I don't have it."

That's the way to build a topology.
Q. Because the connection calculator 320 needs

to remove redundant neighbor information for
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the question. The question doesn't make sense.
BY MS. GREWAL:

Q. Based on your years of expertise in network

connectivity. you don't understand my question?

A. No. you don't have a good question -- you

don't have questions that I can understand it.

I explained the process very simple how

it's done. You're asking questions does not make
sense.

Q. Dr. Lavian, we're walking down the

flowchart ofthe connection calculator processing.

Do you understand --

A. No. You arejumping -- you arejumping

around the spec from one column to another column.

from one section to another section. taking places

from different diagrams, different places. and you

are asking questions that does not make sense.

I explained, in very simple terms, how it's

done. Connection —— connect to your computer to one

port -- if you move the port and you connect from
different room or connect —— now the switch will

say, "Oh, I know it does not exist anymore on this

port." and another switch will say, "Oh, I recognize

on this port."

And you have a lot of data available there.
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Reduction ofthe information and getting the right the '4ll patent.

topology, the new topology. Q A. Now we are in different place, yes?
l have no idea what you are asking. Your X ‘ Q. Yes.

questions don't make sense. i A. Where exactly‘?
Q. Dr. Lavian -- sorry, are you finished? V Q. Column 9, lines 39 to 42.

A. Yes. i ‘ A. (Witness reviewing document.)

Q. I am walking down the flowchart ofFigure Yes, what's the question?

10. and to -- to do that. 1 am looking at the Q. So lines 39 to 40 ofcolumn 9 state:

specification and what it teaches about each ofthe "Figure l4 shows a flow chart ofthe noise

steps. And I'm presenting coherently all the reduction phase 928."

information the specification provides for each of I'm going to pause for a moment. We were

the steps. ‘ 7*?’ just discussing, in Figure l0, the noise reduction

Whether we'rejumping around or not does ’ ‘ phase 928.

not detract from the fact that we are walking down g ‘ Do you recall that?
the flowchart of Figure l0 and the process and the i 1" A. Yes.
flow of what the connection calculator does, which I Q. So we are now talking about Figure l4 shows

may be simple to you._ with your years of experience. a flowchart of the noise reduction phase 928.

but is not to us. which is why. having the benefit ”The purpose ofthe noise reduction phase

of you here. we are just walking through the process 928 is to handle those connections in which

to understand why the connection calculator would go a connector is not directly connected to a

through all these steps. host or to another connector."

And I apologize ifyou think I'm 9' " Correct?
aggregating things. but I'm methodically going ” A. Yes.
through this. and it's taking some time. i Q. Based on your network experience, can you

Please turn to column 9, lines 39 to 42, of
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which a connector is not directly connected to a
host or another connector?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand the

question.
BY MS. GREWAL:

Q. lfyou look at lines 39 to 42, it said:

"The purpose ofnoise reduction phase is to
handle those connections in which a

~_.JOWUs..

explain why it's important to handle connections in
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think are important. They simply said how they --
the flowchart work, not more than this.

important to what?

Q. Important to identifying and updating a

network topology?

A. That's one option that might be important,

yes. if you want to update one network topology,

you have to do many different steps and many

different ways to get information and to calculate
the informations —— the information.

Q. Could you kindly turn to lines 42 to 49 of
column 9?

A. (Witness reviewing document.)
Yes.

Q. Do you understand that column 9, lines 42
to 49, state:

"For example, networking technology may

employ shared media connections between
connectors, rather than dedicated media
connectors. With a shared media

connection, the entries in the forwarding
tables for connectors attached to the

shared media connection will include every

node accessing the shared media connection

and may not present a useful or accurate

connector is not directly connected to a
host or to another connector."

A. Yes. i

Q. Why do —— why does the system ofthe '4ll

patent need to handle connections in which a
connector is not directly connected to a host or to
another connector?

A. Because it might be connected indirectly.

Q. And it's important to track indirect
connections?

A. What do you mean by "important"?

Q. Does the system of '41 1 need to track
indirect connections?

A. I can see here explanation in the

specification how it works, and it simply refer to

different steps that they think -- the inventor
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representation of the nodal connection."
Correct?

A. Yes.

Q. Thus, the noise reduction phase helps

provide a more accurate representation of the nodal
connections; correct‘?

A. That can be one example, yes.

Let me simplify it. It seems that you are

asking questions, but not asking the right question.

In simple term, what is meant here is hub,

hub compared to switch. In switch. you have
connection one-to-one. In hub, you don't have
connection one-to-one. You have one connection --

everyone—to-everyone.

And in order to know, you don't have the

information. And this step is discussing the steps
that related to hub or shared media. Everybody is

listening to everybody and not one-to-one. So you
will have the same information on many different

ports.

You are simply not asking the right

questions.

Q. Turning now to the last step ofFigure 10,

could you please turn to column 7, line I5 through
17?

Page 180

Q. And network containment relationships, what
does that mean?

A. If you have relationship between, for

example, a hub and you know which -- which devices

are on the same hub, you have to know the

information, the relationship between them.

Q. Okay.

A. You didn't ask the right question. The

question -- the simple way that in hub, one device

is talking and everybody is listening. And the

right device that who is listening know where to --

to get the information.

Q. Okay. Ifyou could kindly turn to line 17

through 20, further down on column 7, it states:

"The connection calculator 320 may also" --
A. Wait a minute.

Q. Sorry.

.:\..

0toCO3.owUr
 

Page 179

. Column 7 -- it's another place. yes?

. Yeah, going back to -- we just finished --

. We're jumping to column 7? Line?

. Lines 15 to 17.

. Let me read it.

(Witness reviewing document.)

What is the question?

Q. So do you understand column 7, lines 15 to

17, that states: "The tuple data" -— let me start

again. Sorry.

Do you understand that column 7, lines 15

through l7, states:

"The tuple data is then consolidated 932

into segment and network containment

relationships."
Correct?

A. Yes. You read it correctly.

Q. So based on your network experience, what

does it mean to consolidate tuple data into segment

and network containment relationships?

A. You get the information and make sense of

the information. Ifyou have information belongs to

one segment, you put it in the same segment. If you
have another information related to a different

segment, you put in a different segment.
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redundant tuples to indicate the relevance

to actual connectivity. These redundant

tuples may still provide hints to

connectivity of other tuples."
Correct?

A. You read it correctly.

Q. What is your understanding of a redundant

tuple?

A. You will get the same type of information

many times, more than once.

Q. Do you know why the connection calculator

may tag redundant tuples?

A. For example, ifthe same information

existed from two connections. If you have one

device that says, "I'm connected then to --

device A, saying, ''I'm connected to device B," and

device B saying, "I'm connected to device A," you0';
know that both of them are the same. It's

redundant. It's the same information. You have it

from different places.

I gave --just gave very simple example.

There are many others.

Q. Is it useful for redundant tuples to

provide hints to connectivity of other tuples?

A. That's -- I'm not sure what you meant by

A. Which lines?

Q. 17. We were earlier at 15 to 17. Just

reading further --
A. Okay.

Q. -- 17 through 20.

A. Okay.

Q. So line l7 through 20 of column 7 states:
"The connection calculator 320 may also tag

19
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this, but it will give you some information.

Q. And that information is helpful to updating

the topology?

A. For example, yes.

Example, if you have device with two port

and you know that one port is connected to one

device and the other port you don't know what is

connected, you know it's not connected to the one

port. It's —- maybe it's connected to another port.

That's a hint. Example. There are many other

examples.

Q. Okay. Thank you.

Turning to column 10, lines 34 to 37.

A. We’rejumping to a new topic, yes?

Q. We are still discussing the connection
calculator, Dr. Lavian.

A. Okay. Column I0?
Q. Lines 34 to 37.
A. Let me read them.

Q. Sure.

A. (Witness reviewing document.)

Yes, what's the question?
Q. Lines 34 to 37 of column l0 states:

"The connection calculator 330 process

described above collects the tuple
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above does, and it lists that it builds new tuples,

it removes redundant or unnecessary tuples to

produce the new topology.

A. It is very simple, and I think that I

explained many times. lfyou build a new tuple and

basically connect -- that device A is connected to

device B, you now know that there is a new topology.
Device is connected to device B, or device A is not

connected anymore to device B. So it's a new

topology. They are not connected. Or device A

connected to device B, but not on port C, put on

port, say, 4.

So the new tuples, the changed tuples, the

updated tuples will result in new topology, and that

what the process -- of the connection calculator

process the tuples to understand the topology.

Q. Okay. Thank you.

A. It is extremely simple. Everything very

complicated language. It's very simple. You can

summarize all of these passages: Get connected from

one point to another point and detect changes.
That's all.

Q. Dr. Lavian, could you kindly turn to lines

44 through 46 of column 10, just a little further
down.
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information from the tuple manager 300,

builds tuples new tuples and removes

redundant or unnecessary tuples to produce

the new topology."
Correct?

A. Yes, you read it correctly.

Q. What is your understanding of the phrase

"builds new tuples"?

A. Simple as is, build new tuples.

Q. And this is the process we discussed
earlier, that the connection calculator sources

information from the neighbor database, processes

it, and builds new tuples?
A. That's -- that's what it does --

Q. Okay.

A. —— build new tuples.

Q. In the last phrase ofthe line 37, where it

says "new topology," what is your understanding of

the "new topology"?

MR. MACE: Object to form.

THE WITNESS: Can you please clarify your

question?
BY MS. GREWAL:

Q. lfyou look at lines 34 to 37, it states

what the connection calculator process described
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A. 44.

Q. Through 46, which states:

"Using the process ofthe connection

calculator" —- I think that's a typo. It

should be 320 -- "tuples marked as

non-essential may be removed from the new

topology to save space and to simplify the

topology."
Correct?

A. You read it correctly.

Q. So removing tuples will reduce the amount

of tuples in the new topology; correct?

A. That's one example, yes.

Q. And based on your network experience, was

saving space important at the time of the invention
in October 2000?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand the

question.

What do you mean by this? Important to
what?

BY MS. GREWAL:

Q. For networks and for topologies.

A. It depends.

MR. MACE: Object to form.
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Q. The last clause of the last phrase says,

after "to save space," "to simply" --

A. Which line are you?

Q. Sorry. 46, where it says:

"The new topology" --
A. Just one --

Q. I can read the whole sentence again.

"Using the process ofthe connection

calculator, tuples marked as non-essential

may be removed from the new topology to

save space and to simply the topology."

I think there is a typo there. It should

probably be "simplify the topology."

Do you agree?

A. It's two typos. That's one ofthem, yes.

Q. Would simplifying the topology help in

BY MS. GREWAL:

Q. What does it depend on?

A. Ifyou save two bits and you have two

gigabytes ofinformation, is it important. no.

Ifinformation —- ifyou have the room.

maybe yes; ifyou don't have the room. maybe not.

lfit’s add complexity. maybe yes; if not add

complexity, maybe not. Ifyou need the information.

maybe yes; ifyou don't have the information, maybe
T101.
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It's depends on the implementation. It

depends on many different things.

I'm not sure I understand what you mean --

the question. "What is important?"

Important to what?

Q. Was there benefit from saving space, at the
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time ofthe invention, in networks in particular for

identifying and updating topologies?

A. In some places it can benefit, and
sometimes it cannot be benefit.

Q. And at what times will it not benefit to

save space?

A. For example, in other computation and you

don't have time for computation. why do you want to

do it? Why not let it do time-out. So it depends.
l
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please.
Claim 1 recites:

"Receiving new tuples list that represent
new nodal connections" --

A. Which element?

Q. In the third limitation, sorry.

A. Okay.

Q. And in the fourth limitation, it states:

"Comparing the list of existing tuples with

the new tuples list to identify changes to

the topology."

Do you understand the tuples received by

the reduced topology relationships database 330 to

be an example in the patent ofthe claimed new

tuples list?

A. This is not part ofthe claim language.

Q. I'm looking at limitation three and
limitation four of Claim 1.

A. Yes.

Q. And I'm asking whether the tuples received

by the reduced topology relationship database 330 is

an example in the patent ofthe claimed new tuples
list.

A. I'm not sure I understand what you are

saying.
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identifying and updating topologies?

A. It depends.
Q. On what?

A. On many different thing. It depend on the

cost of the device, on the ports, on the

availability, on the processing, on the time, ifyou
need it at all.

It depends on many different things.

Q. Dr. Lavian, could you turn to Claim l,
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Here we have the Claim language.

Q. Correct. I'm pointing to --

A. And before you jumped around back and

forth, back and forth many times. all around the

specification.
I am not sure I understand how it's

related.

Q. So in your experience with network

communications and having read the patent, do you

understand whether the tuples received at the

reduced topology relationship database 330 of Figure

7 that we've been discussing is an example of the

claimed new tuples list?

A. I am not sure, and I didn't analyze this.

I don't have an opinion on this. I analyzed the

claim by itself. and I didn't analyze this type of

question.

Q. Okay.

A. I don't have an opinion on this.

MS. GREWAL: All right. We've been going

for more than an hour. We should probably take a
break.

THE WITNESS: Okay.

MS. GREWAL: Thank you.
THE VIDEOGRAPHER: The time is 4:04. We're
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off the record.

(Recess taken)
THE VIDEOGRAPHER: The time is 4:27. We're

on the record.

BY MS. GREWAL:

Q. Dr. Lavian. could you kindly turn to

Exhibit 1002, which is your declaration.
A. Yes.

Q. In particular, could you please turn to

paragraph 24 of your declaration.
A. Yes.

Q. The first sentence states:

"The topology information returned from the

first query may be stored in a database

and" -- sorry. parenthetically you have a
cite to '41 l. column 6. lines 36 to 39 --

"and used to create a list of 'tuples'
(i.e.. a ‘collection of assorted data’)

that represent the nodal connections ofthe

network topology at the time of that first

query."

Do you see this‘?
A. Yes.

Q. Where is the topology information returned

from the first query stored‘?
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A. So basically. the -— the tuple manager 300
receive a lot ofinformation from all the devices.

calculate the information in the connection

calculator if needed. and. more importantly. save

the information to the neighbor databases that

basically get several information interaction with
the connection calculator.

Q. So, sorry. I didn't -- what is the

component that provides an example of the component

in Figure 7 that creates the list oftuples that

represent the nodal connections of the network

topology at the first query mentioned in your

paragraph 24. line —— first sentence?

A. My sentence says: I
"The topology information returned from the

first query may be stored in the database."

Basically, if you will take a look on my --

on the patent in '41 1 --
Q. Uh~huh.

A. -- you can see more information between --
in column 6. lines 36, 39. and use to create a list

of tuples. Basically. it's collection of assorted

data that represent the nodal connections of the

network topology at the time of the first query.

1 referenced several places the abstract,
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A. If we're looking at diagram —- Figure 7.

element 300 tuple manager gather the information and
save the information in the local database.

Q. So which -- could you tell -- looking at

Figure 7. which is the database you're referring to‘?

A. So —- in this specific example, it save

some of the information in the neighbor database.

Q. So the topology information returned from

the first query in an example may be stored in the

neighbor data database?

A. Temporarily, yes.

Q. Okay.
A. It will be stored in all ofthem. It will

be stored initially in the neighbor database. It

will go to the connection calculator to do some

calculation of it. It will get the topology in 320

there in redundant -- the use topology will go to

the topology converter -- converter 340 and will end

up in —- stored in the topology database. So it

will be in different places.

Q. Okay. Still referring to the line -- the

first sentence we read in paragraph 24 of your

declaration. what component. for example. creates

the list oftuples that relate the nodal connections

of the network topology at the first query?
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column 3. lines 3 to -- 9 to 12; column 4, 23-24;

and column 6, 34-39.

Q. And so an example ofthat particular -- of

a component that creates the list of tuples that

represent nodal connections ofthe network topology

at the first query would be a tuple manager?

A. I'm not sure I understand what the question
is.

Q. I'm merely trying to understand what

component, for example. in Figure 7, you were

thinking of when you wrote:
"...and used to create a list oftuples

that represent the nodal connections of the

network topology at the time of the first

query."

When you are providing the cites in the

abstract. that lists all -— pretty much the

components in Figure 7, column 3, lines 9 through

12. talk about. "A topology database" --

A. Let me go there.

Q. "A topology database stores an existing

topology of a network. A topology converter
accesses the topology database and converts the

existing topology into a list of current tuples."
That's 12.
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So my question was: What is an example of

a component that you -- you understood to create the

list oftuples that represent the nodal connections

ofthe network topology at the first query in your

paragraph 24?

A. Youjust read it. "A topology data" --

basically, it's column 3 -- at column 3. line 9.

"A topology database stores an existing

topology ofa network. A topology -- a

converter access -— accesses the topology

database and converts the existing topology

into list ofthe current tuples."

Q. Okay. So the database that you mention in

the first sentence of paragraph 24. that say. "The

topology information returned from the first query

may be stored in a database," is that database the

topology —— the topodb 350?

A. It can be. for example.

Q. Okay. And. for example. the topology
converter. then. is —— then creates the list of

tuples that represent the nodal connection ofthe

network topology at the first query?

A. Another example.

Q. Okay. The second sentence of paragraph 24
states:
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details. I discussed with them —- with you in the
last several hours.

Q. So ifI rely on the exemplar portion of

'41 1 that you cite in paragraph 24 with respect to
the second sentence, am I correct in stating that

you rely on column 6. lines 39 to 53?
A. No. that's not correct.

Basically, what I said. that I tried to
summarize the entire invention to several

paragraphs. And basically I summarized, in a simple

way, all the specification in paragraph -- my

paragraph 23, 24. And I tried to do it in a short.

reasonable, easy-to—understand language. to

summarize the entire paragraph to two -- to two

paragraphs.

Q. And looking at the summary ofthe entire

patent that you provided in paragraphs 23, 24, and

25, I'm asking particularly with respect to the

second sentence we were just reading of paragraph

24. where you state:

"The topology information returned from the

second, later, query is used to create a

new list of ‘tuples’ that, likewise,

represent the nodal connections of the

topology but at that later time."
I\}I\)R) an
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"The topology information returned from the

second. later. query is used to create a

new list of‘tuples' that. likewise,

represents the nodal connections of the

topology but at that later time."

Do you see this?
A. Yes.

Q. What component were you understanding. for

example. looking at Figure 7. to create the new list

of tuples that represent the nodal connections of

the topology from the second query?

A. The descriptions that I gave here in the
abstract in column 3. line 12, 4 -- 23-24; column 6,

39-39; and looking at the -- for the old -- for the

previous queries.

And looking at the new queries, it create

the list of tuples on column 6. 39 to 53. I mention

generally the process ofthe entire patent. what is

done. without getting into the specifics of every
element.

We discussed in the last eight hours, I
believe -- or seven hours, the details ofhow it's

done. but here it's from the abstract in the higher

level. not specifically on a specific element.
I didn't mention in this section the
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You cite only to column 6, lines 39 to 53;
is that correct?

A. In this case, I cite one. It appeared

throughout the specification. I cannot refer

specific —— all the specification. I referred to

specific lines.

Q. And so ifyou look at column 6, lines 39 to

53, it refers to the tuple manager then creating a

new list of tuples, as an example; is that correct?
A. It's referred to Figure 9 -- an explanation

of Figure 9, yes.

Q. But particularly, those sentence -- the
sentences that are covered by column 6, lines 39 to

53, of the '41] patent only discuss the tuple

manager 300 receiving -- and, you're right, it's a

description of Figure 9 -— but it is what the tuple

manager is doing to create a new list of tuples that

represent the nodal connections of the topology at
the later time; is that correct?

A. No, it's not correct. It's -- show Figure

9, discuss of -- also show method in Figure 8. It

discuss also the database 350. It discuss many

different things.

In general, a quick summary of the

information, including the tuple manager, yes.
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. lfl read line 39 through 53, it begins

"The tuple manager 300 then queries 914 the

known nodes to gather the desired

information. For example, the connectors

may maintain forwarding tables that store

connectivity data used to perform the

connectors‘ ordinary functions, such as

switching. Other devices may allow the

system to perform queries to gather
information about the flow of network

traffic. This data identifies the devices

heard by a connector and the port on which

the device was heard. The tuple manager

300 gathers this data by accessing

forwarding tables and other information
sources for the nodes to determine such

information as their physical address,

interface information, and the port from

which they ‘hear’ the other devices. Based

on this information, the tuple manager

builds 916 tuples and stores 918 them in

the ‘neighbor data’ database 3l0."
That's the end ofthe -- of line 53.

Yes.
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So if even it's not says the element

themself, it says that it's routing table,

forwarding table, shared media, and the ports.

Q. So the tuple manager queries 914 the known

nodes to gather the desired information; correct?
A.

Q.

in«.0on

L»

ax.

Yes.

And:

"For example, the connectors may maintain

forwarding tables that store connectivity

data to perform the connectors’ ordinary
functions, such as switching. Other

devices allow the system to perform queries

to gather information about the flow. This

data identifies the devices heard by a

connector and the port on which the device

was heard. The tuple manager gathers this

data by accessing forwarding tables and
other information sources for the nodes to

determine such information as their

physical address, interface information,

and the port from which they ‘hear’ other
devices. Based on this information, the

tuple manager 300 builds 916 tuples and
stores 918 them in the 'neighbor data‘
database 3 1 0."
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Q. So the only -- at least in the one example,

the only example you've provided with respect to the

topology information being returned from the second.

later query that is used to create a new list of

tuples. is -- for this particular cite, the tuple

manager is the only component that's mentioned: is
that correct‘?

A. No. that's incorrect.

Q. What component is mentioned, other than the

tuple manager in column 6. lines 39 to 53?
A. You misread the section. You can see, in

very similar language, I'll expand the complicated

language. It's not complicated at all.
You have switches; the switches has tables.

You have routers; the routers have forwarding
tables. You have other devices like hubs that has

connections, and you need to know all the
information.

It's received the information from the

query in the tuple manager. lfyou don't see it in

here as 300. and basically all of this information
is received from the device themself.

The queries from the devices get in the
connection a calculator calculate the information

based on the information received from there.
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With respect to Figure 7 and the lines that

l have read, which are the only lines and column --

in column 6 that you referred to -- and I'm speaking

only about the second sentence in paragraph 24 --

the only component in Figure 7 that is mentioned is

the tuple manager 300 --
A. Yes.

Q. -- doing the data gathering, et cetera.

Did you see any other —- did I miss

anything‘?

MR. MACE: Object to form.
Tl-IE WITNESS: There are two elements in

this. The data gathering information is done in the

300, getting the tuples is done also in 300, and

saving the data to 310.
BY MS. GREWAL:

Q. Is also done by 300; correct?
A. lt's saved to 310.

Q. Correct. But the saving is done by the

tuple manager 300?

A. I'm not sure what you mean by "done."

The saving -- the saving -- the tuple

manager send the information --
Q. Correct.
A. -- to the database. and the database itself
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save -- saves the information. between both of them.

Q. Right. But it is the tuple —- as you 5 Q. And where are the two lists oftuples

state, it's the tuple manager that sends the data 1" stored‘?

that it gathers. And -- and once it creates tuples 2 A. In the neighbor database.
and stores —- and that's what it's doing. It‘s MR. MACE: Object to form.

storing the tuple data in the neighbor data BY MS. GREWAL:

database? ’ Q. Both ofthe -— both ofthe -— both the list
A. Yes. of tuples from the first query and the list of

Q. Okay. So if you turn to the last paragraph tuples that are stored in the —- in response to the

of your summary of the '41 I patent, paragraph 25 of second query. they are both stored in the neighbor

your declaration, the first sentence states: data database‘?

"Once the two lists of ’tuples' are MR. MACE: Object to form.

available, they can be compared to THE WITNESS: I'm not sure what

determine the changes (if any) to the specifically you're asking.

topology that occurred since the creation But you get the previous -- the previous

ofthe first set oftuples." query -- get the information ofthe previous query,

Do you see that‘? , and create the tuples related to this query. And
A. Yes. I you get the new query. And the new query, you get

Q. By the "two lists oftuples," you refer to new information. and you compare between the old and

the list of tuples from the first query and the list 1 -"-‘~ the new

oftuples that are stored in the neighbor data X BY MS. GREWAL:
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database 3 l0; correct?

A. I'm not sure I understand your question.

You have the two queries, one in the prior

time, one in the current time, and you compare
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A. Yes.

Q. -- which occurs at a later time.

Wejust established that -— the second
sentence of column 24 that began:

"The topology information returned from the

second, later, query is used to create a

new list of'tuples' that, likewise,

Q. Dr. Lavian. I'm_iust trying to understand

your paragraphs 24 and 25.

You are using the terminology "tirst query"

and "second query" -—
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as examples, as you were saying, for what -- where

to go look for in the patent for what the particular
sentence stands for; correct?

A. In high level, yes.

Q. So wejust spent some time going through

the two sentences that make up paragraph 24.

Do you agree with me?

represent the nodal connections of the A. Yes.
topology but at that later time," used i Q. The first sentence that has -— that deals

component tuple manager, and it stored the " with:

results of the effort of the tuple manager ‘ i‘ "The topology information returned from the

into the neighbor data database." first query may be stored in a database and
Correct? : l ‘ used to create a list of 'tuples' that

MR. MACE: Object to form. ' represent the nodal connections of the
BY MS. GREWAL: network topology at the time of that first

Q. Wejust did that with respect to column 6, ' A ‘ query."

lines 33 to 53. l ‘ ’ Do you see that?

A. I'm not sure I understand -- I —- your A. Yes.

questions. Q. Looking at, for example, one ofyour

I gave a very high-level summary ofthe citations, column 3, lines 9 through I2, only

entire patent,just the highlight —— the highlights provide a disclosure for topology database that
of what is the patent itself. I didn't mention the stores an existing topology of the network and

details of any of them in these sections. further states:

So what exactly is your question? "A topology converter accesses the topology

Q. You have given us citations to the patent database and converts the existing topology

tn‘ 0toO0
,..

,..,,,,t :5(A)l\)l«I
I’II» \\lO\(n

I\)I\>I\)Ix)i\)MItr (ItA»L»I\)twC)KL)<1) Ix)toIx.)I\)Ix)Iv>4w (rt-I\cuEx)4«J<)toAI)
52

TSG Reporting — Worldwide 877-702-9580



Page

into a list of current tuples."

That is a citation that you've provided to

support your first sentence of paragraph 24; is that
correct?

A. Yes.

Q. Okay. So relying on that, an example of

the topology information returned from the first

query may be stored in a database and used to create

a list oftuples would involve the topology

converter as a component -- and I'm reading back to

the citation that you have provided -- accessing the

topology database -- so the topology database is an

example of the -- a database that you have in your
first sentence ofcolumn 24,

ls that fair to say?

MR. MACE: Object to form.

THE WITNESS: In a very high level. yes.
BY MS. GREWAL:

Q. Okay. So if l go further down to paragraph

25, one ofthe lists is then stored in the topology

database or it's used -- or topology converter has
accessed it?

I‘mjust look —— I'm just trying to

understand, in the examples —- the high-level

examples that you have set up in your first query
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50 pages. including the -- I don't know how many

pages we have here -- but long spec and diagrams

into three paragraphs.

80 that's the way that I found it. is

reasonable to show it. This is a very high-level

description.

Q. And staying at that high level. I'm_iust

trying to understand one of the examples you had in

mind when you analyzed and drafted your declaration.

Help me understand column —— paragraph 25.

Sorry. "Once the two lists of 'tuples' are

available." the two lists being one created as a

result of the first query and the second created at

a second later query."
Is that correct?

A. That's one way to say. yes.

Q. Is there another way to say that?
A. At one time and a different time. There

does not need to be a query, if you ask information

at one time and you get a same —- different
information after two minutes.

For example, you get information one

switch, and later you got it from different switch.

Get it from one port and get that different

information from a different port. You get
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and your second query. what are the components that

you have referred to?

A. l —— I got in the high level. the abstract.

And basically in the abstract I discussed it. I

discussed it in the paragraph that you just

mentioned. in column 3. paragraph A. lines 9 through

l2. l continued in paragraph 4 at lines 23-24.

And in paragraph 23-24. l basically said:

"As used herein. the term 'tuple' refers to

any collection of assorted data. Tuples

may be used to track information about

network topology by storing data from
network nodes."

And l continued with column 6. paragraph 34
to 39. And column 6. 34 to 39. state:

"The tuple manager 300 receives 910 a

signal to gather data -- the tuple data.

The tuple manager 300 then retrieves 912
nodes —- node information ofthe current

topology stored in the topology database
350."

ln general. I talked about the process in a

very high level.just in a few words to understand

the high level ofthe specification. I tried to
summarize the entire -- l don't know. I have here
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literally thousands. if not millions. ofpieces of

information every microseconds -- every microsecond.

And you get a lot ofinformation.

And the comparison here. I tried to paint

very high level picture. And basically what I said.

in a very high level. get the information as it was

in the past and as it's currently. or prior time or

new time, and compare between the two.

Q. So by "the two lists of'tuples'" in your

paragraph 25, you refer to the list of tuples from

the first query and the list of tuples that are

stored in the neighbor data database 310; correct?

A. One example to take a look at this. yes.

prior time and current time.

Q. Okay. And in the second sentence of

paragraph 25. you state:

"In order to identify the changes to the

network topology. a ‘topology converter’

340 receives the list of new tuples,

compares the two lists of tuples to

identify changes."
Correct?

A. Yes.

Q. ls it your understanding. after reviewing

the '41 l patent, that the topology converter 340
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receives the list of tuples that are stored in the

neighbor data database 310?
A. I'm confused. I'm not sure I understand

your question.

Q. Wejust read the second sentence of

paragraph 25, which stated:

"In order to identify the changes to the

network topology, a ‘topology converter’

340 receives the list of new tuples,

compares the two lists of tuples to

identify changes."

Did I read that correctly‘?
A. Yes.

Q. So is it your understanding that the

topology converter 340 receives the list oftuples
that are stored in the neighbor data database 310?

A. That's -- basically, I think that you're

misrepresenting what I said.

Ifyou will take a look at the topology

converter, the topology converter take a look at

the —- all data that saves in the tuple database and

the new data in the 330 reduced topology, and
convert the two lists.

This information was before in some form in

the connection calculator. The connection

Page 212

get input directly from; correct?

A. Figure 7 shows, in a very high level, the

concept. at a very high level.

In Figure 7, I can see connection directly

to the topology database, and I can see information

to the reduced -- the topology relationships. And

on Figure 7, I can see the comparison between both.
But the data that received into the reduced

topology database received from the connection

calculator -- and it's received —— it's get the

calculation from the neighbor database and make

query for additional information by the look-for

information to get other information it didn't have.

But in general, it is the same information,
didn't form or different formats.

Q. But would you agree with me that Figure 7

generally has three databases: The TOPODB database,

the neighbor data database, and the reduced topology

relationships database; correct?

A. In a very high level. It depend what you

mean by "database." If you are looking in database

this way, you can think about this as a database.

You can look at the topology converter itself, that

it has its database. because it's compare between
two -- two lists, so it's needs to some have form of
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calculator created the information from the neighbor

database, and the same information may be in a

different format or different form received by the

tuple manager.

In general, at the end ofthe day. it's get

to the level oftwo sets oftuples. and you compare

port number 5 existed here or not, and that's the

comparison.

Q. And so can you please tell me what are the

two sets of databases that the topology converter

340 receives data from to do the comparison?

A. In the specific --

MR. MACE: Object to form.

THE WITNESS: In the specific -- in diagram

7 specifically, the topology converter take a look

on the old information and topology database and

look at the new information, and compare between

them and see what are the differences; in very high

level. see what's new and update what's needed to be

updated.

Finally, it's very simple. That's the
basics.

BY MS. GREWAL:

Q. And there is a third database. the neighbor

data database. that the topology converter does not
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comparison.

Exactly the same the connection calculator.

Connection calculator needs to get information from

different places so it has its own local database.

In this case. the database it's any sort of

information that you need to compare or calculate.

Exactly the tuple manager.

So you are very limited. Yes, you can

see -- if you are looking on the shape of database

as formal database, yes. it's might be a way. But

anyway, when any comparison of any calculation, you
need to have a local database.

Q. We had previously marked Jones as -- let's

see -- well, actually, Jones was already previously
marked as Exhibit I003, which I think I have here.

Sorry.
And this Exhibit 1003 also is a ServiceNow

exhibit in the IPR proceedings.

Dr. Lavian, did you find any ofthe prior

art that you have described in your declaration‘?

A. No, I didn't find it myself. I got them.

Q. Had you heard of the Jones reference before

your work on this matter‘?
A. No.

Q. So you have been handed what has been as
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877-702-9580



1.0

L2)m

Page 214

Exhibit 1003. which is also. as l said. ServiceNow’s

Exhibit 1003 in this [PR proceeding.

Do you recognize this document?

A. I received from the lawyer the patent '327

Jones -- the Jones patent.

Q. If—- if you can kindly turn to paragraph

65 ofyour declaration.

In paragraph 65, you start discussing the

final limitation ofClaim 1 that you label as ld;
correct?

A. Yes.

Q. The first sentence ofthe next paragraph 66

I1‘:~..lG»<2.I\ini\lJ...
41)to
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A. I'm not sure I understand the question.

Q. Referring to the first sentence of

paragraph 66 --
A. Yes.

Q. -— that reads:
"Jones discloses this limitation because it

is describes a process in which the first

data set," after which you have open

parens, (the 'list of existing tuples‘) is

compared with the second data set (the

‘first (sic) tuples list')."
Correct?

MR. MACE: Object to form.of your declaration continues to discuss limitation
ld and states:

"Jones discloses this limitation because it

describes a process in which the first data

ri>{AJJR}r‘
7

Atol\,‘sIA
THE WITNESS: "The ‘new tuple list.'"

BY MS. GREWAL:

Q. Correct.

5.1‘

=3ow xlONtn
set (the 'list of existing tuples’) is

compared with the second data set (the 'new

tuples list')."
Correct?

A. You read it correctly.

Q. You are, therefore, equating the first

C)toon

A. You send "the first." It's not "the

first." It's "the new tuple list."

Q. My apologies. "The 'new tuples list.'"
A. Yes.

Q. And my question is: You are mapping the

first dataset taught in Jones to the claimed list ofk/«Jl\)IV‘
existing tuples; correct?

A. Yes.
dataset in Jones to the claimed list ofexisting

tuples and the second dataset in Jones to the

[Ul\JI0I\)Mw
as

i\} £51

so

to

us.

fit».4rm0':

N!=.)NtoP.)InI» or.t>1,‘)toHC)KC)

claimed new tuples list; correct‘?
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Jones to the claimed new tuples list; correct?
A. Yes.

Q. Can you please turn to paragraph 50 ofyour
declaration.

The first sentence states:

"The 'new list ofa plurality oftuples at
a current time’ in Jones is the ‘second

data set.‘"

Correct?

A. Yes.

Q. You are, therefore, saying that the second

dataset in Jones provides the claimed new list of

plurality oftuples and the claimed new tuples list;
correct?

A. I'm not sure I understand the question.

What is the question?

Q. Do you have Claim 1 in front ofyou,
Dr. Lavian‘?

A. Yes, I have Claim l open in front ofme.

Q. l'm merely trying to follow what you have
stated here.

You are, therefore, saying that the second

dataset in Jones provides the new list ofa

plurality of tuples in the second limitation and the

claimed new tuples list; correct?

TSG Reporting — Worldwide
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Q. And you are mapping the second dataset in

A. Yes.

Q. Is it accurate to say that Jones discloses

only two lists. the first dataset and a second
dataset?

A. I didn't opine of only two or not only two.

That was not my —— my opinion.

Q. In your declaration, do you --

A. I refer to the first -- l map —- I did a

map between the new list and the old list. The new

list related -- the new list of plurality oftuples
in the current time is a second data list.

So basically I did the previous and the

current. Simple as is.

Q. In your read of’Jones, did you find any
additional lists beyond the first dataset and the
second dataset?

A. You have the third and the fourth and the

fifth and the second. And every time that you will

measure, you will get all time new datasets. The

time is going only one dimension.

Q. That Jones actually discloses?

A. Discloses the previous and the new. And

the next time you will do the new, it will be the

new, new. And the next time you will do another
five minutes, it will be new, new, new. In ten
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minutes it, will be new, new, new, new. So will

have long -- all time you will have new infoimation.

And every time, you will have old and new.

Q. Could you refer me where in Jones it talks

about the generation ofa third list and a fourth
list‘?

A. It does not need to refer to a third and

the fourth. It will say at one time and the second

time, the previous and current.
And in two seconds, what is current will be

previous.

Q. In paragraph 50, looking at what you have

mapped, below the first sentence, you have a

paragraph from Jones; is that correct?
A. Yes. Let me read it.

Q. Please.

A. (Witness reviewing document.)
Yes, I read it.

Q. Is it accurate, Dr. Lavian, to say that

Jones discloses only two lists, the first dataset

and the second dataset, as aiticulated in your
declaration?

A. No.

Q. And why not?

A. Because time is going always. You have the
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second again -- another one second, it will be
another second. And the third minute, it will be

another data. So time is not stopping. It does

not -- time is going always, always ticking.

Q. The latter part that youjust mentioned is

not documented in your declaration; right?

You stopped at:

"Said second data set comprising data

acquired by interrogation of the network."

My question merely asked: Where in your

declaration do you document these additional

datasets that could be generated because time

continues ticking?

Can you point me where in your declaration

you have that documented?

A. I think that it's clear the time is always

ticking, and always you're looking to past and

current, past and current, past and current. And

always you're comparing between the past to -- the
old and the new.

Q. Correct.

A. But the time is always moving, and the

network always changes.

Q. So at any time the comparison is always

being done with respect to two lists, is what you're

TSG Reporting — Worldwide
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first time and the second time. later time. And if

you'll take another one, meaning it will be another
second time, and take another one minute, it will be

another set oftime. So you will have all time more

and more data, and always you will have future and

past. Ifyou measure eveiy one second, so it means

that every one second you will have more
information.

Q. And where in your declaration do you have
that documented‘?

A. I can read, and I can see the specific

of -- of the paragraphs that youjust mentioned.

"The present invention provides a method

for providing a data set relating to the

network by merging first data set related
to the network at the first time and a

second data set related to the network at

the second, later, time. The first data

set comprises data acquired by

interrogation ofthe network of -- and

other data, said second data set comprising

data acquired by interrogation of the
network."

You have the previous dataset, and you have
the next dataset at the second, later time. And one

Page 221

saying; is that correct?

A. In a high level, it's -- it talks about

comparison between the old list and new list, yes.

Q. Does Jones create a reduced list oftuples,
Dr. Lavian?

MR. MACE: Object to form.
THE WITNESS: l'm not sure I understand

what is the question that your are asking.

I didn't opine on this. It's not part of

the claim language.
BY MS. GREWAL:

Q. Do you know one way or the other whether

Jones creates a reduced list of tuples similar to

the operation of the connection calculator we
have --

A. Ididn't --

MR. MACE: Object to form.

TI-IE WITNESS: -- opine on this. It's not

part of the claim language.
BY MS. GREWAL:

Q. You have not provided an opinion regarding

the processing of the second dataset in Jones in

your declaration; is that correct?

A. What do you mean by this?

MR. MACE: Object to form.
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THE WITNESS: I'm not sure I understand the

question.
BY MS. GREWAL:

Q. Your declaration discloses only two lists.
the first dataset and a second dataset: that is
correct‘?

A. Yes.

Q. So you have not provided an opinion

regarding whether the second dataset is processed

further to generate a reduced dataset; is that
correct?

MR. MACE: Object to form.
THE WITNESS: I -- I'm not sure I

understand the question.

I simply looked at the claim language. and

I mapped the claim language to Jones -- I mapped

Jones to the claim language.
BY MS. GREWAL:

Q. And in your declaration, you have not

provided any opinion regarding the processing of the
second data set; correct?

MR. MACE: Object to form.

THE WITNESS: What do you mean "processing
of the second dataset"?

Can you show me claim element that you
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Exhibit 1002. can you point me to any place in your

declaration where you have provided an opinion as to

the existence of processing of the second dataset?

A. Basically in --

MR. MACE: Object to form.

THE WITNESS: -- in my declaration. I refer

specifically to the point that you referred in the

last element. the third -- the element of creating

new list of plurality oftuplcs for topology of the
network in the current time.

And I reference the new list. and I mapped

the new list plurality oftuple in the current time
to the second list ofthe current time -— ofa
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mean? I'm not sure I understand the question.
BY MS. GREWAL:

Q. I'm not asking you for what's in the claim.

I'm asking you: When you analyze and

provided your mapping and relevant description to

Jones. you did not provide any opinion as to whether

or not Jones provides a reduced list that could be

generated from the second dataset; is that correct?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand the

question.
BY MS. GREWAL:

Q. It's a yes-or—no question.

A. No. it's not a yes-or-no question.

Q. In your declaration. you have not provided

an opinion regarding the processing ofJones's
second dataset; is that correct, Dr. Lavian?

A. Where do you mean --

MR. MACE: Object to ‘form.

THE WITNESS: -- processing second dataset?

Where do you see in the claim processing datasets?
BY MS. GREWAL:

Q. I'm not asking what's in the claim. I'm

asking about what's in your declaration.

Looking at your declaration, which is
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THE VIDEOGRAPHER: The time is 5:33.

This is the beginning ofDisc 4, Volume I,

in the deposition ofDr. Tal Lavian.
The time is 5:33. We're on the record.

BY MS. GREWAL:

Q. Dr. Lavian, before we broke to change the

tape for a break, you had asked, "What do you mean

by ‘processing’? Ifyou are doing mapping, you are

doing processing. What do you mean by
’processing'?"

Do you recall that, sir?
A. Yes.

Q. Going back to your question, the processing

that I was referring to would be processing that is

What do you mean by "processing"? performed on the second dataset to generate another

If you are doing mapping, you are doing list, such as, for example, with respect to Figure 7

processing. " that you have in front of you, the processing that

What do you mean by "processing"? I the connection calculator is taught to provide in
MS. GREWAL: We need to change the tape. so the specification ofthe '41 I with respect to

.I>inM:-
second dataset, and this is processing.

~\lmu~. lA:4M to.2mm...
to

I'm going to let -- generating the reduced topology that's stored in the

reduced topology database.

A. So what is the question?

Q. So my question was: You have not provided

an opinion in your declaration regarding processing

THE VIDEOGRAPHER: This marks the end of 1

Disc 3, Volume I, in the deposition of Dr. Tal
Lavian.

The time is 5:20, and we're offthe record.

-’C.)

Pu)rs.)Ix) Ln..
N)l\)E\)(‘QI\)K)9-‘ U:as(A)t>I

(Recess taken) or the generation of reduced list oftuples;
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correct?

MR. MACE: Object to form.

Tl-IE WITNESS: What specifically is the

question?
BY MS. GREWAL:

Q. Does Jones create a reduced list oftuples‘?

A. Absolutely.

MR. MACE: Object.
BY MS. GREWAL:

Q. Where does it create a reduced list of

tuples?

A. Any seconds that you send information --

both of the patents are doing exactly the same

idea —— in general, the exactly same idea. same
concept.

When you have devices on the network, they

generate -- they generate millions of datasets all

time, constantly. And definitely ifyou have

millions ofdatasets, you have to reduce the
information.

So always, when you are creating the tuple,

you are processing to create the datasets.

Q. Where in your declaration do you provide an

opinion regarding the generation ofa reduced list

oftuples?

Page 228

A. I'm not specific —- I'm not —— I don't

remember specifically where exactly in my

declaration, but I can say that that's the key point
of Jones, is to create information based on the -- a

lot of information that you're receiving from the

network and get the topology.

Topology is very limited. Or there is many

orders of magnitude smaller than the amount of

information network management is sending.

Q. So, Dr. Lavian, as we sit here today, you

cannot point to any paragraph in your declaration

that provides a teaching ofa reduced list of tuples

with respect to the Jones reference; is that
correct?

A. No, it's not correct.

Q. Can you --

A. For example --

Q. —— please point me to where you provide
that?

A. Yes. For example, if -- I referenced in

my -- in my declaration, I reference to column 1 --
to Jones column 1, line 42 until 50. And ifl
see -- I can start with two lines above.

"At its simplest, and where the device is a

‘managed’ device, this interrogation uses a

TSG Reporting — Worldwide
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MR. MACE: Object to form.
THE WITNESS: The Jones -- Jones

discussed -- described receiving the information and

creating the datasets that reflects the topology.

In order to reflect the topology, you are

getting millions ofdatasets. It's can be every

microsecond. And at some point, you don't need all
this information.

I gave the example a few times that ifyou

have one connection connected to this port and you

decide to take your computer and connect it to

another port in different room, you will get in
between millions of lines of connections.

For example, ifthe information is sent by

ping or by keep—alive -- usually keep—alive. it's

once every second. Say, "Hey, I'm here. Hey. I'm

here. Hey, I'm here." and that's all.

All ofthis information is not important.

All ofthis information is reduced to only changes.

So that's the key point of -- ofJones, to

manage network datasets to comparing by

interrogation ofthe network.

Q. Dr. Lavian. where in your declaration have

you provided a teaching ofa reduced list oftuples

with respect to Jones?
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known protocol, such as SNMP protocol, of

so—called 'agent' that -- for each device

and stored the device unique MAC address,

data returning of the type of the device
and the MAC address ofthe devices which

are connected to the ports directly,

indirectly."

This is a lot ofinformation, huge amount
ofinformation, constant flood ofinformation that

can be millions ofpieces ofinformation throughout

the day. And some of them are every microsecond,

every second.

And topology is only a fraction of it about

the data. So even ifnothing changed, this section

talks about constant sending SNMP request that

gather information. And definitely this section
talk about reduce the information.

Q. Okay. In column 1, lines 42 of 50, in

Jones, can you point to -- point to me to where the
word "reduced" is used?

A. No need to get the reduced. It's very

clear that SNMP get a lot ofinformation from every

device. and not all ofthis information is, in the

end ofthe day, in the topology itself, in the

topology map.
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The topology map is just the status, the

physical or logical representation of the network.

But in order to get it, you are getting constant

information from all devices. So definitely this is
reduced.

Q. Dr. Lavian, do you have the Tonelli

reference that's marked Exhibit 1004 with you?
A. Yes, I have it.

Q. This exhibit is also ServiceNow's -— I'm

losing track ofthese, sorry. This Exhibit l004 is
also ServiceNow's Exhibit 1004 in the IPR

proceeding.

Do you recognize this document?
A. Yes.

Q. You will understand me when I refer to this

patent as the Tonelli patent; correct?
A. Yes.

Q. Can you please turn to your declaration at

Page 231

"Tonelli describes a process in which the

previous audit data" --

A. Where exactly you are reading?

Okay. The two lines at the top —— no. the

bottom. Okay.

Q. Right. So:

"Tonelli describes a process in which the

previous audit data (the 'list of existing

tuples‘) is compared with the new audit

data (the 'new tuples list’) to identify

changes."
Correct‘?

A. Yes.

Q. You are, therefore, mapping the previous
audit data in Tonelli to the claimed list of

existing tuples; is that correct?
A. Yes.

Q. You're also mapping the new audit data in

paragraph 97, please? Tonelli to the claimed new tuples list; correct?
A. Yes. A. Yes.

Q. In paragraph 97, you start discussing the " Q. Can you kindly turn to paragraph 86 ofyour
final limitation of Claim l that you label ld; ; " declaration?
correct? ‘ ‘ A. Yes.

A. Yes. i ” 1 Q. The first sentence ofparagraph 86 ofyour

Q. Paragraph 97 states: / declaration states:

ix)ix)xx)i\\>r (J1innoR)5*C)to<1)
Page 232 Page 233

limitation; correct?

A. That's my mapping, yes.

Q. Does Tonelli create a reduced list of

tuples?

A. Absolutely.

Q. Is that reduced list oftuples that Tonelli

creates compared to a list of existing tuples?
A. l --

MR. MACE: Object to form.

Q. You are, therefore, saying that the new THE WITNESS: I -- I give the map —— I give
audit data in Tonelli is both the claimed new the definition of"tuples." And basically you get a

list -- : l 7 lot ofinformation -— huge amount of information,
A. You're reading —— I'm not sure where and you compare between the two datasets of

exactly you are reading. information in previous time. That's all. Simple

You're reading somewhere? as is.

Q. It's my question. BY MS. GREWAL:

A. Okay. Q. Do you document a reduced list of tuples

Q. I'mjust -— you may want to have Claim 1, that Tonelli describes in your declaration,

again, open, if that helps you, of the '4ll patent. Dr. Lavian?

And keeping in mind what wejust read in A. The patent —- the whole purpose ofgetting

paragraphs 86 ofyour declaration. the information —- and the patent is talking -- this

You are, therefore, saying that the new is very long patent. I don't know how many pages it
audit data in Tonelli is both the new list ofa has, but the main idea ofthe Tonelli patent is to

plurality of tuples in the second limitation and the find the topology of the network based on the

claimed new tuples list in the third and fourth information received from the network.

"The new list ofa plurality oftuples at a
current time in Tonelli is audit data

produced as a result ofa later audit of
the network."

Correct?

A. Yes.

Q. In Tonelli, the result ofa later audit of
the network is the new audit data; correct?

A. Yes.
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You get -- as I mentioned before, _vou can

receive information every microsecond or every

millisecond something -— I mean every second. And

ifyou are doing with routing, it might be even --

it depends on the protocol -- minute. And ifyou

will go with RIP, it might be few minutes.

(Reporter clarification)

THE WITNESS: RIP, R-I-P, protocol.

It depends on the routing protocol. It

depends on the switching protocol. It depend on

many different things but you will get a lot of

information, and basically millions ofpieces of
information.

Topology does not need all ofthese

millions ofinformation. And the whole purpose of

building a topology is to take the information from

many different devices in many different forms and

reduce it to the topology itself.

The size -- I'm not sure if you can compare

the size, but it's millions of pieces of

Page 235

BY MS. GREWAL:

Q. Doctor --

A. So it's absolutely reducing.

Q. Dr. Lavian, have you provided an opinion

regarding the processing of the new audit data in

Tonelli in your declaration?

MR. MACE: Object to form.
THE WITNESS: I'm not sure what is the --

what is the question?
BY MS. GREWAL:

Q. Can you point me to any place in your

declaration where you document the new audit data of

Tonelli being processed‘?

MR. MACE: Object to form.

THE WITNESS: Yes. for example. I refer --

I mentioned in my declaration specifically reference

of -— to the summary in column 2. between line 24 to
line 30.

BY MS. GREWAL:

Q. Can you please let me know which paragraph

in your declaration you're referring to‘?

A. I can go back. Basically, I know. because

3'3 ifl mark it in my -- it's -- I can go and see where

is the summary. I can go and check. I don't know

4- exactly. I just marked wherever I -- it's somewhere

information. It can be, for example, every

microsecond ofmilliseconds, and comparing to table

that can say, "Oh, it's connected from Point A to
Point B." That's all.

//
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View. Microsoft SMS. and IBM SNA. and other probes.

This generates tons of information.

constant flux of information, constant; every

microsecond._ every millisecond. might be every

second, and some ofthem every second or minutes.

But this information, it's getting to --

get the topology to discover the topology.

In order to discover the topology --

topology is very simple information. Port A is

connected to port B. That's all. Topology is

something very simple. A is connected to B over

this link. But you have flux ofinformation by the

auditing software. For example here. four separate

protocols or tools that basically -- SNMP, IPX, HP

Open View, SMS, and SNA -- to get flux of

information that, in the end of the day. will say,

"Your computer is connected to this switch on port
number 5."

Q. Dr. Lavian --

A. So this is reduced -- substantially reduced
millions oftime reduced.

Q. Dr. Lavian, at best, this discusses the

‘3 reduction so you generate your new audit data; is
that correct?

A. I'm not sure I understand the question.

2
I

in my declaration. I referred to this paragraph. l
Q. So you're looking at Tonelli? §

A. I am looking at Tonelli. and I can see that l
I marked for myself -- that I marked, in my
declaration. between line 24 to line 30.

Q. Sorry, of which column?

A. Column second -- column 2. the summary. E
Q. So column 2. lines 24 to 30, of Tonelli »

states:

"In one aspect, the invention provides a J
softly implemented method for auditing a i

network by using more than one soft probes 3

I

l

I
II

lI

li
lI
I

.l.\

xl(.Y\U1

4‘0kt)<1)
to discover topology. host and interface
information on devices in the network. The

auditing includes gathering the data with

soft probes that include a Simple Network

Management Protocol probe and a Novell IPX

probe."

How does this document the processing of

the new audit data to generate a reduced list‘?

A. It's clearly said. In one aspect of the

invention provide the software implementation method

of auditing network by using more than one soft

probe to discover the topology. And it gives

several example of probes, like SNMP, IPX, HP Open

Iml\)Mla)1-’ dxI)(x)Ir.)LO
1

l\74'\ U1
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Q. Strike that. " A. It looks like a document -- a part ofthe

I'm going to -~ going back to my prior - file history of the patent.

question, you have not provided an opinion regarding Q. In this October 2004 amendment, the
the processing of the second dataset, which in -’ applicant amended Claim 1; correct?
Tonelli is your new data —- new audit data in your 3 A. Yes.
declaration; is that correct? "'7 Q. You're referring to page 2, Dr. Lavian?

A. I clearly say that auditing the network by " A. Yes.

using more than one soft probe to discover topology. Q. In Claim 1, the first limitation refers to
And this is the process, discover the V creating a plurality of tuples; correct?

topology. You reduce the amount of information by A. Yes.

millions oftimes. Not by hundreds. not by Q. In Claim 1, the second limitation recites

thousands. by millions oftimes you reduced. receiving new tuples that represent new nodal

Q. What process -- I'm going to strike that connections; correct?

question. A. Yes.

Dr. Lavian. I'm going to ask the court ; 3-" Q. The second limitation is a distinct step

reporter to hand you Exhibit 2001. which we ; " from the first limitation; correct?
previously marked. I I’ ' A. I didn't opine ofthis.

(Deposition Exhibit 2001 was marked for 2 " MR. MACE: Object.
identification) Tl-IE WITNESS: It looks like this. yes. I'm

BY MS. GREWAL: _ ., not sure. I didn't opine to -— on this.

Q. So Exhibit 2001 is an amendment and request E BY MS. GREWAL:

for reconsideration from the tile history of the 2 Q. You do agree that the second limitation is
'41 1 patent. a separate step from the first limitation; correct?

Do you recognize the Exhibit 2001, A. It is a separate step, yes.

Dr. Lavian? Q. The second limitation provides the

i. C)
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antecedent basis for the new tuple of the third ‘ A. Let me look at the patent. I want to see.
limitation; correct? I Yes.

A. What specifically you mean by this? l Q. So the third limitation in the claim as it
Q. Referring to the last -- the third . '- appears in Exhibit 2001 refers to the new tuples

limitation of Claim 1, do you see the term "the new from the second limitation; correct?

tuples"? A. I -— I'm not sure. 1 have here only one

A. Yes. ; ’ page from one of his action in front of me and not

Q. So my question is, the second limitation, « the entire file history.

which is the receiving limitation above this -- the In order to opine on it. I will need time

second limitation provides the antecedent basis for to review the entire file history and not to look on

the new tuple of the third limitation; correct? one page and see one claim amendment. I need to

A. I didn't analyze this. And it looks like analyze. I need time to see the differences between

this way, but I didn't opine on this. I didn't the claims and the final claims as allowed.

analyze this. It looks like that this is the case. I -- I didn't analyze it. I need the time

. Okay. Did you review the tile history —— to analyze the specific question that you ask.

. Yes. It looks like the current -- it looks like

. -- for the '41 1? additional state, at least one, with additional

. Yes. Office Action, because it's not the same. I can see

. And we are discussing the amendments that the language. The end of the question, in the file
were made to Claim 1, which is the claim —- at least and the current that you just gave me, it's not the

one ofthe two claims that you have opined on in same.

your declaration; correct? Q. I understand that, Dr. Lavian. I'm only
A. Yes. asking my questions based on this Office Action. We

Q. Okay. So the third limitation in the claim will go to the next one as well.

as it appears -— I'm asking you to refer to the amendment of

:1)
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Claim 1 on page 2 of Exhibit 2001 and nothing more.

I can give you the whole file history, but

I am asking my particular questions with respect to

the amendment that was filed during the prosecution

ofthe application that was issued as the '41 I
patent.

Referring back tojust Exhibit 2001, so the

third limitation in the claim as it appears in
Exhibit 2001 --

A. Exhibit 2001 is the ‘-411 patent?

Q. No, sorry. It is the amendment --

A. Oh, the amendment, okay.

Q. Correct.
So the third limitation in the claim, as it

appears in Exhibit 2001, refers to the new tuples
from the second limitation; correct?

A. I need to analyze. because I -- I can see

that this claim amendment you —— they -— the

applicant submit a new information, and I cannot --

I didn't opine on it, and I cannot do analysis on

the fly. It will not be professional to do it on

the spot. I need the time to do this analysis.

Q. Had you not reviewed the file history, sir?

A. I reviewed the file history. but the file

history -- it's more than this. I need to see what
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1,000 or 2,000, but it's a big pile of pages that

youjust handed to me.

Q. I'm not asking you to review it.

You have studied the file history

previously, right?
I am merely talking about -- how many

amendments were there to the tile history in the

file history to Claim 1?
A. I don't remember.

Q. Right. We're focusing -- there were only

two, and we're looki_ng at those papers from there.
I'm not asking you to analyze. I'm asking

.I\.

inJo\(.71
r:2KC)
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before, what after. I didn't opine on this specific
one.

Q. We are going to go through the next

amendment as well. I can give you the file history.

but I'm going to ask you to concentrate on my

questions with respect to this amendment.

MS. GREWAL: Would you kindly mark that
2003.

(Deposition Exhibit 2003 was marked for
identification)

BY MS. GREWAL:

Q. Since you asked for the full file history,

Dr. Lavian, the full file history has been marked

Exhibit 2003. However. I am referring to Exhibit

2001 , which is a part of the larger file history_.
Exhibit 2003.

A. I have in front of me a big pile ofthe

file history that I don't know if it's a 1,000 pages

or 2,000 pages. I'm not sure ifl can opine. It

wouldn't be reasonable for me to opine anything on

the fly. I need to really spend the time and to see

what is in. why is it changed.

It's long history of many documentation. I

cannot make this type ofa decisions on the fly. I

cannot review now 2,000 pages. I'm not sure if it's

Page 245

do it on the fly.
BY MS. GREWAL:

Q. You do not have an opinion about the file

history in your declaration; is that correct,
Dr. Lavian‘?

A. In my declaration, I didn't opine on the

file history.

Q. And why is that?

A. Because I had enough information that I

needed in the information thatl needed. I opined

on what I think is important.

Q. You did not think that the file history wasA)in1»
you to review the claims with me. ~ important?

A. And what you would like me to do? A. File history is important, but that's not

Q. I'm just asking my questions. I'm what my case. My -- what I wanted to show, prior

asking -— art and review each and every limitation. And I

A. I will answer any questions you will answer have done this.

(sic). Q. Would you agree with me that the file

Q. Back to the pending question, which was: history can inform you as to what the -- what

The plurality of tuples from the first limitation of Claim I teaches‘?
Exhibit 2001 are different from the new tuples of A. Absolutely.
the second limitation; correct? Q. But you chose not to look at the file

A. I don't know. history or opine as to the prosecution of Claim 1 --

MR. MACE: Object to form. the amendments of Claim 1 that resulted in the

THE WITNESS: I need to analyze. I cannot issued Claim 1 that you were mapping to Jones and

.1». H as
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Tonelli?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand

your question.

I reviewed it, and I think it's important,

but it was not important for me to -- in my

analysis.
BY MS. GREWAL:

Q. Since we've marked 2003, the court reporter

will hand you Exhibit 2002, which is the second
amendment to Claim 1.

(Deposition Exhibit 2002 was marked for
identification)

BY MS. GREWAL:

Q. In particular, Exhibit 2002 is the April

2005 amendment and response filed with the Patent

Office during the prosecution ofthe application

that issued as the '41 I patent.

Do you recognize this April 2005 amendment

and response of Exhibit 2002, Dr. Lavian?
A. Yes.

Q. In this April 2005 amendment, the applicant
further amended Claim 1; correct?

A. Yes.

Q. The applicant added a new first limitation
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in the October 2004 amendment we were reviewing,

which was Exhibit 200]; correct?

MR. MACE: Object to form.
THE WITNESS: I'm not sure I understand

your question.
BY MS. GREWAL:

Q. What becomes the second limitation of Claim
I in this amendment of Exhibit 2002 had been the

first limitation in the prior exhibit that we were

reviewing, the October 2004 Exhibit 2001 ?

MR. MACE: Object to form.
THE WITNESS: Some form of revision ofit.

BY MS. GREWAL:

Q. Correct.

And the second limitation of the April 2005
version of Claim 1, which is in Exhibit 2002, is

amended to change "a plurality oftuples" to "a new

list of a plurality of tuples," correct, along with

other changes?
A. Yes.

Q. The changes to the second limitation

differentiate the list oftuples in the second

limitation from the list of existing tuples from the
first limitation; correct?

A. I'm not sure I understand your question. I
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before what was the tirst limitation; correct?

MR. MACE: Object to form.

TI-IE WITNESS: Can you please repeat?
BY MS. GREWAL:

Q. Sure.

The applicant added a new lirst limitation
before what was the first limitation; correct?

MR. MACE: Object to ‘form.
TI--IE WITNESS: I'm not sure I understand

your question, but if I —- I believe that I can

interpret your question that basically adding the

creating list of existing tuple from the existing

topology presenting nodal connection in network or

a -- network at the prior time, that's the new claim
element. It now is the first element.

BY MS. GREWAL:

Q. That is correct, which was added by this
amendment; correct?

A. Yes.

Q. And this new first limitation refers to a

list of existing tuples; correct?

A. It states, "Creating a list of existing

tuples."

Q. Okay. And what becomes the second
limitation of Claim 1 had been the first limitation

I
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didn't opine on this. and I don’t have an opinion on
this.

I cannot answer without seeing the Office

Action that the examiner say -- sent before. I

don’t know what -- ifthey discuss it before. I

don't know if they had an interview between them

before, between the examiner and the applicant. I

don't have any information.

I cannot answer, and I don't have any

opinion without really reviewing the material. It

would be unprofessional for me to opine on this now.

What] can see isjust to see if it's —— I

can see the language change. Yes, I can see the

language change. That's all I can see. Nothing
more than this.

Q. Dr. Lavian, do you know ifthere was a

interview with the examiner when you reviewed the

file history?
A. I -- I don't remember.

Q. Ifyou compare -- we are lookingjust at
the amendments to Claim I.

There were two amendments. I provided the

two amendments and the entire file history. I'm

merely asking you to look at these two amendments

and answer these questions.
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A. I don't have an opinion. I didn't opine.

and I don't know. top of my head -- this was almost

one year ago. And I didn't provide any opinion

regarding the file history. and I didn't provide --

I don't have in front of me any information about

previous -- the actual Office Action and what was

said in the Office Action. And I don't know any

information currently when I am sitting.

Ifl will have the time and I will analyze

it. I will be able to provide an opinion.

Currently. that's not the question that I was asked

in my declaration.

In my declaration, I was asked to opine

regarding Claim 1 and claim 3, and map them —- and »

opine about prior art related to them.

Q. And to better understand Claim 1 and Claim

3. you did not think it important to review the tile

history that provides some understanding of what
Claim 1 teaches?

MR. MACE: Object to form.
THE WITNESS: I reviewed -- I reviewed the

tile history.
BY MS. GREWAL:

Q. So did you or did you not analyze the tile

history?

.r~.
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Q. Okay. For approximately how long, ifyou

have to aggregate over the several meetings?

A. The meetings with Andrew Mace was several

meetings, each one ofthem for a few hours.

Q. So about 10 hours or thereabouts?

A. Approximately.

Q. Okay. Did you have any telephonic
discussions --

A. Yes.

Q. -- with Mr. Mace as well?
A. Yes.

Q. And about how long were those telephonic

discussions with Mr. Mace to prepare for your
declaration -- for your deposition?

A. I don't remember. We —- in the last few

weeks, I reviewed the material back and forth.

Actually. it's more than the last few

weeks. As soon as I got the information a few

months ago, Ijust reviewed the material.

Q. Have you ever designed a network topology.
Dr. Lavian?

A. Absolutely.

Q. And you have used a system to identify and

update a topology in your work experience?

A. Absolutely.
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A. I reviewed the file history. I analyzed

the file history. It was about a year ago -- almost

a year ago. I didn't opine on it.

Q. Okay. So, Dr. Lavian, what did you do

today to prepare —- sorry.

What did you do to prepare for today's

deposition?
A. I reviewed the material.

Q. And what material?

A. I have reviewed my declaration. I reviewed

the patents. I -- I worked with the attorney. I
discussed the material.

Basically, I did a preparation for a

deposition.

Q. And in your preparation for today's

deposition, you did not review the file history?

A. For today's deposition, I didn't. I did it
a year ago.

Q. So you mentioned you worked with the
attorney.

Is -— is the attorney Mr. Mace?

A. Andrew Mace, yes.

Q. Okay. And how long did you -- when you

said "work," is that an in—person meeting with --

A. We had several in-person meetings, yes.

Page 253

Q. Dr. Lavian, can you turn to your

declaration, Exhibit 1002, in particular to page 59.

A. Which paragraph?

Q. Page 59, under "Accomplishments."

MR. MACE: Page 59.
BY MS. GREWAL:

Q. Not paragraph, sorry, page 59.

A. Page 59. Yes.

Q. Your CV indicates that you have prosecuted
over 50 patent applications pro se in front of the
USPTO; correct?

A. Yes.

Q. So you're familiar with responding to
Office Actions; correct?

A. Yes.

Q. Have you ever responded to a rejection in
an Office Action?

A. Yes.

Q. Have you responded to a rejection by making
amendments in an Office Action?

A. Yes.

Q. And you consider the file history an

important part of understanding the claims ofa

patent?

A. Absolutely.
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Q. Yet you did not opine about the prosecution

ofClaim l in its file history; is that correct‘?

MR. MACE: Object to form.

THE WITNESS: I didn't think it's important
in this case to what I needed to do.

There is 2000 pages. I didn't opine on

many different things. There are many different
information.

I think it's —- file history is very

important. I reviewed it carefully. And I wrote my
declaration.

I didn't think. and I still don't think.

that I -- I don't have an opinion specifically to

the file history that related to what I wanted to do

in my -- in my declaration.
BY MS. GREWAL:

Q. So you could understand Claim I and Claim 3

without analyzing the amendments to Claim --
A. That's not what I said.

Q. -- I?

Do you think the review ofthe amendments

in a file history are important to understanding the

claim ofthe claim language?

A. Absolutely. Absolutely.

Q. And you did not provide the analysis in
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Q. But you did not provide any opinion as to

your understanding of the claims with respect to a

review of the file history: is that correct?
A. Ididn't --

MR. MACE: Object.

THE WITNESS: -- opine on the file history

specific.

I didn't opine on many different things as
well.

MS. GREWAL: Okay. I have no further

questions. Dr. Lavian. Thank you for your time.
THE WITNESS: Thank you very much.

MR. MACE: I have no questions.
THE VIDEOGRAPHER: This marks the end of 1

Disc 4. Volume I._ and ends today's deposition of
Dr. Tal Lavian.

The time is 6:22. We're off the record.
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your declaration‘?

A. I analyzed it. I reviewed it. I have

limitation of what I can do in my declaration.

I can -- ifl would like to put all the

information. it can be a thousand pages of
declaration.

I didn't think it is relevant to what I

wanted to show. Ifl —~ ifl -— ifl would think

that it is important, I would put it. I didn't

think it's important.

It is very important to analyze the claim

history. Claim language is very important. File

history is very important.

I chose not to put it in my declaration

because it's not important to what I have done.

Q. And why is it --

(Pause in the proceedings.)
BY MS. GREWAL:

Q. And why is it important to analyze the file

history?

A. File history is very important to

understand the claim language, the claim limitation,

the scope of the patent. File history in general is

a very important tool. To understand the claims,

you have to see —- to look at a file history.
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DECLARATION UNDER PENALTY OF PERJURY

I. TAL LAVIAN. Ph.D.. do hereby certify under

penalty of perjury that I have read the foregoing
transcript of my deposition taken on November 16.

2015; that I have made such corrections as appear
noted herein in ink, initialed by me: that my
testimony as contained herein. as corrected. is true
and correct.

DATED this day of
2015, at , California.

TAL LAVIAN, Ph.D.

,,.
(Time noted: 6:22 pm.)
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STATE OF CALIFORNIA ) IN D E X
:35

COUNTY OF SAN MATEO ) ‘ ‘ MONDAY, NOVEMBER I6, 2015

I, CYNTHIA MANNING, a Certified Shorthand 3 : DEPOSITION OF TAL I_,A\/IAN, Ph,D_

Reporter of the State of California, do hereby I ‘
certify: I ’ EXAMINATION PAGE

That the foregoing proceedings were taken '7 BY MS, GREWAL 5
before me at the time and place herein set forth; " AFTERNOON SESSION 108

that any witnesses in the foregoing proceedings, I
prior to testifying, were placed under oath; that a

verbatim record of the proceedings was made by me

using machine shorthand which was thereafter
transcribed under my direction: further; that the

foregoing is an accurate transcription thereof.
1 further certify that I am neither

financially interested in the action, nor a relative

or employee of any attorney of any of the parties.

IN WITNESS WHEREOF, I have subscribed my

name this l6th day ofNovember 2015.

CYNTHIA MANNING, CSR No. 7645.‘ CCRR, CLR :
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